SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimu M.)/Area	m Dimens of the sit M.). *		arrange	e to be d by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC SC CC 1 SC CC-2 SC PH ST ST CC-1 ST CC-2 ST CC-2 ST PH OBC OBC CC 1 OBC CC 2 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requireme nt for operation of RO	Estimated fund required for developm ent of infrastruct ure at RO	Draw of Lots / Bidding		
1	WITHIN 4 KM FROM DB CITY MAIN GATE ON ANY FOUR LANE ROAD	GWALIOR	REGULAR	150	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
2	AT OR NEAR BINEKA VILLAGE BETWEEN KM MILE STONE 253 TO 255 ON NH-12	RAISEN	REGULAR	200	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
3	FROM 1100 QUARTERS UPTO AKRITI ECO CITY (E8 EXTENSION) VIA AURA MALL	BHOPAL	REGULAR	150	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
4	WITH IN 4 KM FROM BPC PETROL PUMP IN MAKSI, ON NH- 52	SHAJAPUR	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
5	BORDEHI ON MALEGAON- BORDEHI MAIN ROAD	BETUL	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
6	TUMDA (NEAR PHANDA) UPTO 2 KM TOWARDS SEHORE ROAD JUNCTION	BHOPAL	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
7	AT OR NEAR BAGDONA-WITHIN 1 KM EITHER SIDE FROM BANK OF MAHARASHTRA (BAGDONA BRACH) ON BARETHA-SAMI MAIN ROAD	BETUL	REGULAR	100	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
8	FROM BETUL OVER BRIDGE END UPTO 3 KM TOWARDS BHOPAL ON EXISTING NH 69	BETUL	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
9	NAZIRABAD ON SH-26	BETUL	REGULAR	120	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
10	AT OR NEAR PANJARA VILLAGE WITHIN 3 KMS FROM PANJARA BUS STOP TOWARDS UDAIPURA ON NH-12	RAISEN	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
11	ON BERASIA ROAD, UPTO 6 KM FROM NEW BY PASS CROSSING TOWARDS BERAISA	BHOPAL	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
12	VILLAGE ANTRALIYA WITHIN PANCHAYAT LIMITS	UJJAIN	RURAL	80	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
13	VILLAGE OJHAR	BARWANI	RURAL	70	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
14	VILLAGE THIKRI ON BARWANI ROAD	BARWANI	RURAL	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
15	VILLAGE KISHANGARH ON MAJOR DISTRICT ROAD / OTHER DISTRICT ROAD	DEWAS	RURAL	90	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
16	RANGWASA, AT RAU RANGWASA ROAD	INDORE	RURAL	90	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
17	VILLAGE SONVOY, NOT ON NATIONAL HIGHWAY	INDORE	RURAL	90	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
18	KHAKROD TO KUDANA, ON MANGLIYA SANWER ROAD	INDORE	RURAL	100	ST CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2

19	VILLAGE KHALWA TOWARDS MALHARGARH PHATA	KHANDWA	RURAL	70	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
20	BOREGAON KHURD ON KHANDWA-PANDHANA ROAD	KHANDWA	RURAL	70	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
21	VILLAGE DONGARGAON	KHARGONE	RURAL	70	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
22	AMBODIYA, ON UJJAIN AMBODIYA ROAD, 1 KM FROM AMBODIYA FILTER PLANT GATE TOWARDS UJJAIN LHS	UJJAIN	RURAL	70	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
23	FROM JUNCTION OF NH-3 ON MANPUR LEBAD ROAD (SH) UPTO 5 KM ON LHS WHILE GOING TOWARDS LEBAD	INDORE	REGULAR	200	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
24	KHANDWA CITY, WITHIN MUNICIPAL LIMIT	KHANDWA	REGULAR	180	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
25	THANDLA BYPASS (SH-18)	JHABUA	REGULAR	100	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
26	WITHIN 3KM FROM UMRALI POLICE CHAUKI ON SONDHWA ROAD (SH-26)	ALIRAJPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
27	BETWEEN KM STONE INDORE 110 AND INDORE 112 ON NH-59A	DEWAS	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
28	WITHIN 3 KM OF LOHAR PIPLYA T-JUNCTION ON DEWAS BY-PASS ROAD (NH-3), LEFT HAND SIDE WHILE TRAVELLING FROM INDORE TO BHOPAL	DEWAS	REGULAR	170	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
29	BETWEEN KM STONE 110 AND 114 ON SH-18 (BHOPAL- DEWAS 4-LANE) LEFT HAND SIDE WHILE TRAVELLING FROM INDORE TO BHOPAL	DEWAS	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
30	FROM MANAWAR SQUARE TOWARDS MANGOD WITHIN A STRECH OF 3 KM	DHAR	REGULAR	120	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
31	PATNIPURA, INDORE, WITHIN 1 KM RADIUS	INDORE	REGULAR	200	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
32	FROM SURYA HOTEL TIRAHA TO GITA BHAWAN CHAURAHA ON LHS WHILE GOING TO GITA BHAWAN SQUARE, INDORE	INDORE	REGULAR	200	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
33	INDORE CITY ROAD (SUKHNIWAS ROAD/LAL BAUG ROAD) BETWEEN PHOOTI KOTHI AND KATJU COLONY	INDORE	REGULAR	200	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
34	INDORE CITY, WITHIN 3 KMS OF CRYSTAL IT PARK JUNCTION	INDORE	REGULAR	250	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
35	SH-26, VILLAGE KAJALPURA	KHARGONE	REGULAR	120	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
36	SH-1, VILLAGE PIPALJHOPA	KHARGONE	REGULAR	120	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
37	BETWEEN KM STONE INDORE 94KM TO INDORE 91KM ON RHS WHILE MOVING TOWARDS INDORE ON NH-3 (AGRA- MUMBAI ROAD)	KHARGONE	REGULAR	200	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
38	RAMPURA, DIST NEEMUCH ON NEEMUCH GANDHISAGAR STATE HIGHWAY	NEEMUCH	REGULAR	120	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
39	AGAR ROAD IN UJJAIN CITY	UJJAIN	REGULAR	200	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
40	SH-17, BETWEEN NAGDA 9 KM STONE TO 7 KM STONE, RHS WHILE GOING FROM UNHEL TO NAGDA ON NAGDA- UJJAIN ROAD	UJJAIN	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
41	UPTO 10 KM EITHER SIDE FROM TOLL PLAZA JAITPUR ON NH 547	CHHINDWA RA	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3

42	UPTO 10 KM EITHER SIDE FORM JAI BAJRANG TEMPLE ON NH -347	CHHINDWA RA	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
43	UPTO 10 KM EITHER SIDE FROM RAILWAY STATION CHOURAI VILLAGE CHOURAI	CHHINDWA RA	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
44	VILLAGE GOHCHAR ,TEHSIL GOTEGAON	NARSINGH	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
45	UPTO 5 KM FROM LAKHNADON CIRCLE ON EITHER OF FOUR INTERSECTING ROADS	SEONI	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
46	VILLGAE JEORA (KHINHA), TEHSIL NIWAS	MANDLA	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
47	VILLGAE BABALIA TEHSIL NIWAS	MANDLA	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
48	VILLAGE CHIRAIDONGRI, TEHSIL NARAYANGANJ, NOT ON NH	MANDLA	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
49	VILLAGE NIWAS , TESHIL NIWAS	MANDLA	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
50	ON BEOHARI SIDHI STATE HIGHWAY (SH 55), UPTO 2 KM FROM TALA HIGHER SECONDARY SCHOOL TOWARDS SIDHI , VILLAGE TALA,POST TALA,TEHSIL MAJHOULI,DIST SIDHI	SIDHI	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
51	VILL LAXMANPUR TEHSIL HUZUR DIST REWA ON REWA SIRMOUR NH 135B	REWA	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
52	VILLAGE MAHURACH, NH-39(OLD NH 75)	SATNA	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
53	MAIHAR SATNA STATE HIGHWAY FROM UNCHEHARA RAILWAY CROSSING UPTO 5 KM TOWARDS MAIHAR	SATNA	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
54	VILLAGE BITALIPURWA , TEHSIL LUVKUSHNAGAR ON MAHOBA ROAD	CHHATARP UR	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
55	WITHIN 2KM FROM SARVODAYA CHOURAHA , BINA ON EITHER SAGAR ROAD OR AGASOD ROAD	SAGAR	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
56	VILLAGE SORAI ON NH 934	SAGAR	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
57	FROM 1 KM TO 6 KM TOWARDS BINA FROM INTERSECTION OF KHURAI NEW BYPASS WITH NH 934 (BINA SIDE)	SAGAR	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
58	UPTO 2KM EITHER TOWARDS LAVKUSH NAGAR OR TOWARDS SARWAI FROM GAURIHAR BUS STAND	CHHATARP UR	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
59	VILLAGE UBRA, TEHSIL VIJRAGHAVGARH ON SH 11	KATNI	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
60	VILLAGE PASGARI, TEHSIL BEOHARI ON SH 55	SHAHDOL	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
61	VIILLAGE DHURWAR, TEHSIL SOHAGPUR ON NH 43	SHAHDOL	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
62	WITHIN MUNCIPAL LIMIT , UMARIA	UMARIA	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
63	UPTO 1 KM FROM MILESTONE NO 38, SH-8 EITHER SIDE	ANUPPUR	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
64	ON LHS TOWARDS SULTANGANJ ON BEGUMGANJ- SULTANGANJ ROAD BETWEEN KM STONE 2 TO KM STONE 3	RAISEN	RURAL	50	OPEN	CC	30	30	900	12	5	BIDDING	10	4
65	EITHER SIDE WITHIN 2.5 KMS FROM NATERAN TIRAHA TOWARDS NATERAN TEHSIL	VIDISHA	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
66	CHAINPUR VILLAGE ON BARELI ROAD	RAISEN	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
67	WITHIN 2 KMS FROM BHOPAL SAGAR ROAD ON SHYAMNAGAR-BEGUMGANJ-MAHUAKHEDA ROAD ON RHS	RAISEN	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
68	ON LHS WITHIN 1 KM FROM KANKAR VILLAGE TOWARDS MALHARGARH	VIDISHA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4

69	SIRONJ NEW BYPASS UPTO 5 KM FROM LATERI SIDE ON RHS	VIDISHA	RURAL	50	OBC	СС	30	30	900	12	5	BIDDING	10	3
70	ON RHS WITHIN 1.5 KM FROM SAGAR HIGHWAY JOD ON BEGUMGANJ SULTANGANJ ROAD TOWARDS SULATNGANJ	RAISEN	RURAL	50	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
71	PRATAPGARH VILLAGE ON CHANDAN PIPARIYA PRATAPGARH ROAD	RAISEN	RURAL	50	OPEN	СС	30	30	900	12	5	BIDDING	10	4
72	JAITHARI VILLAGE ON CHANDAN PIPARIYA PRATAPGARH ROAD	RAISEN	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
73	WITHIN 3 KMS FROM SIRALI TIRAHA TOWARDS CHARWA	HARDA	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
74	WITHIN 1 KM FROM BHAL BAMORA SQUARE TOWARDS KALHAR ROAD	VIDISHA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
75	VILLAGE AMBADA	BETUL	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
76	AT OR NEAR UDAIPUR UPTO 1.5 KM EITHER SIDE TOWARDS BASODA AND BHAL BAMORA CHAURAHA	VIDISHA	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
77	BERKHEDI VILLAGE ON SEHORE MAIN ROAD	SEHORE	RURAL	50	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
78	WITHIN 2 KM FROM BHAL BAMORI SHALA TOWARDS SIRONJ ROAD	VIDISHA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
79	AT HANSUA WITHIN 2 KMS FROM VIDISHA AHMEDPUR ROAD ON DEVRAJPUR POHRA ROAD ON LHS TOWARDS POHRA	VIDISHA	RURAL	50	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
80	ON GULABGANJ ROAD BETWEEN STONE NUMBER 13 TO STONE NUMBER 14 ON RHS TOWARDS BASODA	VIDISHA	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
81	ON RHS WITHIN 1 KM FROM ESSAR PUMP ON GUROD BASODA ROAD TOWARDS BASODA	VIDISHA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
82	WITHIN 1 KM ON RHS ON VIDISHA GARHI ROAD FROM AHMEDPUR 1 KM STONE TOWARDS GARHI	VIDISHA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
83	WITHIN 1.5 KM FROM NH46 ON SHAHPUR- GHODADONGARI ROAD ON RHS TOWARDS GHODADONGARI- VILLAGE PALASPANI	BETUL	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
84	WITHIN 3 KM FROM BPCL PETROL PUMP AMBANAGAR TOWARDS SIRONJ	VIDISHA	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
85	WITHIN 1 KM FROM JUNCTION OF LASHKARPUR ROAD AND DATURIYA BYPASS ROAD NEAR SPRING FIELD WORLD SCHOOL ON RHS TOWARDS DHATURIYA	VIDISHA	RURAL	50	OPEN	CC	30	30	900	12	5	BIDDING	10	4
86	VILLAGE BHADKUL ON REHTI KOLAR ROAD	SEHORE	RURAL	50	OPEN CC 2	DC	30	30	900	12	30	DRAW OF LOTS	5	4
87	VILLAGE- BABEDI ON GOPALPURA ROAD	BHIND	RURAL	50	OBC CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	3
88	VILLAGE-GHAT BIROLI	BETUL	RURAL	50	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
89	WITHIN 1 KM FROM NEW BASODA MANDI ON BARETH ROAD	VIDISHA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
90	VILLAGE HARDUKHEDI ON TYONDA BYSPASS ROAD ON LHS TOWARDS TYONDA	VIDISHA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
91	UTILA WITHIN 2 KM FROM POLICE STATION TOWARDS GWALIOR	GWALIOR	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
92	SALAIYA WITHIN 1 KM FROM ELECTRIC SUBSTATION ON SHAMSHABAD ROAD	VIDISHA	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
93	WITHIN 4 KM FROM NEW VIDISHA SAGAR BYPASS ON AHMEDPUR ROAD (NOT IN WML)	VIDISHA	RURAL	50	OPEN	CC	30	30	900	12	5	BIDDING	10	4

94	BHAL BAMORA CHAURAHA UPTO 1 KM EITHER SIDE TOWARDS UDAIPUR	VIDISHA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
95	WITH IN 0.5 KM FROM KALIKA MATA MANDIR TOWARDS VILLAGE -BHARROLI	GWALIOR	RURAL	50	OBC	CC	30	30	900	12	5	BIDDING	10	3
96	UPTO 2 KM FROM AMBANAGAR CHAURAHA TOWARDS BASODA	VIDISHA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
97	CHODOLI, WITHIN 2 KM FROM BUS STOP TOWARDS SIRONJ	VIDISHA	RURAL	50	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
98	WITH IN 1 KM FROM DAK BUNGLOW TIRAHA IN GOHAD ON GOHAD CHAURAHA MAU ROAD	BHIND	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
99	WITHIN 0.5 KM FROM PARSEN TIRAHA ON MALANPUR ROAD	GWALIOR	RURAL	50	OBC	СС	30	30	900	12	5	BIDDING	10	3
100	CHARNAL VILLAGE ON KURAWAR MAIN ROAD	SEHORE	RURAL	50	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
101	VILLAGE- GUNDHARA, ON MALANPUR BEHAT ROAD	GWALIOR	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
102	FROM CHIPPAWAD- SH JUNCTION TO KHIRKIYA RAILWAY FATAK ON MANDI ROAD	HARDA	RURAL	50	OBC	СС	30	30	900	12	5	BIDDING	10	3
103	VILLAGE-SHEKHUPUR, ON CHHIMAK CHINORE ROAD	GWALIOR	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
104	WITH IN 1 KM FROM HIGHWAY UNDER BRIDGE ON DABRA PICHHORE ROAD IN DABRA	GWALIOR	RURAL	50	OPEN	СС	30	30	900	12	5	BIDDING	10	4
105	VILLAGE MORGADI	HARDA	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
106	VILLAGE BANAPURA ON BABARIGHAT ROAD UPTO 5 KM	HOSHANGA BAD	RURAL	50	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
107	VILLAGE-GADHOTA, IN BETWEEN MILESTONE" NARWAR 23" AND "NARWAR 24" KM MILESTONE ON BHITERWAR NARWAR ROAD	GWALIOR	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
108	VILLAGE- SAKHINI, NEAR KARIYAWATI	GWALIOR	RURAL	50	OPEN	CC	30	30	900	12	5	BIDDING	10	4
109	VILLAGE NAKWADA	HARDA	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
110	VILLAGE- THETHIYAPURA, ON CHHIMAK MAKODA ROAD	GWALIOR	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
111	VILLAGE-RAJPURA, TOWARDS ETAWAH	BHIND	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
112	VILLAGE- ALAMPUR, TEHSIL-NAHAR, DISTRICT-BHIND	BHIND	RURAL	50	OPEN	CC	30	30	900	12	5	BIDDING	10	4
113	WITHIN 3 KM FROM BORDEHI RAILWAY FATAK TOWARDS KHEDLIBAZAR	BETUL	RURAL	50	OBC PH	DC	30	30	900	12	30	DRAW OF LOTS	5	3
114	WITHIN 2 KMS FROM ESSAR PETROLPUMP TOWARDS DABRA, (VILLAGE CHAPRA-PICCHORE)	GWALIOR	RURAL	50	ST PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
115	VILLAGE KOLUWA DHOMNOD	VIDISHA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
116	WITH IN 1.5 KM FROM DABRA PICHHORE TIRAHA TOWARDS PICHHORE ON LHS	GWALIOR	RURAL	50	OPEN	СС	30	30	900	12	5	BIDDING	10	4
117	VILLAGE CHHIPANER	HARDA	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
118	WITHIN 2 KM FROM RAMBHA TOWARDS BHIMPUR ON BHAISDEHI-BHIMPUR ROAD	BETUL	RURAL	50	OPEN	СС	30	30	900	12	5	BIDDING	10	4
119	WITHIN 3 KM FROM BPCL PUMP ON SHEOPUR -KHATOLI ROAD ,VILLAGE JAIDA ,TEHSIL SHEOPUR	SHEOPUR	RURAL	50	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
120	FROM SP OFFICE TOWARDS AMLA,ON AMLA ROAD UPTO 6 KM (OUTSIDE WML)	BETUL	RURAL	50	OPEN	CC	30	30	900	12	5	BIDDING	10	4
121	VILLAGE TAJPURA	HARDA	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
122	FROM MULTAI RAILWAY FATAK TOWARDS KHEDLIBAZAR UPTO 5 KM	BETUL	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
123	VILLAGE- SUMAOLI , ON SUMAOLI JOURA ROAD	MORENA	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
124	VILLAGE CHATARKHEDA, NEAR SEONI MALWA	HOSHANGA BAD	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3

125	WITHIN 2 KM FROM BADORA POLICE CHAUKI ON ATHNER ROAD	BETUL	RURAL	50	OPEN	CC	30	30	900	12	5	BIDDING	10	4
126	VILLAGE ANTRI	GWALIOR	RURAL	50	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
127	VILLAGE THUAA, TEHSIL SEONI MALWA	HOSHANGA BAD	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
128	VILLAGE-KANAVAR,ON UMRI ROAD	BHIND	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
129	WITHIN 2 KM FROM KHIRKIYA RAILWAY FATAK, NOT TOWARDS CHHIPAWAD	HARDA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
130	WITHIN 5 KM FROM SD JAIN INDIAN OIL PUMP ON BAGRA TAWA ROAD (NOT ON SH-22)	HOSHANGA BAD	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
131	DOLARIYA ON ITARSI ROAD UPTO 2KM	HOSHANGA BAD	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
132	VILLAGE MAYAPUR ON RANNAUD PICCHORE ROAD	SHIVPURI	RURAL	50	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
133	VILLAGE-SONASAWARI	HOSHANGA BAD	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
134	VILLAGE KAAN POHRA DISTRICT RAISEN	RAISEN	RURAL	50	OPEN	CC	30	30	900	12	5	BIDDING	10	4
135	FROM NH 46 AND 11 MILE BYPASS CROSSING UPTO BANGRASIA	BHOPAL	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
136	VILLAGE-MODHANA, ON MODHANA GORMI ROAD	BHIND	RURAL	50	OBC CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	3
137	AMROL, WITHIN 2 KMS FROM GOVT SCHOOL TOWARDS GWALIOR	GWALIOR	RURAL	50	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
138	UPTO 4 KM FROM BERASIA CHAURAHA TOWARDS KARARIA	BHOPAL	RURAL	50	OPEN PH	DC	30	30	900	12	30	DRAW OF LOTS	5	4
139	VILLAGE- CHOPNA ON CHOPNA-BADALPUR ROAD ,TEHSIL SHAHPUR	BETUL	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
140	VILLAGE REHATWAS	ASHOKNAG AR	RURAL	50	OPEN	СС	30	30	900	12	5	BIDDING	10	4
141	RAMPUR, WITHIN 5 KM FROM BPCL PETROL PUMP	MORENA	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
142	WITH IN 3 KM FROM GUNA MANDI ENTRANCE GATE ,ON GUNA -UMRI ROAD,VILLAGE :PIPRODAKHURD ,TEHSIL :GUNA	GUNA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
143	VILLAGE RAHTA KHURD ON HARDA PAGDAL ROAD	HOSHANGA BAD	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
144	VILLAGE -PANWADIHAT ,TEHSIL :AARON , ON PANWADI - AARON ROAD	GUNA	RURAL	50	OPEN	СС	30	30	900	12	5	BIDDING	10	4
145	WITHIN 02 K.M FROM SATI CHOURAHA ON GHERATI ROAD ,PIPRAI	ASHOKNAG AR	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
146	BAHADURPUR, ON MUNGAOLI ROAD	ASHOKNAG AR	RURAL	50	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
147	SEONI MALWA ON SHIVPUR ROAD UPTO 2 KM	HOSHANGA BAD	RURAL	50	OBC	CC	30	30	900	12	5	BIDDING	10	3
148	VILLAGE : KHERAGHAT, TEHSIL KARERA ,WITHIN 06 K.M FROM IOCL PUMP ON KARERA BHITERWAR ROAD	SHIVPURI	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
149	VILLAGE-JANJARIPURA, ON GORMI ROAD	BHIND	RURAL	50	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
150	VILLAGE BERUL BAZAR	BETUL	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
151	VILLAGE KANSKHEDI	HOSHANGA BAD	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
152	VILLAGE BAJITPUR	ASHOKNAG AR	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4

153	VILLAGE MOHARI, TEHSIL ASHOKNAGAR ,WITHIN 5 KM FROM IOC NATIONAL PETROL PUMP	ASHOKNAG AR	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
154	VILLAGE GURRARI	HOSHANGA BAD	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
155	VILLAGE-BARHAPUR	BETUL	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
156	WITHIN 3 KM FROM KHAMLA CHOWK, TOWARDS BHAISDEHI ROAD	BETUL	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
157	WITH IN 2KM FROM DHAKONI TIRAHA TOWARDS ASHOKNAGAR ON ASHOKNAGAR CHANDERI ROAD	ASHOKNAG AR	RURAL	50	OPEN	СС	30	30	900	12	5	BIDDING	10	4
158	VILLAGE PIPALKHEDI ,TEHSIL RAGHOGARGH ,ON RHS TOWARDS JANJALI ON JAMNER -JANJALI ROAD	GUNA	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
159	VILLAGE TATARPUR TEHSIL BHANDER	GUNA	RURAL	50	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
160	VILLAGE BIJEYPUR	SHEOPUR	RURAL	50	OPEN	CC	30	30	900	12	5	BIDDING	10	4
161	VILLAGE BUDHIYA	SHIVPURI	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
162	VILLAGE KATAPUR, TEHSIL INDERGARGH ON INDERGARGH -KAMOD ROAD	DATIA	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
163	BETWEEN KHAMRIYA-BAMHANWADA ON UMARDHA ROAD	HOSHANGA BAD	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
164	VILLAGE KARERA, TEHSIL KARERA ON KAROTHA - MUNGAOLI BYE PASS ROAD	SHIVPURI	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
165	WITH IN 0.5 K.M FROM BHARATMAT ENGLISH MEDIUM SCHOOL NEAR ISHAGARH ON KADWAYA ISHARGARGH ROAD ON LHS TOWARDS ISHAGARH ,VILLAGE GOHRA ,TEHSIL ISHAGARH	ASHOKNAG AR	RURAL	50	OBC	CC	30	30	900	12	5	BIDDING	10	3
166	VILLAGE KARERA , TEHSIL KARERA , WITH IN 05 K.M FROM GOVT DEGREE COLLEGE ON KARERA -TILA ROAD (NOT ON NH)		RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
167	VILLAGE SAHODARI ON ASHOKNAGAR CHANDERI ROAD	ASHOKNAG AR	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
168	PATTAKHEDA, FROM SARNI NAGARPALIKA UPTO 2KM ON AMLA ROAD	BETUL	RURAL	50	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
169	VILLAGE MUHARI ,TEHSIL KHANIYADHAN ON KHANIYADHAN -MUHARI ROAD	SHIVPURI	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
170	WITH IN 5 KM FROM KRISHI UPAJ MANDI IN KARERA, MAIN ROAD CONNECTING TO NH BUT NOT ON NH	SHIVPURI	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
171	SIDDIKGANJ VILLAGE ON KACHROD ROAD	SEHORE	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
172	CHAUTALA ON DHARMKUNDI-ITARSI ROAD	HOSHANGA BAD	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
173	WITHIN 1 KM FROM POLICE STATION AT MEHATWARA VILLAGE	SEHORE	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
174	WITHIN 1 KM FROM SEHORE MANDI GATE TO JAMONIA ON SEHORE JAMONIA ROAD	SEHORE	RURAL	50	OPEN	СС	30	30	900	12	5	BIDDING	10	4
175	VILLAGE-DHANELA, ON ROAD CONNECTING TO NH-44	MORENA	RURAL	50	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
176	VILLAGE SUAKHEDI DISTRICT VIDISHA	VIDISHA	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
177	WITHIN 1KM FROM IOC PETROL PUMP SANDAWATA ON SARANGPUR SANDAWATA ROAD	RAJGARH	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
178	WITHIN 3 KM FROM IOC PETROL PUMP AT PADLYA MATA ON SARANGPUR SANDAWATA ROAD	RAJGARH	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
179	PADANA VILLAGE ON SARANGPUR ROAD	RAJGARH	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4

180	WITHIN 1 KM FROM AKODIA RAILWAY GATE ON AKODIA SUNDERSI ROAD	SHAJAPUR	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
181	JOKHAR VILLAGE ON MAKSI ROAD	SHAJAPUR	RURAL	50	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
182	BALODI VILLAGE ON SANDAWATA ROAD	RAJGARH	RURAL	50	OPEN	CC	30	30	900	12	5	BIDDING	10	4
183	NANDANI VILLAGE ON KALAPIPAL ROAD	SHAJAPUR	RURAL	50	OPEN	CC	30	30	900	12	5	BIDDING	10	4
184	VILLAGE PADLI ON SHAJAPUR ROAD	SHAJAPUR	RURAL	50	OBC	CC	30	30	900	12	5	BIDDING	10	3
185	WITHIN 3 KM FROM BUS STAND AT AWANTIPUR BADODIA VILLAGE ON ARANDIYA ROAD	SHAJAPUR	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
186	VILLAGE-SYODA ON UMRI ROAD	BHIND	RURAL	50	ST CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
187	VILLAGE DIGHONI (NOT ON SH-19)	VIDISHA	RURAL	50	OPEN CC 2	CC	30	30	900	12	5	BIDDING	10	4
188	VILLAGE DUMDUM	HOSHANGA BAD	RURAL	50	OBC CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	3
189	WITHIN 2 KM FROM BUS STAND AT POLAYKALAN VILLAGE ON ARANDIYA ROAD	SHAJAPUR	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
190	AARON, WITHIN 5 KMSFROM AARON FORT TOWARDS NH 46	GWALIOR	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
191	VILLAGE- BAGWAI, WITH IN 500 MTS FROM BAGWAI TIRAHA TOWARDS CHHIMAK	GWALIOR	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
192	VILLAGE BOLAI ON SHAJAPUR ROAD	SHAJAPUR	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
193	BETWEEN NALKHEDA VILLAGE TO GUDRAWAN VILLAGE	AGAR MALWA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
194	WITH IN 2 KM FROM SHYAMPUR PANCHAYAT BHAWAN, ON BHITERWAR KARHAIYA ROAD	GWALIOR	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
195	WITHIN 1 KM FROM CHATUKHEDA JOD TOWARDS GURADIYA ON RAJGARH KHUJNER ROAD	RAJGARH	RURAL	50	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
196	VILLAGE- KHERWAYA, KALYANI-CHHIMAK ROAD	GWALIOR	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
197	VILLAGE- CHHIMAK, CHHIMAK DABRA ROAD	GWALIOR	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
198	VILLAGE- MEHGAON, TOWARDS UTILA, TEHSIL-DABRA	GWALIOR	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
199	WITHIN 1 KM FROM BPC KHUJNER ON RAJGARH KHUJNER ROAD	RAJGARH	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
200	VILLAGE- PADAVALI, PADAVALI MORENA ROAD	MORENA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
201	JAMBADA, TEHSIL AMLA	BETUL	RURAL	50	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
202	VILLAGE -AMAYAN ON MAIN ROAD	BHIND	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
203	VILLAGE MANGLAJ ON SARANGPUR ROAD	RAJGARH	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
204	VILLAGE- BADOKHAR, ON BADOKHAR SIKARPUR ROAD	MORENA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
205	VILLAGE- RACHHED, DISTRICT-MORENA	MORENA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
206	RAUN, WITHIN 4 KM FROM RAUN POLICE THANA TOWARDS UMRI	BHIND	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
207	VILLAGE SAMUHA ,TEHSIL KARERA	SHIVPURI	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
208	EITHER SIDE WITHIN 1 KM FROM BODA JOD ON KURAWAR TALEN ROAD	SHAJAPUR	RURAL	50	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
209	ON BHOJPUR ROAD WITHIN 1 KM FROM VAISHNAVI INSTITUTE OF TECHNOLOGY AND SCIENCE MENDUA BHOPAL	BHOPAL	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
210	VILLAGE- BILAW ON ROAD CONNECTING TO BHIND- BHANDER ROAD	BHIND	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
211	AT VILLAGE DOLATPURA ON BHOJAPURA -AHMADPUR ROAD	BHOPAL	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4

212	WITHIN 2 KM FROM MP TOURISM RESORT AT TIGRAH DAM	GWALIOR	RURAL	50	SC PH	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
213	VILLAGE-MANPURA, ON GWALIOR BEHAT ROAD	GWALIOR	RURAL	50	OBC PH	DC	30	30	900	12	30	DRAW OF LOTS	5	3
214	ON RHS WITHIN 1.5 KM FROM MANDI BAMORA RAILWAY CROSSING TO GODAVAL ROAD TOWARDS BASODA	VIDISHA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
215	PADAR ON CHICHOLI ROAD	BETUL	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
216	BARANG WADI	BETUL	RURAL	50	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
217	VILLAGE KHANDARA ON AMLA BETUL ROAD	BETUL	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
218	VILLAGE-JANGIPUR , ON PICHHORE ROAD	GWALIOR	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
219	VILLAGE NAYAGAON ON NAYAGAON SAGRA ROAD	BHIND	RURAL	50	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
220	VILLAGE MACHHAD	BHIND	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
221	VILLAGE HARPALPUR	HOSHANGA BAD	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
222	VILLAGE JAMANI ON DHARMKUNDI-ITARSI ROAD	HOSHANGA BAD	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
223	FROM TEHSIL CHOURAHA TO BUS STAND IN KHILCHIPUR VILLAGE	RAJGARH	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
224	WITHIN 1 KM FROM SANSKAR PUBLIC ACADEMY SCHOOL ON AKODIA BOLAI ROAD	SHAJAPUR	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
225	WITHIN 6 K.M FROM PREMSAR CHOURAHA ON SHEOPUR - KHATOLI ROAD ,VILLAGE PREMSAUR ,TEHSIL SHEOPUR	SHEOPUR	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
226	WITHIN 2 KM FROM AMBAI JUNCTION ON GOHARGANJ BHOJPUR ROAD	RAISEN	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
227	VILLAGE KANORA TEHSIL OBEDULLAGANJ	RAISEN	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
228	VILLLAGE BANDARSENA ON SHAMSHBAD LATERI ROAD WITHIN 4 KMS FROM LATERI	VIDISHA	RURAL	50	OBC	CC	30	30	900	12	5	BIDDING	10	3
229	WITH IN 2 KMS FROM DABRA PICHHORE TIRAHA TOWARDS PICHHORE ON RHS	GWALIOR	RURAL	50	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
230	VILLAGE GOPI TALAI ,TEHSIL LATERI	VIDISHA	RURAL	50	OPEN	CC	30	30	900	12	5	BIDDING	10	4
231	VILLAGE BASBAHUA NEAR BHANDER ,ON BHANDER - DATIA ROAD	DATIA	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
232	VILLAGE BISHNWADA	GUNA	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
233	VILLAGE MUHAL COLONI	GUNA	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
234	AT VILLAGE SHAHBAD TILENDI ,ON BHOPAL CHIKLOD ROAD	RAISEN	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
235	VILLAGE MUDIA KHEDA, TEHSIL BERASIA	BHOPAL	RURAL	50	OBC	CC	30	30	900	12	5	BIDDING	10	3
236	VILLAGE CHHIPON	ASHOKNAG AR	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
237	VILLAGE KALOTHRA ,TEHSIL KARERA ,WITHIN 1 KM FROM ITBP CAMPUS	SHIVPURI	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
238	VILLAGE SANAI ,TEHSIL KHUMBRAJ	GUNA	RURAL	50	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
239	VILLAGE BILKHEDA	GUNA	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
240	WITHIN 1.5 K.M FROM RPM GO CARTING ON BHOPAL - SEHORE MAIN ROAD	BHOPAL	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
241	VILLAGE BHORI, TEHSIL CHICHOLI	BETUL	RURAL	50	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
242	VILLAGE KASHIPUR	SHEOPUR	RURAL	50	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
243	AT VILLAGE CHAUNDI ,ON PHANDA -JHARKHEDA ROAD	BHOPAL	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
244	VILLAGE MUNDRA DHARMU, TEHSIL SIRONJ	VIDISHA	RURAL	50	OPEN	CC	30	30	900	12	5	BIDDING	10	4

245	VILLAGE SIRSI	GUNA	RURAL	50	OPEN CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
246	WITHIN 3 KM FROM NAZIRABAD POLICE STATION ON	BHOPAL	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
	NAZIRABAD BERASIA ROAD	_											-	_
247	VILLAGE DHAMNOD TOWARDS SEMALDA UPTO 4 KM	DHAR DHAR	RURAL RURAL	70 70	Open	DC DC	30 30	30	900 900	12 12	30 30	DRAW OF LOTS	5 5	4
248 249	VILLAGE GANPUR ON MDR/ODR	BARWANI	RURAL	80	Open OBC	DC	30	30 30	900	12	30	DRAW OF LOTS	5	4
249	BARWANI BYPASS ROAD (OML) VILLAGE CHHAKTALA	ALIRAJPUR	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS DRAW OF LOTS	0	2
250	VILLAGE KESOOR ON MDR/ODR	DHAR	RURAL	70	-	DC	30	30	900	12	30	DRAW OF LOTS	5	4
251	VILLAGE DHARAWARA, TEHSIL DEPALPUR	INDORE	RURAL	80	Open Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
252	VILLAGE DITAKAWAKA, TETSIE DEFALFOK	UJJAIN	RURAL	80	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	3
253	VILLAGE KACHNARIYA, NOT ON SH	UJJAIN	RURAL	70	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
254	VILLAGE ATAWADA, TEHSIL HATOD	INDORE	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
200	VIELAGE ATAWADA, TENSIE HATOD	INDOKL	KUKAL	70	Open	DC	- 30	30	900	12	- 30	DRAW OF LOTS	5	4
256	VILLAGE PADLYA ON PADLYA-GANDHVA ROAD	KHANDWA	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
257	FROM PARWALIYA VILLAGE TOWRADS KANKANWANI POLICE STATION UPTO 4 KM	JHABUA	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
258	VILLAGE KESAR BARDI, TEHSIL MHOW	INDORE	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
259	FROM WARLA TOWARDS SENDHWA UPTO 4 KM	BARWANI	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
260	VILLAGE KHEDITAPE GHATI	KHANDWA	RURAL	70	Open CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
261	VILLAGE MANDWADA ON ANJAD - DAWANA ROAD	BARWANI	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
262	SINGHOT - KHALWA ROAD, 2 KM ON EITHER SIDE OF SUTARKHEDI PHATA	KHANDWA	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
263	VILLAGE AGROD ON VIJAYGANJ MANDI-DEWAS ROAD	DEWAS	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
264	VILLAGE CHHANERA	KHANDWA	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
265	VILLAGE MEHATGAON ON SENDHWA -DHULKOT ROAD	BARWANI	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
266	KOLVA CHOUPATI, ON MUNDRI ROAD	MANDSAU R	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
267	WITHIN BAHI GRAM ON BAHI-BALAGUDA ROAD	MANDSAU R	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
268	VILLAGE GYANPURA	DHAR	RURAL	70	ST CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
269	VILLAGE PITGARA	DHAR	RURAL	70	OBC CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	3
270	VILLAGE TALIDANA	RATLAM	RURAL	80	Open	CC	30	30	900	12	5	BIDDING	10	4
271	VILLAGE MUNDLA	DHAR	RURAL	70	Open PH	DC	30	30	900	12	30	DRAW OF LOTS	5	4
272	VILLAGE JUNA KATTHIWADA	ALIRAJPUR	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
273	VILLAGE BAGLI, WITHIN 3 KM FROM PANCHAYAT BHAWAN TOWARDS CHAPDA	DEWAS	RURAL	80	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
274	MELKHEDA TO CHANDWASA, 4KM FROM MELKHEDA VILLAGE BARKHEDA NAYAK	MANDSAU R	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
275	HATPIPALYA-KHACHROD ROAD (TEHSIL ASHTA), NEAR TAPPA SUKALYA, BETWEEN KM STONE HATPIPALYA KM22 AND KM24	DEWAS	RURAL	70	OBC	CC	30	30	900	12	5	BIDDING	10	3
276	VILLAGE DHULKOT ON MDR/ODR	BURHANPU R	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
277	VILLAGE KHARWAKHEDI, TAL-MANDSAUR ROAD, RATLAM	RATLAM	RURAL	80	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
278	VILLAGE BHANPURA ON MDR/ODR	MANDSAU R	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4

279	VILLAGE SHIVPUR WITHIN PANCHYAT LIMIT	RATLAM	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
280	VILLAGE CHOBARADHIRA WITHIN 1.5KM FROM	DEWAS	RURAL	70	OBC	CC	30	30	900	12	5	BIDDING	10	3
200	CHOBARADHIRA 0 KM TOWARDS DEVELI	DLWAJ	NONAL	70	ODC	00	50	- 50	700	12	5	DIDDING	10	J
281	SIMROL - MHOW ROAD, WITHIN 6 KM FROM INDORE- KHANDWA ROAD AND SIMROL-MHOW ROAD JUNCTION	INDORE	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
282	VILLAGE DELCHI BUZURG ON MDR/ODR	UJJAIN	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
283	VILLAGE MEHDIKHEDI ON MDR/ODR	DHAR	RURAL	70	Open CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
284	VILLAGE PIPLIYA RAOJI ON MDR/ODR	NEEMUCH	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
285	VILLAGE KHAKNAR ON MDR/ODR	BURHANPU R	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
286	VILLAGE SAWARA KHEDI ON UJJAIN RING ROAD, LHS WHILE GOING FROM UJJAIN TO NAGDA	UJJAIN	RURAL	70	Open	СС	30	30	900	12	5	BIDDING	10	4
287	VILLAGE SADIPURA, TEHSIL HATPIPALYA	DEWAS	RURAL	75	OBC	CC	30	30	900	12	5	BIDDING	10	3
288	FROM VILLAGE GONSA TO VILLAGE WAJIRPUR	UJJAIN	RURAL	75	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
289	WITHIN NAGAR PANCHAYAT MANDLESHWAR	KHARGONE	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
290	VILLAGE PALIYA, TEHSIL SANWER ON MDR/ODR	INDORE	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
291	VILLAGE PIPALKOTA ON SATWAS - AJNAS ROAD	DEWAS	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
292	FROM VILLAGE PANWASA TO VILLAGE BEHLOLA ON KHACHROD-NAMLI ROAD	UJJAIN	RURAL	70	Open	СС	30	30	900	12	5	BIDDING	10	4
293	VILLAGE NEORI (NEVRI) ON MDR/ODR, TEHSIL HATPIPALYA	DEWAS	RURAL	70	Open	CC	30	30	900	12	5	BIDDING	10	4
294	VILLAGE TILLOR KHURD	INDORE	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
295	VILLAGE DILODRI NOT ON SH/NH	UJJAIN	RURAL	60	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
296	VILLAGE KHEDA KHAJURIYA ON MAHIDPUR - GHOSLA ROAD	UJJAIN	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
297	VILLAGE LAXMIPURA ON MAKSI-UJJAIN ROAD	UJJAIN	RURAL	80	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
298	VILLAGE TONK KHURD ON TONK KHURD - TONKKALAN ROAD	DEWAS	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
299	VILLAGE AVALDAMAN, UPTO 4 KM TOWARDS GANDHWANI, NOT ON SH	DHAR	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
300	VILLAGE LEKODIYA ANJANA ON UNHEL-KHARSOD KALAN ROAD	UJJAIN	RURAL	80	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
301	VILLAGE KHAWASA	JHABUA	RURAL	80	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
302	VILLAGE GHADODA, TEHSIL DEPALPUR	INDORE	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
303	VILLAGE KESOON	KHANDWA	RURAL	80	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
304	VILLAGE SHIWNI, TEHSIL INDORE ON MDR/ODR	INDORE	RURAL	70	Open	CC	30	30	900	12	5	BIDDING	10	4
305	VILLAGE KANHAKHEDI EKLASPUR ON ROAD CONNECTING KANHAKHEDI TO MAHIDPUR-ALOT ROAD	UJJAIN	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
306	VILLAGE HARIYAKHEDA, TEHSIL PIPLODA, RATLAM KM STONE 4KM- 5KM	RATLAM	RURAL	75	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
307	VILLAGE SINDODI, UPTO 3 KM TOWARDS KANWAN ON SINDODI - KANWAN ROAD	DHAR	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
308	VILLAGE SABAKHEDI	MANDSAU R	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
309	VILLAGE SARWAN	RATLAM	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
310	VILLAGE BAMANDA	KHARGONE	RURAL	70	Open CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4

311	VILLAGE ALWASA	INDORE	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
312	VILLAGE SANNOD, TEHSIL DEWAS	DEWAS	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
313	VILLAGE BHESLAY ON RAU - PITHAMPUR ROAD	INDORE	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
314	VILLAGE KHATWADI, TEHSIL DEPALPUR	INDORE	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
315	VILLAGE SHAMGARH	MANDSAU R	RURAL	80	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
316	GAROTH-KHADAWDA ROAD, VILLAGE BARKHEDA GANGASA,MANDSAUR	MANDSAU R	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
317	VILLAGE KHALWA, KHALWA-DEDHTALAI ROAD VIA SETHPURA	KHANDWA	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
318	VILLAGE KAPELI TEHSIL TARANA	UJJAIN	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
319	VILLAGE PANIGAON, TEHSIL KANNOD ON ODR/MDR	DEWAS	RURAL	70	Open CC 2	DC	30	30	900	12	30	DRAW OF LOTS	5	4
320	VILLAGE KANJHAR, ON BHIKANGAON ROAD	KHARGONE	RURAL	70	OBC CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	3
321	VILLAGE SAGDI	DHAR	RURAL	70	SC CC 1	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
322	GARNAI SQUARE TO SANJEET, MANDSAUR	MANDSAU R	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
323	SUWASARA, MANDSAUR	MANDSAU R	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
324	WITHIN 2 KM FROM CHANDAKHEDI PHANTA ON AKYA ROAD	MANDSAU R	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
325	VILLAGE BAKANER	DHAR	RURAL	80	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
326	VILLAGE DONGLA ON JAWASYAPANTH - BHERUGARH ROAD	NIALLU	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
327	VILLAGE PATWA-KHEDI	DEWAS	RURAL	80	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
328	VILLAGE LALAKHEDI ON TARANA-GHOSLA ROAD	UJJAIN	RURAL	80	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
329	VILLAGE PUTLA ON JHIRNYA -PANDHANA ROAD	KHARGONE	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
330	VILLAGE CHAKYA, TEHSIL TARANA	UJJAIN	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
331	VILLAGE MOHANA ON MUNDI-SANAWAD ROAD	KHANDWA	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
332	UPTO 3 KM FROM BPC OUTLET IN SINGHANA TOWARDS KUKSHI ON SINGHANA - KUKSHI ROAD	DHAR	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
333	VILLAGE FATEHPUR ON UJJAIN - CHANDRAVATIGANJ ROAD	UJJAIN	RURAL	70	Open CC 1	CC	30	30	900	12	5	BIDDING	10	4
334	VILLAGE KARANIYA	KHARGONE	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
335	VILLAGE BORKHEDA BHALLA, TEHSIL GHATIYA	UJJAIN	RURAL	80	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
336	VILLAGE TEMARNI, TEHSIL MANAWAR, ON TEMARNI - TONKI ROAD	DHAR	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
337	VILLAGE KELOD ON MDR/ODR	DEWAS	RURAL	70	Open	CC	30	30	900	12	5	BIDDING	10	4
338	VILLAGE SENDHWAL ON KHALWA - SETHPURA ROAD	KHANDWA	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
339	VILLAGE TILAWADI ,TEHSIL TARANA, ON TARANA - ROOPAKHEDI ROAD	UJJAIN	RURAL	70	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
340	VILLAGE BORUTH , SANAWAD - BHIKANGAON ROAD	KHARGONE	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
341	VILLAGE NALCHHA	DHAR	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
342	VILLAGE CHARIPURA	KHARGONE	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
343	VILLAGE CHANDAWAD	DHAR	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2

344	FROM VILLAGE SHIVGARH TO VILLAGE BAJNA	RATLAM	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
345	VILLAGE BHATUD ON BEDIA-KASRAWAD ROAD	KHARGONE	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
				-									-	
346		BARWANI	RURAL	70	OBC PH	DC DC	30	30	900	12	30	DRAW OF LOTS	5	3
347		NEEMUCH	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
348	BETWEEN VILLAGES SAHEJALA AND MANDLA, ON MUNDI - CHHANERA ROAD	KHANDWA	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
349	WITHIN 2 KM FROM MHOW CITY OUTSIDE MUNICIPAL LIMITS	INDORE	RURAL	70	Open CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
350	WITHIN 2 KM FROM IOC PETROL PUMP ON BAMNALA - SELDA ROAD TOWARDS BAMNALA	KHARGONE	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
351	VILLAGE PALKANA	KHANDWA	RURAL	70	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	2
352	VILLAGE RATLI ON JHIRANYA - PANDHANA ROAD	KHARGONE	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
353	VILLAGE PALKHANDA, TEHSIL UJJAIN	UJJAIN	RURAL	80	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
354	VILLAGE MAKLA, TEHSIL MAHIDPUR, ON JHARDA - INDOKH ROAD	UJJAIN	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
355		BURHANPU R	RURAL	70	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
356	VILLAGE RAMPIPALYA, TEHSIL SANWER	INDORE	RURAL	70	Open	CC	30	30	900	12	5	BIDDING	10	4
357	BARWANI OML, UPTO 2 KM FROM MAA NARMDA VIHAR COLONY BOUNDARY TOWARDS GANPUR	BARWANI	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
358	VILLAGE JAT	NEEMUCH	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
359	VILLAGE JOGWADA ON SENDHWA - PALSUD ROAD	BARWANI	RURAL	70	OBC CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	3
360	VILLAGE KADWALI WITHIN PANCHAYAT LIMIT	INDORE	RURAL	75	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
361	VILLAGE KATWARIYA, TEHSIL TARANA	UJJAIN	RURAL	70	Open PH	CC	30	30	900	12	5	BIDDING	10	4
362	VILLAGE NAINOD, TEHSIL INDORE	INDORE	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
363	VILLAGE KHACHARODA	DHAR	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
364	VILLAGE CHAINPUR	KHARGONE	RURAL	80	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
365	VILLAGE DHABLIKAMMA, TEHSIL MAHIDPUR	UJJAIN	RURAL	70	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
366	VILLAGE BALRIYA, TEHSIL SANWER	INDORE	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
367	VILLAGE GURADIYA SANGA	UJJAIN	RURAL	70	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
368	VILLAGE LABARIYA	DHAR	RURAL	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
369	VILLAGE SARWANIA	NEEMUCH	RURAL	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
370	VILLAGE BHAINSODA ON UJJAIN-MAKSI ROAD	UJJAIN	RURAL	70	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
371	VILLAGE LEKODA	UJJAIN	RURAL	80	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
372	VILLAGE DHANNAD, ON RAU-PITHAMPUR ROAD	INDORE	RURAL	70	OPEN	DC	30	30	900	12	30	DRAW OF LOTS	5	4
373	VILLAGE NAGNA, TEHSIL PANAGAR	JABALPUR	RURAL	50	ST PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
374	VILLAGE RAMPUR TEHSIL DAMUA ON ANY MAIN ROAD	CHHINDWA RA	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
375	VILLAGE SONKHAR , TEHSIL KEOLARI ON ANY MAIN ROAD	SEONI	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
376	VILLAGE SINGODI NOT ON NH ,ON ANY MAIN ROAD	CHHINDWA RA	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
377	FROM BAWANDAS TIRAHA TOWARDS TIKRI UPTO 2 KM ON SARAI TIKARI MAIN ROAD, TEHSIL SARAI	SINGRAULI	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
378	UPTO 2 KM FROM CHANDLA REST HOUSE,ON AJAYGARH ROAD	CHHATARP UR	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2

379	VILLAGE BAIJNATH TEHSIL HUZUR, ON BELA TO ULTRA TECH CEMENT PLANT ROAD	REWA	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
380	GRAM PANCHAYAT GURAIYA ,ON ANY MAIN ROAD	CHHINDWA RA	RURAL	50	OBC	CC	35	35	1225	12	5	BIDDING	10	3
381	VILLAGE KAYADI, TEHSIL WARASEONI	BALAGHAT	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
382	VILLAGE NARWARA,ON ANY MAIN ROAD	NARSINGH PUR	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
383	VILLAGE DEVAKACHAR, ON ANY MAIN ROAD	NARSINGH PUR	RURAL	50	OBC	CC	35	35	1225	12	5	BIDDING	10	3
384	VILLAGE KHAMARPANI ,ON ANY MAJOR ROAD	CHHINDWA RA	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
385	UPTO 3 KM FROM JUNCTION OF SILPARA BYPASS AND REWA GOVINDGARH ROAD, ON EITHER SIDE OF REWA GOVINDHGARH ROAD	REWA	RURAL	50	OPEN CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
386	VILLGAE GHONGAWALI TEHSIL KAREILI,ON ANY MAIN ROAD	NARSINGH PUR	RURAL	50	OBC	CC	35	35	1225	12	5	BIDDING	10	3
387	VILLAGE UBEGAON,ON ANY MAIN ROAD	CHHINDWA RA	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
388	VILLAGE MARHA ,TEHSIL HUZUR, ON REWA SEMERIYA ROAD TOWARDS SEMARIYA ON LEFT SIDE	REWA	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
389	SIHAWAL BLOCK OFFICE TO BAGDARA BICHI ROAD VILLAGE DAMGADI KOTHAR	SIDHI	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
390	VILLAGE GIJWAR , TEHSIL MAJHAULI ON KHAM GHATI TO TIKRI CHOWK MAIN ROAD	SIDHI	RURAL	50	OBC	СС	35	35	1225	12	5	BIDDING	10	3
391	VILLAGE DAHD, TEHSIL SIMERIYA , ON REWA SIMERIYA ROAD	REWA	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
392	FROM MADWAS TOWARDS MAJHAULI, KILOMETER STONE NO. 29 TO KILOMETER STONE NO. 31 , ON LEFT SIDE	SIDHI	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
393	VILLAGE ABER ,TEHSIL-KOTAR ON SATNA SIMERIYA ROAD BETWEEN KILOMETER STONE NO 24 TO 26 TOWARDS SEMARIYA, RIGHT SIDE	SATNA	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
394	VILLAGE TITIRA SHUKLAN , RAMPUR NAIKIN TO REWA , ON GADDI ROAD TEHSIL RAMPUR NAIKIN	SIDHI	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
395	TEMPLE JAMSAWALI TO RAJNA ROAD	CHHINDWA RA	RURAL	50	OBC CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
396	VILLAGE KUDAN, TEHSIL SHAHPURA	JABALPUR	RURAL	50	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
397	VILLAGE MEREGAON, TEHSIL SHAHPURA	JABALPUR	RURAL	50	OPEN PH	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
398	UPTO 3 KM TOWARDS BHAPEL FROM JAISINAGAR TIGADDA, IN JAISINAGAR	SAGAR	RURAL	50	OBC	CC	35	35	1225	12	5	BIDDING	10	3
399	UPTO 6 KM FROM SAMRAT PRITHVI RAJ SINGH CHOUHAN CHOWK TOWARDS PATPARA ON SIDHI MAUGANJ ROAD	SIDHI	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
400	VILLAGE GAJRA BAHRA ON TIKRI TO RAJMILAN MAIN ROAD	SINGRAULI	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
401	VILLAGE KHAPTIHA TEHSIL JAWA	REWA	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
402	GRAM KHAIRA, ON LAMTA BAIHAR ROAD	BALAGHAT	RURAL	50	OBC	CC	35	35	1225	12	5	BIDDING	10	3
403	UPTO 4 KM FROM SIRMOUR JAI STAMBH, TOWARDS CHACHAI ON SIRMOUR CHACHAI SIMERIYA ROAD ,TEHSIL SIRMOUR	REWA	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4

404	VILLAGE KUIYA , TEHSIL HUZUR ON REWA SIMERIYA ROAD	REWA	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
405	VILLAGE MENDKI, TEHSIL WARASEONI	BALAGHAT	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
406	VILLAGE BARELA	JABALPUR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
407	UPTO 3 KM FROM KUSMI CHOWK TOWARDS MAHKHOR ON MAHKHOR TIKRI SIDHI ROAD, TEHSIL KUSMI	SIDHI	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
408	UPTO 5 KM FROM JUNCTION OF OLD NH-7 & PATPARA ROAD, ON MAUGANJ - PATPARA MAIN ROAD	REWA	RURAL	50	OPEN CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
409	VILLAGE BHALYA TOLA , ON KHANUA CHOWK TO BHALYA TOLA MAIN ROAD, TEHSIL SARAI	SINGRAULI	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
410	VILLAGE SHIVPURI, TEHSIL PARASIA, ON ANY MAJOR ROAD	CHHINDWA RA	RURAL	50	OBC	СС	35	35	1225	12	5	BIDDING	10	3
411	VILLAGE SILWAR, TEHSIL MAJHAULI ON KHAM GHATI TO DADAR CGHANDA ROAD	SIDHI	RURAL	50	OPEN	СС	35	35	1225	12	5	BIDDING	10	4
412	VILLAGE BAISA, TEHSIL HUZUR, ON REWA KAHULIYA ROAD	REWA	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
413	VILLAGE SATNOOR, TEHSIL UMRETH ,ON ANY MAIN ROAD	CHHINDWA RA	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
414	VILLAGE DUWARI , TEHSIL NAGOD	SATNA	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
415	VILLAGE JAMU ,TEHSIL SIRMOUR, ON BAIKUNTHPUR KYOTI ROAD	REWA	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
416	VILLAGE KHATAUNI, ON KYOTI -KALWARI MAIN ROAD	REWA	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
417	GRAM PANCHAYAT SHIVPURI, ON ANY MAJOR ROAD	CHHINDWA RA	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
418	VILLAGE PADRAI ON BHAPEL JAISINAGAR ROAD	SAGAR	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
419	VILLAGE GORHAI , TEHSIL RAMNAGAR ON GOVINDGARH- RAMNAGAR ROAD (NOT ON NH)	SATNA	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
420	VILLAGE KUTHLIYA, ON KUTHLIYA VAISA ROAD, TEHSIL HUZUR	REWA	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
421	CHHINDWARA TO PLATWADA- SHIVPURI ROAD	CHHINDWA RA	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
422	VILLAGE PARASI ,TEHSIL MANGAWAN, BLOCK GANGEV	REWA	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
423	VILLAGE BIRSINGHPUR, TEHSIL BIRSINGHPUR, ON BIRSINGHPUR -KOTAR MAIN ROAD	SATNA	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
424	VILLAGE JAITWARA, TEHSIL NAGOD	SATNA	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
425	VILLAGE- PHULARI, ON MAHARAJPUR LUVKUSHNAGAR ROAD, TEHSIL-MAHARAJPUR	CHHATARP UR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
426	UPTO 2 KM FROM MADIYADO BUS STAND, ON VINTI ROAD, TEHSIL- HATTA	DAMOH	RURAL	50	OPEN	СС	35	35	1225	12	5	BIDDING	10	4
427	VILLAGE SUNWANI KALA , ON SIMARIYA KISANGARH ROAD, TEHSIL AMANGANJ	PANNA	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
428	UPTO 10 KM FROM KGS CEMENT GATE ON MAIHAR BURHANPUR MAIN ROAD,ON EITHER SIDE	SATNA	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
429	VILLAGE-MAMON, TEHSIL-TIKAMGARH, ON ANY MAIN ROAD	TIKAMGAR H	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
430	VILLAGE BINWARA , ON NIWARI -SENDIRI ROAD, TEHSIL- NIWARI	NIWARI	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4

431	VILLAGE GAJRAHI ON BARGAWAN - SARAI ROAD	SINGRAULI	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
432	FROM PRISM MOR, TOWARDS PRISM JOHNSON CEMENT	SATNA	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
433	PLANT MAIN GATE, ON ANY MAJOR ROAD VILLAGE SIRONJA,TEHSIL-SAGAR,	SAGAR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
		CHHINDWA											-	
434	GRAM PANCHAYAT KAPURDHA, ON ANY MAIN ROAD	RA	RURAL	50	OPEN CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
435	VILLAGE TUSAKHAND, TEHSIL SINGRAULI , ON BIJPUR TO RELIANCE POWER PLANT ROAD	REWA	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
436	VILLAGE GODBAHRA, ON SARAI JHURAHI ROAD, TEHSIL SARAI	SINGRAULI	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
437	GRAM PANCHAYAT SURAJPUR , ON RAJNAGAR CHANDLA ROAD	CHHATARP UR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
438	UPTO 3 KM ON NIWARI ROAD, FROM INTERSECTION OF NIWARI ROAD AND SH 37	NIWARI	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
439	VILLAGE LAKHO, TEHSIL DINDORI ON SAMNAPUR ROAD	DINDORI	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
440	VILLAGE LINGA, ON BAIHAR LAMTA ROAD, TEHSIL PARASWADA	BALAGHAT	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
441	UPTO 4 KM TOWARDS JATARA FROM DHARJAI TIGAILA	TIKAMGAR H	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
442	VILLAGE PIPARIYA GHAT, TEHSIL-RAHATGARH	SAGAR	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
443	FROM 1 KM TO 4 KM, TOWARDS PALERA ,FROM DBL TIKAMGARH NOWGAON TOLL PLAZA	TIKAMGAR H	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
444	GRAM PANCHAYAT ,KATEHRA ON BACHON ROAD,TEHSIL LUVKUSHNAGAR	CHHATARP UR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
445	VILLAGE DHAWERA TEHSIL UMRETH ON ANY MAJOR ROAD	CHHINDWA RA	RURAL	50	ST CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
446	VILLAGE SARASDOLI, TEHSIL SHAHPURA	DINDORI	RURAL	50	OPEN CC 2	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
447	VILLAGE DARSHANI, TEHSIL MAJHOLI	JABALPUR	RURAL	50	OBC CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
448	VILLAGE- GOHAR ON KHURAI -MANDI BAMORA ROAD,TEHSIL BINA	SAGAR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
449	VILLAGE GHUGHARI, TEHSIL GHUGHARI	MANDLA	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
450	UPTO 3 KM FROM DUMRA TIGAILA ,ON KHAJURAHO ROAD	CHHATARP UR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
451	UPTO 2 KM ON EITHER SIDE OF PRATHMIK SWASTHA KENDRA, CHANDLA ON MAHARAJPUR SARWAI ROAD	CHHATARP UR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
452	FROM 2 KM TO 7 KM ,TOWARDS BANDRI SIDE ON BANDA- BANDRI ROAD FROM ITS INTERSECTION WITH NH 934	SAGAR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
453	VILLAGE HATHNA, TEHSIL PANAGAR	JABALPUR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
	VILLAGE LAMTI, TEHSIL JABALPUR	JABALPUR	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
	VILLAGE BHAINSA, TEHSIL- SAGAR	SAGAR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
456	VILLAGE DHARMASHREE, TEHSIL-SAGAR	SAGAR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
457	WITHIN 3 KM FROM DPS MAIN GATE, ON NEEMKHEDA ROAD ON EITHER SIDE	JABALPUR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
458	UPTO 2 KM FROM PODKI CHAURAHA TOWARDS INDRAGANDHI TRIBAL UNIVERSITY	ANUPPUR	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
459	UPTO 4 KM FROM NEW RTO OFFICE SAGAR,TOWARDS PATHARIYA JAT SIDE, ON TILI-PATHARIYA JAT ROAD	SAGAR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
460	VILLAGE JHIRMILA, TEHSIL KUNDAM	JABALPUR	RURAL	50	OPEN CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4

461	VILLAGE BENIKHEDA, TEHSIL PATAN	JABALPUR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
462	VILLAGE MAWAI ON JATARA-PALERA ROAD	TIKAMGAR H	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
463	WITHIN 3 KM FROM REHLI TIGADDA, TOWARDS REHLI, IN GARHAKOTA	SAGAR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
464	UPTO 3 KM FROM MARIYAM CHOWK IN SAGAR, EITHER TOWARDS BARARU OR UPTO BAHERIYA TIGEDDA	SAGAR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
465	GRAM PANCHAYAT TATAM, ON MAHARAJPUR SARWAI ROAD	CHHATARP UR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
466	VILLAGE PAHADI, TEHSIL- MURWARA, ON ANY MAIN ROAD	KATNI	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
467	VILLAGE BILPURA, TEHSIL PANAGAR	JABALPUR	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
468	UPTO 2 KM FROM ALLAHABAD BANK, GUNAUR BRANCH, EITHER TOWARDS SAKARIA OR TOWARDS AMANGANJ	PANNA	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
469	UPTO 2 KM FROM INTERSECTION WITH NH 934,ON KURWAI ROAD	SAGAR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
470	VILLAGE MAHEBA , AMANGANJ TEHSIL, ON ANY MAIN ROAD	PANNA	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
471	UPTO 3 KM FROM MAHAVIR VYAYAMSHALA (KEVTI WARD CHOWK,SEONI),TOWARDS BALAGHAT SIDE	SEONI	RURAL	50	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
472	VILLAGE MAJITHA, TEHSIL SHAHPURA	JABALPUR	RURAL	50	OBC PH	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
473	UPTO 1 KM ON EITHER SIDE FROM KRISHNA COLD STORAGE, ON CHACHAI -ANUPPUR ROAD	ANUPPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
474	VILLAGE MALGA ,ON PENDRA CHIRMIRI MARG,KOTMA TEHSIL	ANUPPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
475	VILLAGE KHAJRI, TEHSIL PANAGAR	JABALPUR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
476	VILLAGE JHIRIYA TOLA NOT ON NATIONAL HIGHWAY	ANUPPUR	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
477	VILLAGE PATI ,ON VILAYATKALAN KHAMTARA ROAD,TEHSIL BADWARA	KATNI	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
478	VILLAGE LORHA TEHSIL CHANDIA NOT ON NATIONAL HIGHWAY	UMARIA	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
479	VILLAGE BOLEGOAN, TEHSIL LANJI	BALAGHAT	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
480	VILLAGE TIKARIYA (NOT ON NH), TEHSIL NARAYANGANJ	MANDLA	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
481	VILLAGE JOHLI TEHSIL MURWARA	KATNI	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
482	VILLAGE JALLI TOLA, TEHSIL BURHAR	SHAHDOL	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
483	VILLAGE RIMJHA, TEHSIL PATAN	JABALPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
484	VILLAGE GAREHA, TEHSIL PATAN	JABALPUR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
485	VILLAGE DOBHI ON KESLI ROAD	SAGAR	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
486	GRAM PANCHAYAT BARANA ,ON JATARA PALERA ROAD	TIKAMGAR H	RURAL	50	OPEN CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
487	VILLAGE KHAJRUT , AMANGANJ TEHSIL, ON ANY MAIN ROAD	PANNA	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
488	VILLAGE HATTA, TEHSIL BALAGHAT	BALAGHAT	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
489	VILLAGE TINDANI, TEHSIL MANDLA	MANDLA	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
490	VILLAGE PINDRAI, ON RANI DURGAVATI SAMADHI ROAD	JABALPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
491	VILLAGE SIMRA KHURD ON JATARA PALERA ROAD	TIKAMGAR H	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3

492	VILLAGE PAHADIKHEDA, TEHSIL JABALPUR	JABALPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
-	VILLAGE PAHADIKIILDA, TEHSIE JADALPOK VILLAGE RAJEGAON, NOT ON STATE HIGHWAY	BALAGHAT	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
	VILLAGE KEDARPUR TEHSIL GHANSOR	SEONI	RURAL	50	ST CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
494	UPTO 3 KM FROM DEVGAON CHOURAHA, ON	CHHATARP	KUKAL	50	31001	UL2		30	1220	0	0	DRAW OF LOTS	0	2
495	KISHANGARH ROAD	UR	RURAL	50	OBC CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
496	VILLAGE TUIA PANI, ON PINDRAI- MANDLA ROAD	MANDLA	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
470	VILLAGE SIDDHI KHURD , ON RELIANCE POWER PLANT -	IVIANDLA	KUKAL	50	OFLIN	UU	- 35	- 35	1225	12	5	DIDDING	10	4
497	MAKROHAR ROAD	SINGRAULI	RURAL	50	OPEN PH	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
498	VILLAGE HARRA TOLA, TEHSIL PUSHPARAJGARH	ANUPPUR	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
										-			-	
499	RAMNAGAR TO PADMI, ON RAMNAGAR MANDLA ROAD	MANDLA	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
500	VILLAGE MALAJKHAND, TEHSIL BAIHAR	BALAGHAT	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
-	VILLAGE DHANETA, TEHSIL PATAN	JABALPUR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
-	VILLAGE KHAMTARA , TEHSIL DHEEMERKHEDA, ON										-			
502	VILAYATKALAN KHAMTARA ROAD	KATNI	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
503	VILLAGE BELKHADU, NOT ON SH	JABALPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
	VILLAGE BIJAURI ON CHARGAWAN ROAD	JABALPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
FOF	UPTO 2 KM TOWARDS JABALPUR, FROM BARODA		DUDAL	50		DC	25	25	1005	10	20		-	
505	CHAURAHA	JABALPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
506	VILLAGE GHUTAS, TEHSIL BICHHIYA	MANDLA	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
507		BALAGHAT	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
507	VILLAGE PARSATOLA, ON PARSATOLA - MOHGAON ROAD	DALAGHAT	RURAL	50	30	CL2	30	30	1225	0	0	DRAW OF LOTS	0	Z
508	VILLAGE SHAHPUR, TEHSIL SAGAR	SAGAR	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
509	VILLAGE SADAFAL, TEHSIL KUNDAM	JABALPUR	RURAL	50	OPEN CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
510	VILLAGE PIPARIYA, ON NIWAS ROAD	MANDLA	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
511	VILLAGE NAWALPUR TEHSIL SOHAGPUR ON DHURWAR	SHAHDOL	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
511	BIRUHLI ROAD	SHAHDOL	KUKAL	50	31	013	30	30	1225	0	0	DRAW OF LOTS	0	2
512	VILLAGE SONTALAI, TEHSIL PATAN	JABALPUR	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
513	VILLAGE SATPARA ON BANDA-PATHARIA ROAD	DAMOH	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
514	VILLAGE SUNWANI, TEHSIL MAJHOLI	JABALPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
515	VILLAGE NIWAS, TEHSIL NIWAS	MANDLA	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
516	VILLAGE DUDHMANIA, ON SARAI VANJARI ROAD, TEHSIL SARAI	SINGRAULI	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
	UPTO 3 KM, FROM ITS INTERSECTION WITH NH 934, ON													
517	BANDRI ROAD	SAGAR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
518	VILLAGE MANERI (MEDHI) , TEHSIL NIWAS	MANDLA	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
519	VILLAGE AGRI ON KATANGI -BALAGHAT ROAD	BALAGHAT	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
			-										-	
520	VILLAGE DONGARIA , ON WARASEONI BALAGHAT ROAD	BALAGHAT	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
521	VILLAGE KARANJIA, TEHSIL BICHHIYA	MANDLA	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
522	VILLAGE RAMPAYALI TEHSIL - WARASEONI	BALAGHAT	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
523	VILLAGE KHAMARIA (UPTO 5 KMS TOWARDS WARASEONI, ON WARASEONI LALBARRA ROAD)	BALAGHAT	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
524	UPTO 2 KM FROM PARACHOWKI, TOWARDS ISHANAGAR	CHHATARP UR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
525	VILLAGE SONGUDDA, TEHSIL BAIHAR	BALAGHAT	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
526	VILLAGE HINOTA ON (KATANGI - MAJHOLI ROAD)	JABALPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
527	VILLAGE SUHAGI, TEHSIL PANAGAR	JABALPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
528	VILLAGE RAKSHA, TEHSIL PANAGAR	JABALPUR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
-														
529	VILLAGE BURAIN ON JHURAHI SARAI ROAD, TEHSIL SARAI	SINGRAULI	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
l		i			1							ı – – – – – – – – – – – – – – – – – – –		

530	VILLAGE CHAKDEHI, TEHSIL PANAGAR	JABALPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
530	VILLAGE CHARDENI, TENSIL PANAGAR VILLAGE- PATKUI, TEHSIL-SAGAR	SAGAR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
	VILLAGE PAIDU (PONDIKALAN), TEHSIL MAJHOLI, ON		NUKAL	50	OFEN	DC	- 50	- 55		١Z	- 30		5	4
532	SIHORA MAJHOLI ROAD	JABALPUR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
533	VILLAGE IMALAI, TEHSIL PANAGAR	JABALPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
534	VILLAGE BAMHANI, TEHSIL SAMNAPUR	DINDORI	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
535	VILLAGE CHOLNA TEHSIL JAITHARI, ON ANY MAIN ROAD	ANUPPUR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
536	VILLAGE KHAIRA TEHSIL BEOHARI ON ANY MAIN ROAD	SHAHDOL	RURAL	50	OPEN CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
537	VILLAGE NAVEGAON	BALAGHAT	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
538	FROM 2 KM TO 4 KM FROM INTERSECTION OF BANDA- BADA ROAD AND NH 934, TOWARDS BADA, ON BANDA- BADA ROAD	SAGAR	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
539	VILLAGE AMRAHA TEHSIL SOHAGPUR	SHAHDOL	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
540	VILLAGE SARUPA, TEHSIL PANAGAR	JABALPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
541	SEONI TOLA ON CHARGAWAN ROAD , TEHSIL -JABALPUR	JABALPUR	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
542	VILLAGE PAKHWAR, TEHSIL NAINPUR	MANDLA	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
543	VILLAGE-BEHROL ON BANDRI-BANDA ROAD	SAGAR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
544	BAMHORI GHAT, NARSINGHPUR- UMARIYA- KERPANI ROAD	NARSINGH PUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
545	VILLAGE DEORI TEHSIL BURHAR ON ANY MAIN ROAD	SHAHDOL	RURAL	50	OPEN CC 2	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
546	VILLAGE KARKATI TEHSIL BURHAR ON ANY MAIN ROAD	SHAHDOL	RURAL	50	OBC CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
547	UPTO 2 KM ON EITHER SIDE OF SHASHKIYA MADHYAMIK SHALA BAMNORA KALA	CHHATARP UR	RURAL	50	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
548	VILLAGE KANJAI, TEHSIL, LALBARRA	BALAGHAT	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
549	VILLAGE AMKHERA, TEHSIL PANAGAR	JABALPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
550	VILLAGE SHYAMDIH TALA TEHSIL SOHAGPUR ON ANY MAIN ROAD	SHAHDOL	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
551	VILLAGE SUNIYAMAR, TEHSIL DINDORI	DINDORI	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
552	VILLAGE MAJHGAWAN, TEHSIL SIHORA	JABALPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
553	VILLAGE BARGI, TEHSIL JABALPUR, NOT ON NH	JABALPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
554	VILLAGE JANAKPUR TEHSIL PANNA ON ANY MAIN ROAD	PANNA	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
555	VILLAGE , GANGAI ON CHARGAWAN ROAD , TEHSIL - SHAHPURA	JABALPUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
556	UPTO 5 KM FROM INTERSECTION OF PANNA-SATNA NATIONAL HIGHWAY(OLD NH 75) WITH SALEHA-KATAN ROAD, TOWARDS SALEHA , ON SALEHA-KATAN ROAD	PANNA	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
557	VILLAGE RISEWADA, TEHSIL LANJI	BALAGHAT	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
	VILLAGE RAMGARH, ON AMARWADA - CHAURAI ROAD	CHHINDWA RA	RURAL	50	OBC	CC	35	35	1225	12	5	BIDDING	10	3
559	VILLAGE JAMGADI, ON WAIDHAN SARAI ROAD, TEHSIL SARAI	SINGRAULI	RURAL	50	OPEN CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
560	VILLAGE GARHI, NOT ON SH , TEHSIL BAIHAR	BALAGHAT	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
561	VILLAGE MAGRON, TEHSIL- BATIYAGARH	DAMOH	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
562	VILLAGE JAMUNIA TEHSIL GOTEGAON ,ON ANY MAIN ROAD	NARSINGH PUR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4

563	UPTO 2 KM ON EITHER SIDE OF MAJNA POLICE THANA ON TIKAMGARH JATARA ROAD	TIKAMGAR H	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
564	VILLAGE BAIHA TOLA, TEHSIL KOTMA ON ANY MAIN ROAD	ANUPPUR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
565	VILLAGE HATHNAPUR ON ANY MAIN ROAD	SEONI	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
566	VILLAGE KALARBAKI, ON ANY MAIN ROAD	SEONI	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
567	VILLAGE JAITPUR TEHSIL JAITPUR ON ANY MAIN ROAD	SHAHDOL	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
568	VILLAGE LAPHDA TEHSIL GOHPARU ON ANY MAIN ROAD	SHAHDOL	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
569	GRAM PANCHAYAT KHAJRI (ON CHHINDWARA SHIVPURI ROAD)	CHHINDWA RA	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
570	UPTO 2 KM FROM NIWAR TIRAHA, TOWARDS SHAHPUR,	KATNI	RURAL	50	OPEN	СС	35	35	1225	12	5	BIDDING	10	4
571	VILLAGE CHUHIRI TEHSIL GOHPARU ON ANY MAIN ROAD	SHAHDOL	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
572	VILLAGE GHOTI ON LANJI SALETEKRI ROAD ,TEHSIL LANJI	BALAGHAT	RURAL	50	OBC PH	СС	35	35	1225	12	5	BIDDING	10	3
573	VILLAGE SADRA ,TEHSIL LANJI	BALAGHAT	RURAL	50	ST PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
574	VILLAGE AMRONIYA TEHSIL BIJAWAR	CHHATARP UR	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
575	VILLAGE SAKKA , TEHSIL DINDORI	DINDORI	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
576	VILLAGE HARDUA, TEHSIL PATAN	JABALPUR	RURAL	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
577	UPTO 2 KM FROM TIKRI TIRAHA TOWARDS SIDHI	SIDHI	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
578	VILLAGE BIDWASAN, TEHSIL-MALTHON	SAGAR	RURAL	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
579	VILLAGE DEOGAON , TEHSIL-MANGAWAN , ON MANGAWAN GURH ROAD	REWA	RURAL	50	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
580	VILLAGE MAGARDHA ON BANDA-BANDRI ROAD	SAGAR	RURAL	50	OBC	CC	35	35	1225	12	5	BIDDING	10	3
581	VILLAGE TEWAR, ON TRIPUR SUNDRI MANDIR ROAD	JABALPUR	RURAL	50	OPEN	CC	35	35	1225	12	5	BIDDING	10	4
582	VILLAGE JARWAHI , TEHSIL BURHAR	SHAHDOL	RURAL	50	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
583	ON BHOPAL NEW BYPASS ,WITHIN 2 KM FROM ACHARPURA INDUSTRIAL SQUARE TOWARDS DOBRA VILLAGE ON LHS	BHOPAL	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
584	WITHIN 2 KM FROM PIPALKHIRIYA INDUSTRIAL AREA ON NH146	RAISEN	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
585	BETWEEN KM STONE 28 TO KM STONE 31 ON SH-43 (KHEDI-GUDGAON ROAD)	BETUL	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
586	IN KUNDALI BETWEEN KM STONE 11 AND KM STONE 13 ON SH-15	RAISEN	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
587	AT SULTANPUR VILLAGE BETWEEN KM STONE 3 TO 8 ON SH-19	RAISEN	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
588	WITHIN 3 KM FROM MELUWHA CHAURAHA ON SH TOWARDS SIRONJ	VIDISHA	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
589	ON SH-44 BETWEEN "SILWANI 25 KM" STONE TO "SILWANI 23 KM" STONE ON RHS TOWARDS SILWANI	RAISEN	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
590	WITHIN 3 KM FROM UDAIPURA TOWARDS SILWANI ON SH- 44	RAISEN	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
591	ON RHS TOWARDS BHOPAL, WITHIN 2 KM FROM L & T WATER DISTRIBUTION PLANT UDAIPURA, ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH-12)	VIDISHA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5

500	AMBA NAGAR SIRONJ ROAD WITHIN 3 KM FROM			100	0.00	50	05	05	1005	05	(0	DDAMA OF LOTO	45	
592	AMBANAGAR SIDE ON RHS	VIDISHA	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
	ON LHS TOWARDS ASHOKNAGAR UPTO 3 KMS FROM IOC													_
593	PETROL PUMP IN BARWAI ON VIDISHA ASHOKNAGAR	VIDISHA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
	ROAD (SH-19) VILLAGE ONDEAR, WITHIN 2 KM EITHERSIDE ON HIGHWAY	ASHOKNAC												
594	(SH 19)	ASHORNAG	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
595	ALIGANJ VILLAGE ON SH-19	RAISEN	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
596	WITHIN 5 KM FROM PATEL CHOWK ON SHIVPURI GUNA HIGHWAY (NH 46) ON RHS TOWARDS GUNA	SHIVPURI	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
597	ON SH-42 BETWEEN "RAISEN 22 KM" MILE STONE TO "RAISEN 25 KM" MILE STONE	RAISEN	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
598	ON SH-19 BETWEEN KM STONE NUMBER 35 TO STONE NUMBER 37 ON LHS TOWARDS ASHOKNAGAR	VIDISHA	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
599	ON RHS BETWEEN KM STONE NUMBER 20 TO STONE NUMBER 22 TOWARDS ASHOKNAGAR ON SH-19	VIDISHA	REGULAR	100	OBC	СС	35	35	1225	25	10	BIDDING	30	4
600	ON SH-44 BETWEEN STONE NUMBER 25 TO STONE 30	RAISEN	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
601	WITHIN 3 KM TOWARDS MELUWAH CHAURAHA FROM SIRONJ ON SH	VIDISHA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
602	VILLAGE SIMARIYA TAL, WITH IN 2 KM FROM DR. BHIM RAO AMBEDKAR PARK TOWARDS GWALIOR ON LHS ON NH-44	GWALIOR	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
603	ON SH-18 BETWEEN KM STONE NUMER 25 TO KM STONE NUMBER 28	RAISEN	REGULAR	100	OBC	CC	35	35	1225	25	10	BIDDING	30	4
604	KHARBAI VILLAGE ON BHOPAL RAISEN NATIONAL HIGHWAY (NH146)	RAISEN	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
605	WITHIN 0.5 KM FROM OLD AIRPORT TIRAHA, ON OLD AIRPORT ROAD TIRAHA TO ASHA RAM BAPU CHOURAHA ROAD	BHOPAL	REGULAR	150	OPEN CC 2	СС	25	30	750	25	10	BIDDING	30	5
606	IN BETWEEN SHINDE KI CHHAWANI AND CENTRAL JAIL MAIN GATE	GWALIOR	REGULAR	150	OBC CC 1	DC	20	20	400	25	60	DRAW OF LOTS	15	4
607	WITH IN 5 KM FROM MEHGAON TIRAHA TOWARDS GORMI ON SH-19	BHIND	REGULAR	100	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
608	ON SH-18 BETWEEN KM STONE NUMER 34 TO KM STONE NUMBER 37	RAISEN	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
609	UDAIPURA WML	RAISEN	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
610	ON RHS BETWEEN KM STONE 25 TO KM STONE 30 ON SH- 19 TOWARDS BHOPAL	RAISEN	REGULAR	150	OBC	CC	35	35	1225	25	10	BIDDING	30	4
611	VILLAGE BAJHERA, TEKANPUR BYPASS ON NH 44	GWALIOR	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
612	ON SH-42 WITHIN "GAIRATGANJ 20 KM" MILE STONE TO "GAIRATGANJ 18 KM" MILE STONE ON RHS TOWARDS GAIRATGANJ	RAISEN	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
613	WITHIN KM STONE 1 TO KM STONE 4 ON SH-44	RAISEN	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
614	BEWTEEN MANA VILLAGE TO NEEMKHEDA VILLAGE ON NH 146	RAISEN	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
615	ON LHS WITHIN 1 KM FROM EIDGAH CHOURAHA TOWARDS KARARIA (WML)	VIDISHA	REGULAR	100	OPEN	CC	30	30	900	25	10	BIDDING	30	5
616	MANGROL, WITHIN 2 KM FROM BUS STAND TOWARDS EITHER MAU OR SEWDA	DATIA	REGULAR	100	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
617	EITHER SIDE WITHIN 2 KM FROM OLYMPUS SCHOOL NEAR MIRZAPUR ON NH 146	VIDISHA	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5

618	EITHER SIDE WITHIN 2 KMS FROM VILLAGE MANORA TO GYARASPUR ON NH146	VIDISHA	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
619	LHS ON NH-52 FROM SARANGPUR TO CHATRUKHEDI	RAJGARH	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
620	SAWALMENDA ON SH-43 (ON KHEDI-SAWALMENDA ROAD)	BETUL	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
621	ON RHS WITHIN 1.5 KM FROM NEW VIDISHA MANDI TOWARDS SAGAR (WML)	VIDISHA	REGULAR	100	OBC	CC	25	25	625	25	10	BIDDING	30	4
622	EITHER SIDE WITHIN 4 KMS FROM IOCL PETROL PUMP DEORI ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH-12)	RAISEN	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
623	EITHER SIDE BETWEEN STONE NO 75 TO STONE NO 80 ON NH146	VIDISHA	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
624	VILLAGE DAMDONGRI ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH 12)	RAISEN	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
625	CHANDERI, WITH IN 5 KM FROM BUS STAND ON ISAGARH ROAD ON SH-10	ASHOKNAG AR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
626	ON LHS TOWARDS JABALPUR BETWEEN KM STONE 151 TO KM STONE 153 ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH-12)	RAISEN	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
627	ON LHS TOWARDS BHOPAL BETWEEN KM STONE 246 TO 248 ON BHOPAL JABALPUR SCETION OF NATIONAL HIGHWAY (OLD NH-12)	RAISEN	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
628	EITHER SIDE WITHIN 2 KM FROM SHAHIDI GURUDWARA BADI ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH-12)	RAISEN	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
629	SALAIYA ON SARNI-BETUL ROAD	BETUL	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
630	BEGUMGANJ WML	RAISEN	REGULAR	100	OPEN	CC	25	25	625	25	10	BIDDING	30	5
631	ON LHS WITHIN 1 KM ON VIDISHA SAGAR ROAD FROM BPCL BHAVYA PETROL PUMP TOWARDS SAGAR (WML)	VIDISHA	REGULAR	120	OPEN	СС	25	25	625	25	10	BIDDING	30	5
632	VILLAGE- JAWASA ON ATER BHIND ROAD ON NH-552 EXTENDED	BHIND	REGULAR	150	OBC PH	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
633	AT OR NEAR GARHI WITHIN 3 KMS FROM GARHI / AHMADPUR JOD TOWARDS GAIRATGUNJ ON SH-42	RAISEN	REGULAR	100	ST PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
634	EITHER SIDE BETWEEN KM STONE NO 80 TO KM STONE NO 86 ON VIDISHA SAGAR HIGHWAY (NH146)	VIDISHA	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
635	WITHIN 5 KM FROM ASHOKNAGAR VIDISHA TOLL ON ASHOKNAGAR VIDISHA ROAD	ASHOKNAG AR	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
636	VILLAGE NOORNAGAR ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH12)	RAISEN	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
637	WITHIN 1 KM FROM GANJ BASODA BUS STAND (WML)	VIDISHA	REGULAR	100	OPEN	CC	20	20	400	25	10	BIDDING	30	5
638	WITHIN 2 KM FROM BPC MAU PETROL PUMP ON LHS ON NH-52 TOWARDS PACHORE	RAJGARH	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
639	EITHER SIDE WITHIN 2 KM FROM MADHIPUR PRIMARY PATHSHALA ON NH 146	VIDISHA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
640	EITHER SIDE WITHIN 4 KMS FROM VILLAGE GHATALA ON NH 146	RAISEN	REGULAR	150	OBC	CC	40	45	1800	25	10	BIDDING	30	4
641	WITHIN 1 KM FROM RAISEN CHOIURAHA (WML)	RAISEN	REGULAR	100	OPEN	CC	25	25	625	25	10	BIDDING	30	5
642	AWADHPURI BHOPAL	BHOPAL	REGULAR	150	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3

643	VILLAGE KUSHYARI ON BHOPAL SAGAR HIGHWAY (NH146)	RAISEN	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
644	VILLAGE SENDORA ON BHOPAL SAGAR HIGHWAY (NH 146)	RAISEN	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
645	ON NH-46 WITHIN 5 KM FROM KURAWAR BUS STAND TOWARDS NARSINGHARH ON L.H.S.	RAJGARH	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
646	ON BEHLOT BYPASS ROAD FROM BARETH ROAD CROSSING UPTO BASODA RAILWAY STATION	VIDISHA	REGULAR	100	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
647	UPTO 5 KM FROM AIIMS EITHER TOWARDS SAGAR PUBLIC SCHOOL OR AWADHPURI	BHOPAL	REGULAR	150	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
648	VILLAGE PATHARI BASODA ON BASODA GUROD ROAD (WML)	VIDISHA	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
649	EITHER SIDE BETWEEN VILLAGE BHONDIA AND KHARGONE ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH-12)	RAISEN	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
650	WITH IN 0.5 KM FROM IMLI NAKA TIRAHA	GWALIOR	REGULAR	150	OBC	CC	20	20	400	25	10	BIDDING	30	4
651	WITHIN 3 KM FROM BAROI THANA, ON NH-719 TOWARDS BHIND	BHIND	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
652	ON BHOPAL VIDISHA ROAD (WITHIN VIDISHA WML)	VIDISHA	REGULAR	100	OPEN	CC	30	30	900	25	10	BIDDING	30	5
653	LHS ON SH-18 BETWEEN KM STONE 47 AND 49 NEAR VILLAGE JATAKHEDA TOWARDS INDORE	SEHORE	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
654	EITHER SIDE WITHIN 3 KMS FROM IOC PETROL PUMP OLINGA ON NH 146	VIDISHA	REGULAR	150	OPEN	СС	40	45	1800	25	10	BIDDING	30	5
655	VILLAGE NAWALI BADAGAON ON NH-552 EXTENDED	MORENA	REGULAR	150	OBC CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
656	JAKHA ON NH146	RAISEN	REGULAR	150	SC CC 1	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
657	VILLAGE MOROLI ON MEHGAON GORMI ROAD ON SH-19	BHIND	REGULAR	100	OPEN PH	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
658	VILLAGE BEHTA, GWALIOR NEW BYPASS, ON NH-44, GWALIOR	GWALIOR	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
659	LHS ON SH-41 BETWEEN MILE STONE "AGAR 2 KM" AND "AGAR 4 KM"	AGAR MALWA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
660	WITHIN NAGAR PANCHAYAT LIMIT OF VEERPUR	SHEOPUR	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
661	EITHER SIDE WITHIN 1 KM FROM UDAIPURA TOWARDS BORAS ROAD	RAISEN	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
662	IN BETWEEN DEFODIL SCHOOL AND MITS COLLEGE VIA INDERMANI NAGAR TIRAHA	GWALIOR	REGULAR	150	OBC	CC	20	20	400	25	10	BIDDING	30	4
663	VILLAGE DABOH , WITHIN 2 KM FROM GOVERNMENT WAREHOUSE, ON BHIND BHANDER HIGHWAY ON NH-552 EXTENDED	BHIND	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
664	VILLAGE GATA , MEHGAON MOH ROAD ON SH-19	BHIND	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
665	WITH IN 2 KM FROM ROUN POLICE THANA ON SH-2	BHIND	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
666	BETWEEN MILE STONE "MORENA 57 KM" AND "MORENA 50 KM"ON LHS TOWARDS MORENA ON NH 44	GWALIOR	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
667	WITHIN 2 KM FROM DADRAUA TEMPLE JUNCTION ROAD TOWARDS MAU ON MEHGAON MAU ROAD ON SH-19	BHIND	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
668	SADALATPUR ON NH146	RAISEN	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
669	WITHIN 8 KM FROM BPCL PETROL PUMP MAA KULDEVI FILLING STATION ON SHEOPUR PALI ROAD (SH-6)	SHIVPURI	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

670	WITHIN 1.5 KM FROM SUBHASH CHAURAHA IN BHIND CITY	BHIND	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
671	WITHIN 5 KM FROM MAU REST HOUSE ON MEHGAON ROAD ON SH-19	BHIND	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
672	VILLAGE JIGNI, FROM MORENA TO AMBAH, ON NH-552 EXTENDED	MORENA	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
673	WITHIN 0.5 KM FROM MADHAVPURA KI PULIYA IN MORENA CITY	MORENA	REGULAR	150	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
674	WITHIN 10 KM FROM BHOGIKA CROSSING ON SHEOPUR PALI ROAD (SH-6)	SHEOPUR	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
675	WITHIN 2 KM FROM BPC PETROL PUMP SHRI GOVERDHAN FILLING STATION VILLAGE- URHERA ON NH-552 EXTENDED, ON LHS FROM MORENA TO SHEOPUR	MORENA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
676	MEHGAON FROM THE JUNCTION OF NH 719 WITHIN 5 KM TOWARDS DATIA ON SH 19	BHIND	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
677	WITHIN 2 KM FROM BAGHCHINI CHAUKHATTA TOWARDS JAURA ON NH-552 EXTENDED ON RHS	MORENA	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
678	BETWEEN VILLAGE SIKRODA AND VILLAGE HITAM PUR ON NH 44 IN MORENA	MORENA	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
679	WITHIN 2 KM FROM ITM UNIVERSITY MAIN GATE ON NH- 44, ON LHS FROM DABRA TO MORENA	GWALIOR	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
680	VILLAGE PHOOP, ON NH 719	BHIND	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
681	WITHIN 2 KM FROM PARSOTA TIRAHA ON LHS ON NH-552 EXTENDED TOWARDS JAURA	MORENA	REGULAR	150	OBC	CC	40	45	1800	25	10	BIDDING	30	4
682	BADERWAS BYPASS ON NH 46	SHIVPURI	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
683	VILLAGE SARWA, ON NH-719	BHIND	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
684	ON DABRA BYPASS ,IN DABRA	GWALIOR	REGULAR	150	OBC	CC	40	45	1800	25	10	BIDDING	30	4
685	BETWEEN CHANDPUR TIRAHA AND BAMRAULI TEMPLE ON NH-44	GWALIOR	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
686	WITHIN 2 KM FROM KHADI KHEDA PRIMARY SCHOOL, VILLAGE- NEEMCHANDOWA,ON LHS ON SHIVPURI LINK ROAD TOWARDS GWALIOR	GWALIOR	REGULAR	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
687	ON NH 12 FROM BHOJ VIHAR COLONY TO BHOJPUR CHOURAHA ,VILLAGE SANOTI ,DISTRICT RAISEN	RAISEN	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
688	VILLAGE NAYAGAON, ON LHS FROM NAYGAON TO SIKRODA ON NH-46	GWALIOR	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
689	ROSHANI GHAR ROAD, ON EITHER SIDE OF ROAD IN GWALIOR CITY	GWALIOR	REGULAR	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
690	WITH IN 10 KMS FROM HPC PETROL PUMP BARI AUTO ON NH-44, ON LHS FROM MORENA TO AGRA	MORENA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
691	WITHIN 5 KM FROM LALITPURA CHOURAHA ON SHEOPUR · BARODA ROAD ON SH-6	SHEOPUR	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
692	WITHIN 1.5 KM FROM GOL PAHADIYA TIRAHA ON RHS TOWARDS SHIVPURI	GWALIOR	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
693	WITH IN 1 KM FROM 7 NO. CHAURAHA TOWARDS GOLE KA MANDIR	GWALIOR	REGULAR	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
694	THALA ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH12)	RAISEN	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
695	VILLAGE RENHAT ,ON GWALIOR SHIVPURI HIGHWAY ON NH-46	GWALIOR	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4

696	VILLAGE THARET ,ON SEWDA INDERGARGH ROAD FROM KM STONE 14 TO KM STONE 12 ON SH 19	DATIA	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
697	WITHIN 1 KM FROM JHANSI ROAD POLICE THANA ON JHANSI ROAD	GWALIOR	REGULAR	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
698	WITHIN 1 KM FROM LAXMIGANJ GALLA MANDI TOWARDS BAHODAPUR	GWALIOR	REGULAR	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
699	WITHIN 4 KM FROM MAU BUS STAND TOWARDS SEWDA ON SH-19	BHIND	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
700	WITHIN 6 KM FROM BERASIA,ON BERASIA NAZIRABAD ROAD ,TOWARDS NAZIRABAD LHS	BHOPAL	REGULAR	100	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
701	WITH IN 1.5 KM FROM BAHODAPUR TIRAHA TOWARDS BADA	GWALIOR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
702	WITHIN 1 KM FROM GWALIOR RAILWAY STATION MAIN GATE PLATFORM NO 5 SIDE, ON TANSEN ROAD, IN GWALIOR	GWALIOR	REGULAR	150	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
703	VILLAGE CHARAI,ON NH-44	GWALIOR	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
704	WITHIN 1.5 KM FROM ATAL DWAR TOWARDS GOLE KA MANDIR, AB LINK ROAD	GWALIOR	REGULAR	150	OPEN	CC	25	25	625	25	10	BIDDING	30	5
705	WITHIN 7 KM FROM CHONDHA TOLL PLAZA, LEAVING 1 KM FROM CHONDHA TOLL PLAZA ON NH 44 TOWARDS GWALIOR	MORENA	REGULAR	150	ST CC 1	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
706	WITHIN SHAJAPUR CITY FROM TANKI CHAURAHA TO COLLECTORATE OFFICE	SHAJAPUR	REGULAR	100	OPEN CC 2	DC	25	25	625	25	45	DRAW OF LOTS	15	5
707	EITHER SIDE BEWTEEN BAGROD TO BUDHI BAGROD VILLAGE ON NH146	RAISEN	REGULAR	150	OBC CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
708	BETWEEN BAHODAPUR TIRAHA AND SAGARTAL CHAURAHA	GWALIOR	REGULAR	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
709	WITHIN 3 KM FROM SWAMI VIVEKANAND PARK (WML)	SHEOPUR	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
710	FROM SIKRODA TO NAYAGON ON LHS ON NH-46	GWALIOR	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
711	WITHIN 1 KM FROM SHIV SHAKTI APARTMENT TOWARDS BAHODAPUR TIRHAHA	GWALIOR	REGULAR	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
712	WITHIN 0.5 KM FROM IOC PETROL PUMP SAIRAM FILLING STATION,ON LHS TOWARDS PRABHA INTERNATIONAL HOTEL	GWALIOR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
713	WITHIN 5 KM FROM BHEL GATE NO 5 EITHER TOWARDS AWADHPURI OR BERKHEDA	BHOPAL	REGULAR	150	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
714	WITHIN 3 KMS ON EITHER SIDE OF BAGPIPARIYA UNTIYA JOD ON SH-19	RAISEN	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
715	WITHIN 0.5 KM FROM MADHAV PLAZA ON JHINSI NALA NO 2 ROAD	GWALIOR	REGULAR	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
716	FROM MANSINGH CHAURAHA TOWARDS MORAR IN GWALIOR CITY	GWALIOR	REGULAR	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
717	BETWEEN KM STONE 214 TO KM STONE 220 NEAR ALAMGARH ON NH 47	BETUL	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
718	AT PAGARI VILLAGE ON NH-52	RAJGARH	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
719	VILLAGE CHHODA, ON NEW GWALIOR BYPASS, SIKRODA TO NAYAGAON ON LHS, BETWEEN KM STONE "GHATIGAON 21 KM" TO "GHATIGAON 19 KM" ON NH-46	GWALIOR	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5

720	CHIKALI ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH12)	RAISEN	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
721	WITHIN 4 KM FROM BETUL GREENERY HIGHWAY SQUARE ON KHEDI ROAD (NH 548C)	BETUL	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
722	EITHER SIDE WITHIN 2 KM ON NH-46 FROM MANSAROVAR DHABA	RAJGARH	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
723	ON LHS FROM GOLE KA MANDIR CHAURAHA AND DEENDAYAL NAGAR MAIN GATE, ON GWALIOR BHIND ROAD	GWALIOR	REGULAR	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
724	WITHIN 1 KM FROM CHIRWAI CHAURAHA TOWARDS PIPRAULI	GWALIOR	REGULAR	150	OPEN	CC	25	25	625	25	10	BIDDING	30	5
725	BETWEEN CHICHANDA & MALHARA ON NH 47	BETUL	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
726	WITHIN 1 KM FROM CHOUDHARY DHABA ON SHIVPURI LINK ROAD, ON RHS FROM CHOUDHARY DHABA TO GWALIOR CITY	GWALIOR	REGULAR	150	OPEN	CC	25	25	625	25	10	BIDDING	30	5
727	WITHIN 2 KM FROM HIGHWAY TREAT RESTAURANT NEAR GYARASPUR ON NH146	VIDISHA	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
728	FROM NAKA CHANDRABADNI TO NEW COLLECOR ROAD VIA NEW REGISTRAR OFFICE , GWALIOR	GWALIOR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
729	WITHIN 5 KM FROM R R JAISWAL INDIAN OIL PUMP TOWARDS PIPARIYA ON SH22	HOSHANGA BAD	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
730	WITHIN 3 KM FROM NAINAGARH TIRAHA ON LHS FROM DATIA TO MORENA, ON NH-44	GWALIOR	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
731	WITHIN 3 KM FROM NEPRI BRIDGE TOWARDS SABALGARH ON NH-552 EXTENDED	MORENA	REGULAR	150	SC PH	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
732	WITHIN 5 KM FROM BARETHA TOLL PLAZA, LEAVING 2 KM FROM BARETHA TOLL PLAZA TOWARDS BHIND ON NH 719	BHIND	REGULAR	150	OBC PH	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
733	BETWEEN NAYAGAON AND GHATIOGAON ON NH-46, ON RHS FROM NAYAGAON TO GHATIGAON	GWALIOR	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
734	BETWEEN KILA GATE AND JAIL KI PULIYA IN BHIND CITY	BHIND	REGULAR	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
735	NANDA ON SH-26	BETUL	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
736	RHS ON NH-46 FROM KEELKHEDA JOD TO KHANPURA VILLAGE TOWARDS BIAORA	RAJGARH	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
737	WITHIN 2 KM FROM MALANPUR POLICE THANA ON LHS TOWARDS BHIND ON NH 719	BHIND	REGULAR	150	OPEN	СС	40	45	1800	25	10	BIDDING	30	5
738	BETWEEN GUDA GUDI NAKA AND SHIVPURI LINK ROAD	GWALIOR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
739	CHILLORE ON SH-26	BETUL	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
740	KHAMARIYA NIMAWAR ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH12)	RAISEN	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
741	NAINAGARH ROAD, IN JIWAJI GANJ, MORENA CITY	MORENA	REGULAR	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
742	FROM SHALIMAR TOWNSHIP TO BAWADIYA KALAN MAIN ROAD,ON EITHER SIDE OF ROAD	BHOPAL	REGULAR	150	OPEN	CC	25	20	500	25	10	BIDDING	30	5
743	VILLAGE KARGAWAN, ON GWALIOR BYPASS NH-44	GWALIOR	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
744	CHARKHEDA BETWEEN KM STONE 154 TO KM STONE 158 ON HOSHANGABAD HARDA ROAD	HARDA	REGULAR	120	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
745	EITHER SIDE WITHIN 4 KM ON NH-52 FROM RAJGARH COLLECTRATE GATE TOWARDS KHILCHIPUR	RAJGARH	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3

746	SEMRI KHURD ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH12)	RAISEN	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
747	BETWEEN KM STONE 77 TO KM STONE 80 NEAR KHIRKIYA ON SH-15	HARDA	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
748	VILLAGE BHAIROKHEDI ON NH 146	VIDISHA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
749	RUTHIYAI BYPASS ON NH 46	GUNA	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
750	WITH IN 5 KM, FROM RAIRU JUNCTION ON NEW GWALIOR BYPASS TOWARDS DABRA ON LHS ON NH -44	GWALIOR	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
751	BETWEEN KM STONE 148 TO KM STONE 152 NEAR PACHARWARA ON SH-19	HOSHANGA BAD	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
752	WITH IN 6 KM FROM BPC PETROL PUMP IN MEHGAON ON NH 719	BHIND	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
753	CHOUMA VILLAGE ON SH-41	SHAJAPUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
754	BINAGANJ BYPASS ON NH 46	GUNA	REGULAR	150	ST CC 1	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
755	KOLARAS BYPASS ON NH 46	SHIVPURI	REGULAR	150	OBC CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
756	ON LHS BETWEEN JANPAD PACHAYAT OFFICE BABAI AND BEEJ NIGAM OFFICE BABAI TOWARDS PIPARIYA (WITHIN NAGAR PANCHAYAT LIMIT)	HOSHANGA BAD	REGULAR	100	OPEN	CC	25	25	625	25	10	BIDDING	30	5
757	LUKWASA BY PASS ON NH 46	SHIVPURI	REGULAR	150	OPEN PH	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
758	ON LINK WAY NO 2 WITHIN 1 KM FROM IOCL PETROL PUMP TOWARDS NUTAN COLLEGE LHS	BHOPAL	REGULAR	150	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
759	BETWEEN KM STONE 139 TO KM STONE 143 NEAR GADAGHAT ON SH-19	HOSHANGA BAD	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
760	WITHIN 1.5 KM FROM BETUL THANA KOTWALI TOWARDS BANJARI MATA MANDIR ON LHS AT CHAKKAR ROAD	BETUL	REGULAR	100	OPEN	CC	25	25	625	25	10	BIDDING	30	5
761	VILLAGE RATWA, TEHSIL SHAMSHABAD ON SH-23	VIDISHA	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
762	BETWEEN KM STONE 158 TO KM STONE 160 ON NH47 (OLD NH 59 A)	BETUL	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
763	LHS ON SH-27 AT PALKHEDI VILLAGE FROM UJJAIN TO AGAR	AGAR MALWA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
764	BETWEEN KM STONE NO 6 AND KM STONE NO 8 ON SH-41 ON RHS TOWARDS SARANGPUR	SHAJAPUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
765	WITHIN 4 KM FROM AGAR BUS STAND ON BAROD ROAD	AGAR MALWA	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
766	NEAR MEHKAAR, BETWEEN KM STONE 19 TO KM STONE 22 ON SH-43 (SARNI-BETUL ROAD)	BETUL	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
767	VILLAGE JARGAMBA ,WITH IN 2 KM FROM THANRA TIRAHA TOWARDS DINARA ON NH -27	SHIVPURI	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
768	VILLAGE KUNDI ON RHS TOWARD BETUL ON NH 46 (OLD NH 69)	BETUL	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
769	WITHIN 5 KM FROM BPCL PETROL PUMP SS SALES AND SERVICES ON LHS FROM BINAGANJ TOWARDS GUNA ON NH 46	GUNA	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
770	NEAR RAWANPIPAL ON SH-15,BETWEEN KM STONE 147 TO KM STONE 150	HOSHANGA BAD	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
771	GADAIPURA ON AB LINK ROAD	GWALIOR	REGULAR	150	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
772	WITHIN 5 KM FROM ESSAR PETROL PUMP GUPTA PETROLEUM ON NH46 (OLD NH 69)	BETUL	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5

773	NEAR BHARLAY ON SH-15, BETWEEN KM STONE 150 TO KM STONE 152	HOSHANGA BAD	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
774	WITHIN 5KM FROM RD SANTULAL INDIAN OIL PUMP ON NH46 TOWARDS BETUL (OLD NH 69)	HOSHANGA BAD	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
775	WITHIN 5 KM FROM RD SANTULAL INDIAN OIL PUMP TOWARDS HOSHANGABAD ON NH46 (OLD NH 69)	HOSHANGA BAD	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
776	FROM JAWAR TO DODI ON LHS ON SH-18	SEHORE	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
777	WITHIN 1 KM FROM SHAHPURA THANA TOWARDS CHUNNA BHATTI CHOURAHA ,VIA GAURAV GREEN GARDEN.	BHOPAL	REGULAR	150	OBC	CC	25	25	625	25	10	BIDDING	30	4
778	NITAYA VILLAGE ,LHS TOWARDS HOSHANGABAD ON PROPOSED NH	HOSHANGA BAD	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
779	WITHIN 2 KM FROM BPCL PETROL PUMP NARMADA FILLING STATION ON NH46 (OLD NH 69)	HOSHANGA BAD	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
780	NEEMPANI TO PADHAR ON NH	BETUL	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
781	ON BHOPAL BYPASS ,VILLAGE RAPADIA,TEHSIL HUZUR	BHOPAL	REGULAR	150	OBC	СС	35	45	1575	25	10	BIDDING	30	4
782	WITHIN 2 KM FROM MILE STONE "BHOPAL 180 KM, ITARASI 92 KM" ON BETUL BYPASS ON LHS TOWARDS BHOPAL (ON NH)	BETUL	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
783	WITHIN 3 KM FROM MACHALPUR BUS STAND ON SH-51	RAJGARH	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
784	WITHIN 3 KMS FROM ARWALIA SQUARE,ON BHOPAL BYPASS ROAD	BHOPAL	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
785	LHS ON SH-41 WITHIN 2 KM FROM MADANA JOD TO SALSALAI TOWARDS AKODIA	SHAJAPUR	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
786	BETWEEN MULTAI & NAYAGAON ON NH 47, LHS TOWARDS BETUL	BETUL	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
787	AT SARNI, WITHIN 2 KM FROM JAYSTAMBH CHOWK	BETUL	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
788	WITHIN 2 KM FROM KEMPFORT SCHOOL ,ON 80 FEET ROAD, HINOTIYA ALAM,KOLAR ROAD, BHOPAL	BHOPAL	REGULAR	150	OBC	DC	30	20	600	25	60	DRAW OF LOTS	15	4
789	VILLAGE KIRWADA ,ON NH 46	GUNA	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
790	ON LHS WITHIN 2 KM FROM AMLA ROAD JUNCTION (NEAR PANKHA) ON NH 47 TOWARDS NAGPUR	BETUL	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
791	ON LHS BETWEEN KM STONE 137 TO KM STONE 145 TOWARDS HARDA ON NH 47 (OLD NH 59 A)	HARDA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
792	ON AIIMS ROAD ,BAGMUGALIA FROM ARVIND NAGAR TIRAHA TO AMRAI COLONY TIRAHA	BHOPAL	REGULAR	150	OBC	CC	25	20	500	25	10	BIDDING	30	4
793	ON LHS BETWEEN KM STONE 146 TO KM STONE 152 RHS TOWARDS HARDA ON NH 47 (OLD NH 59 A)	HARDA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
794	WITHIN 2 KM FROM MOMAN BADODIYA POLICE STATION ON SH-41	SHAJAPUR	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
795	AT VILLAGE SAMARDHA, ON BHOPAL HOSHANGABAD SECTION OF NATIONAL HIGHWAY (OLD NH12)	BHOPAL	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
796	VILLLAGE PENCHI ,ON NH 46	GUNA	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
797	WITHIN 2 KM FROM INTERSECTION OF SH22 AND PROPOSED NH (LHS ON PROPOSED NH TOWARDS BHOPAL)	HOSHANGA BAD	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
798	VILLAGE BASAPUR ON NH46 (PROPOSED)	SEHORE	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3

799	WITHIN 2 KM FROM THE MILE STONE " SHIVPURI 12 KM" ON SHIVPURI NATIONAL HIGHWAY (NH 46) ,ON LHS TOWARDS SHIVPURI BETWEEN GUNA AND SHIVPURI	SHIVPURI	REGULAR	150	OBC	CC	40	45	1800	25	10	BIDDING	30	4
800	WITHIN 2 KM FROM RAVINDRA CONVENT HR SECONDARY SCHOOL AT CHHAPIHEDA ON SH-51 TOWARDS JIRAPUR	RAJGARH	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
801	NEAR TIMARNI, BETWEEN KMS STONE 157 TO KM STONE 161 ON NH 47 (NH 59 A)	HARDA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
802	ON SH-41 WITHIN 2.5 KM FROM NALKHEDA JOD AT KANAD TOWARDS AGAR	AGAR MALWA	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
803	VILLAGE SITAPUR ,WITHIN 3 KM FROM ESSAR OUTLET BHAGWATI GOPAL ON GWALIOR -DATIA NATIONAL HIGHWAY NH 44	DATIA	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
804	NEAR SHODALPUR,BETWEEN KM STONE 162 TO KM STONE 167 ON NH 47 (OLD NH 59 A)	HARDA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
805	WITHIN MILESTONE "MIYANA 5 KM" AND "MIYANA 4 KM " ON NH 46	GUNA	REGULAR	150	OPEN CC 2	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
806	WITHIN 2 KM FROM THE MILE STONE "GUNA 11 KM" ON NH 46 ON RHS FROM SHIVPURI TOWARDS GUNA	GUNA	REGULAR	150	OBC CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
807	WITHIN 2 KM FROM GORAGHAT TIRAHA TOWARDS DATIA ON GWALIOR -DATIA NATIONAL HIGHWAY NH 44	DATIA	REGULAR	150	SC CC 1	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
808	ON RHS BETWEEN KM STONE 137 TO KM STONE 145 TOWARDS HARDA ON NH 47 (OLD NH 59 A)	HARDA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
809	NH 69)	HOSHANGA BAD	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
810	WITHIN 5 KM FROM KHATKIYA CHOURAHA ON NH 46	GUNA	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
811	WITHIN BIAORA CITY ON SUTHALIYA ROAD	RAJGARH	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
812	WITHIN 2 KM FROM INTERSECTION OF SH-22 AND PROPOSED NH (RHS ON PROPOSED NH TOWARDS BHOPAL)	HOSHANGA BAD	REGULAR	150	OPEN	СС	40	45	1800	25	10	BIDDING	30	5
813	NEAR RASULIA ,BETWEEN KM STONE 39 TO KM STONE 42 ON NH 46 (OLD NH 69)	HOSHANGA BAD	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
814	ON NH-46 WITHIN 2 KM FROM DORAHA JOD TOWARDS JHARKHEDA ON R.H.S.	SEHORE	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
815	NEAR PAWARKHEDA ON NH 46, BETWEEN KM STONE 43 TO KM STONE 46	HOSHANGA BAD	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
816	WITHIN 5 KM FROM DATIA POLICE PETROL PUMP ON NH 44	DATIA	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
817	LHS ON SH-41 WITHIN 2 KM FROM SIDDIKGANJ VILLAGE JOD AT KHACHROD TOWARDS ASHTA	SEHORE	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
818	VILLAGE KHILCHIPUR ON NH-52	RAJGARH	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
819	VILLAGE NURABAD ,ON NH-46	MORENA	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
820	JIRAPUR PANCHAYAT ON SOYAT MAIN ROAD	RAJGARH	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
821	LHS ON NH-52 FROM KARANWAS VILLAGE TO BHATKHEDI	RAJGARH	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
822	NEAR JHALLAR ON SH-43,BETWEEN KM STONE 20 TO KM STONE 24 ON KHEDI-GUDGAON ROAD	BETUL	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
823	WARANGI BETWEEN KM STONE 94 TO KM STONE 98 ON SH-15	HARDA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5

		I I		l.				1	<u>г г</u>			1		
824	RHS ON NH-52 FROM KARANWAS VILLAGE TO BHATKHEDI	RAJGARH	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
825	LHS ON NH-46 FROM KEELKHEDA JOD TO KHANPURA VILLAGE TOWARDS BIAORA	RAJGARH	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
826	WITHIN 2 KM INDIAN OIL PETROL PUMP DOLARIYA ON SH- 15	HOSHANGA BAD	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
827	WITHIN 4 KM FROM HOSHANGABAD OVER BRIDGE TOWARDS HARDA ON SH-15	HOSHANGA BAD	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
828	ON NH-46 WITHIN 2 KM FROM ADALHEDA JOD TOWARDS BIAORA ON RHS	RAJGARH	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
829	LHS ON NH-12 TOWARDS HOSHANGABAD BETWEEN GYAN JYOTI COLLEGE TO GREEN WORLD NURSURY	BHOPAL	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
830	ON RHS BETWEEN KM STONE 145 TO KM STONE 152 TOWARDS HARDA ON NH 47 (OLD NH 59 A)	HARDA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
831	ON LHS BETWEEN KM STONE 204 TO KM STONE 206 ON SH-22 TOWARDS PIPARIYA	HOSHANGA BAD	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
832	WITHIN 3 KM FROM ALOTE CHAURAHA AT BAROD ON AGAR MAIN ROAD	AGAR MALWA	REGULAR	100	OBC PH	DC	25	25	625	25	45	DRAW OF LOTS	15	4
833	EITHER SIDE BETWEEN KHAPERKHEDA AND RAMPUR CHAK PATNI ON NH 146	VIDISHA	REGULAR	150	ST PH	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
834	VILLAGE SHOBHAPUR ON SH-22, BETWEEN KM STONE 194 TO KM STONE 199	HOSHANGA BAD	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
835	SEONI MALWA,BETWEEN KM STONE 152 TO KM STONE 154 ON SH-15	HOSHANGA BAD	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
836	WITHIN 1 KM FROM RADHASWAMY SATSANG ASHRAM TO BUS STAND IN AGAR CITY	AGAR MALWA	REGULAR	100	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
837	ITARSI WML	HOSHANGA BAD	REGULAR	100	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
838	SEHATGANJ ON NH-146	RAISEN	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
839	DHARAMKUNDI-BHLATBABA ON SH-15 BETWEEN KM STONE 162 TO KM STONE 165	HOSHANGA BAD	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
840	FROM LADKUI TO BHADAKUI ON SH-53	SEHORE	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
841	HOSHANGABAD WML	HOSHANGA BAD	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
842	VILLAGE BUDHERA IN BETWEEN MILESTONE "MORENA 34 KM" AND "MORENA 36 KM" NEAR SIKRAUDA RAILWAY STATION ON NH-552 EXTENDED	MORENA	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
843	RHS ON SH-27 BETWEEN KM STONE NO 102 AND KM STONE NO 104 FROM UJJAIN TO AGAR	AGAR MALWA	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
844	ON RHS BETWEEN KM STONE 146 TO KM STONE 152 TOWARDS HARDA ON NH 47 (OLD NH 59 A)	HARDA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
845	VILLAGE TEKANPUR, ON NH-44	GWALIOR	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
846	ON MOHANA BYPASS ,ON NH-44	GWALIOR	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
847	WITHIN 4 KMS FROM DIMNI POLICE STATION ON NH-552 EXTENDED	MORENA	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
848	AT OR NEAR BINEKA VILLAGE BETWEEN KM MILE STONE 256 TO 261 ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH12).	RAISEN	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
849	ON KOLAR ROAD WITHIN 1 KM FROM MOTHER TERESA SSCE SCHOOL	BHOPAL	REGULAR	150	OPEN	CC	30	30	900	25	10	BIDDING	30	5

850	WITHIN 2 KM FROM IOC INDERPRASTHA PETROL PUMP ON NH 46	GWALIOR	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
851	WITHIN 3 KM FROM BPC PETROL PUMP VISHAL PURE OILS ON NH-44, ON LHS FROM GWALIOR TO MORENA	GWALIOR	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
852	WITHIN 2 KM FROM SWAMI VIVEKANAND GOVT COLLEGE ON LHS TOWARDS SHAMSHABAD ROAD,ON BERASIA SHAMSHABAD ROAD	BHOPAL	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
853	WITHIN 1 KM FROM BHARAT NAGAR PARK ,BHARAT NAGAR, INDRAPURI	BHOPAL	REGULAR	150	OPEN	СС	20	30	600	25	10	BIDDING	30	5
854	UMARIYA VILLAGE ON NH 69 BYPASS	RAISEN	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
855	HARDA WML, FROM GOVT HOSPITAL UPTO 1KM TOWARDS CHHIPANER	HARDA	REGULAR	100	OBC CC 1	DC	25	25	625	25	45	DRAW OF LOTS	15	4
856	NEAR SAMARDHA, BETWEEN KM STONE 128 TO KM STONE 132 ON SH-15	HARDA	REGULAR	100	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
857	VILLAGE-PRATAPPURA ON BHIND ATER ROAD ON NH-552 EXTENDED	BHIND	REGULAR	150	OPEN PH	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
858	WITHIN 2 KM FROM 2ND BATALLION IOC PETROL PUMP IN KAMPOO ,GWALIOR CITY	GWALIOR	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
859	ON LHS TOWARDS BETUL BETWEEN BETUL OIL & FLOURS FACTORY AND VASANT PETROL PUMP (INDIAN OIL) ON ITARASI ROAD BETUL	BETUL	REGULAR	100	OPEN	СС	30	30	900	25	10	BIDDING	30	5
860	BETWEEN KHERA GAON AND BADA GAON ON MORENA AMBAH ROAD ON NH-552 EXTENDED	MORENA	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
861	ON BHOPAL BERASIA SECTION ON SH 23, WITHIN 5 KM FROM EINT KHEDI VILLAGE	BHOPAL	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
862	WITHIN 10 KM FROM GOHAD CHAURAHA ON NH-719, ON RHS FROM GWALIOR TO BHIND	BHIND	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
863	BHOPAL VIDISHA ROAD WITHIN BHOPAL MUNICIPAL LIMIT	BHOPAL	REGULAR	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
864	FROM ABHIKARAN HONDA ON JK ROAD, UPTO AYODHYA BYPASS ROAD THROUGH BHARAT NAGAR	BHOPAL	REGULAR	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
865	NEAR MAGARDOH ON NH 46, BETWEEN KM STONE NO 97 TO KM STONE 101 ON NH 69, RHS TOWARDS NAGPUR	BETUL	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
866	WITHIN 3 KM FROM PORSA TIRAHAON NH-552 EXTENDED	MORENA	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
867	NEW KOLAR- MANDIDEEP BYPASS	BHOPAL	REGULAR	150	OPEN	CC	25	25	625	25	10	BIDDING	30	5
868	WITHIN 1 KM FROM PHOOLBAGH CHAURAHA ON LAXMI BAI ROAD	GWALIOR	REGULAR	150	OPEN CC 1	DC	25	25	625	25	60	DRAW OF LOTS	15	5
869	UPTO 3 KM FROM JHIRNIYA VILLAGE (TEHSIL BERASIA) TOWARDS BHOPAL LHS ON NH 12	BHOPAL	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
870	WITHIN 3 KM FROM IOC PETROL PUMP INDIAN FUELS ON NH-44, ON RHS FROM GWALIOR TO MORENA	MORENA	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
871	WITHIN 5 KM FROM VILLAGE JETPURA ON SH-23 ON LHS TOWARDS BERASIA	BHOPAL	REGULAR	100	OPEN	СС	35	35	1225	25	10	BIDDING	30	5
872	WITHIN 1.5 KM FROM SPRING VALLEY COLONY, BARRAI KATARA ROAD	BHOPAL	REGULAR	150	OPEN	СС	25	25	625	25	10	BIDDING	30	5
873	WITHIN 2 KM FROM NEPRI BRIDGE ON NH-552 EXTENDED	MORENA	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4

874	FROM POLICE HEADQUARTERS UPTO JINSI CHAURAHA VIA EXTOL COLLEGE TIRAHA	BHOPAL	REGULAR	150	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
875	BETWEEN BHANPUR CHOURAHA TO BPCL SAI PREET PETROL PUMP, CHOPDA KALAN	BHOPAL	REGULAR	150	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
876	FROM NEW BHOPAL BYPASS AND VIDISHA ROAD CROSSING TO VILLAGE BHADBADA ON VIDISHA ROAD	BHOPAL	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
877	WITHIN 3 KM FROM GOHAD CHAURAHA ON NH 719, ON RHS FROM GWALIOR TO BHIND	BHIND	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
878	MULTAI BYPASS BETWEEN PAREGAON & KAMATH ON RHS ON NH-47, TOWARSDS NAGPUR	BETUL	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
879	WITHIN 0.5 KM FROM DMART ,KOLAR ROAD,BHOPAL	BHOPAL	REGULAR	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
880	WITHIN 1 KM FROM IMPERIAL SABRE HOTEL GATE ON EITHER SIDE OF VIP ROAD	BHOPAL	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
881	ON NH-52 AT UKAWATA VILLAGE TOWARDS SARANGPUR ON LHS	SHAJAPUR	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
882	SAKETNAGAR ,BHOPAL CITY	BHOPAL	REGULAR	150	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
883	WITHIN 1 KM ON EITHER SIDE FROM DHRONACHAL SUDARSHAN CHAKRA CORP GATE ON LALGHATI ROAD ,SINGALCHOLI	BHOPAL	REGULAR	150	OPEN	CC	20	25	500	25	10	BIDDING	30	5
884	ON BHOPAL NEW BYPASS ,WITHIN 2 KM FROM NEW TRANSPORT NAGAR ADJOINING B SECTOR	BHOPAL	REGULAR	150	OBC	СС	35	45	1575	25	10	BIDDING	30	4
885	WITHIN 2 KMS FROM SCHOOL HOLY FAMILY GANDHINAGAR ON GANDHINAGAR MAIN ROAD	BHOPAL	REGULAR	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
886	WITHIN 1 KM FROM TAKSHILA COLLEGE ON BERASIA ROAD	BHOPAL	REGULAR	150	OPEN	DC	20	30	600	25	60	DRAW OF LOTS	15	5
887	EITHER SIDE WITHIN 1 KM FROM PRATAP TALKIES ON NH 47	HARDA	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
888	EITHER SIDE WITHIN 1 KM FROM BILKHIRIYA THANA ON NH-146 (WITHIN BHOPAL DISTRICT)	BHOPAL	REGULAR	150	OBC	CC	40	45	1800	25	10	BIDDING	30	4
889	WITHIN 1 KM FROM VIDYASAGAR INSTITUTE AWADHPURI TOWARDS BDA ROAD	BHOPAL	REGULAR	150	OPEN	DC	30	20	600	25	60	DRAW OF LOTS	15	5
890	WITHIN 1.5 KM FROM MPRDC TOLL BOOTH, 11 MILE BYPASS	BHOPAL	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
891	WITHIN MUNICIPAL LIMIT ,BERASIA	BHOPAL	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
892	ON AYODHYA BYPASS ROAD,WITHIN 0.5 KM FROM VRINDAVAN NAGAR ENTRANCE BOARD, ON LHS TOWARDS RATNAGIRI TIRAHA	BHOPAL	REGULAR	150	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
893	EITHER SIDE WITHIN 1 KM FROM KALIYASOT FLYOVER ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH-12)	BHOPAL	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
894	PORSA ON NH-552 EXTENDED WITHIN 2.5 KM FROM ATER ROAD JUNCTION	MORENA	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
895	BETWEEN KM STONE 24 TO KM STONE 28 ON KHEDI- GUDGAON ROAD (SH 43)	BETUL	REGULAR	100	OBC	DC	20	30	600	25	45	DRAW OF LOTS	15	4
896	KHUJNER TOWN WML	RAJGARH	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
897	UPTO 5 KM ON LHS, FROM PHANDA TOLL NAKA TOWARDS BHOPAL CITY ON SH-18	BHOPAL	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
898	WITHIN 3.5 KM FROM DRM OFFICE TOWARDS AWADHPURI POLICE STATION ON RHS	BHOPAL	REGULAR	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5

		[[1						
	WITHIN 10 KM FROM THE JUNCTION OF NEW GWALIOR													
899	BYPASS (RAIRU END) ON AB ROAD TOWARDS MORENA ON	MORENA	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
	NH 44													
900	NEAR KERPANI ON SH-43,BETWEEN KM STONE 5 TO KM	BETUL	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
700	STONE 10 ON KHEDI-GUDGAON ROAD	DETOE	REGOLAR	100	50	015	55	55	1225	0	0	DIAW OF LOTS	0	5
901	VILLAGE PACHAMA ON OLD SEHORE BHOPAL ROAD	SEHORE	REGULAR	100	OPEN	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
000	WITHIN 2 KMS FROM BPCL PETROL PUMP (MAHENDRA	DUODAL		150	ODEN	00	25	25	()5	25	10		20	
902	FUEL POINT) IN BAWADIYAKALAN	BHOPAL	REGULAR	150	OPEN	CC	25	25	625	25	10	BIDDING	30	5
	WITHIN 2 KM FROM BPCL PETROL PUMP (SMART CITY													
903	FUEL), TOWARDS BAIRAGARH ON LHS, HALALPURA	BHOPAL	REGULAR	150	OBC	DC	30	30	900	25	60	DRAW OF LOTS	15	4
	WITHIN 12 KM FROM BERASIA CHOURAHA ON SH-23													
904	(BHOPAL BERASIA ROAD)	BHOPAL	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
905	KALAPANI ,KOLAR ROAD,BHOPAL	BHOPAL	REGULAR	150	ST CC 1	CFS	2E	25	625	0	0	DRAW OF LOTS	0	3
-		-					25			-	-		-	5
906	VILLAGE MIHONA, MIHONA LAHAR ROAD ON SH-45	BHIND	REGULAR	100	OPEN CC 2	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
907	MANIT CHOURAHA TO BHADBHADA CHAURAHA VIA LINK	BHOPAL	REGULAR	150	OBC CC 1	СС	20	30	600	25	10	BIDDING	30	4
	ROAD NUMBER 3									-	-			-
	ON EITHER SIDE OF JK ROAD , BHOPAL CITY	BHOPAL	REGULAR	150	OPEN	DC	25	20	500	25	60	DRAW OF LOTS	15	5
909	IN SHEOPUR WITH IN MUNICIPAL LIMIT	SHEOPUR	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
010	BETWEEN SATRANA VILLAGE TO RAMGARHA VILLAGE ON	SELLODE		100	ODC		25	25	1005	25	(0		1	4
910	SH-22	SEHORE	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
	WITHIN 2 KM FROM AMER GREEN EITHER SIDE TOWARDS													_
911	HOSHANGABAD .	BHOPAL	REGULAR	150	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
912	WITHIN KRISHI UPAJ MANDI ,BHAISAKHEDI, BHOPAL	BHOPAL	REGULAR	150	OPEN	DC	25	35	875	25	60	DRAW OF LOTS	15	5
	EITHER SIDE ON BIAORA BYPASS	RAJGARH	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
	EITHER SIDE ON BIAORA BIFASS EITHER SIDE AT KATARIA KHEDI VILLAGE ON NH-52	RAJGARH		150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
914		RAJGARH	REGULAR	150	30	CL2	40	40	1800	0	0	DRAW OF LOTS	0	3
915	WITHIN 2 KM FROM JCB SHOWROOM MISROD , ON EITHER	BHOPAL	REGULAR	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
	SIDE ON BHOPAL-MANDIDEEP ROAD													
916	WITHIN 1.5 KM FROM HDFC BANK BAGMUGALIA BRANCH	BHOPAL	REGULAR	150	OPEN	DC	20	25	500	25	60	DRAW OF LOTS	15	5
710	ON 80 FEET CPA ROAD	DITOTAL	REGOLAR	100	OFER	DU	20	25	500	20	00	DIVINI OF LOTS	10	5
917	WITHIN MUNICIPAL LIMIT FROM LALGHATI SQUARE TO	BHOPAL	REGULAR	150	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
917	PHANDA TOLL ,KHAJURI SADAK	DHUPAL	REGULAR	150	UBC	DC	20	20	020	20	00	DRAW OF LOTS	15	4
918	WITHIN SARANGPUR CITY (NOT ON NH)	RAJGARH	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
	· · · · · · · · · · · · · · · · · · ·													
919	WITHIN 2 KMS FROM 11 MILE JUNCTION TOWARDS IOCL	BHOPAL	REGULAR	150	OPEN	DC	30	30	900	25	60	DRAW OF LOTS	15	5
	BOTTLING PLANT ON EITHER SIDE OF ROAD , BAKANIA	51101712		100	0. 2.1	20			,	20				0
920	WITHIN 3 KM FROM BPC PETROL PUMP DELUX FILLING			150	OPEN CC 1	DC	40	45	1000	25	75		15	5
920	CENTER TOWARDS ATER ROAD ON NH-552 EXTENDED	BHIND	REGULAR	150	OPEN CC T	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
	WITHIN 5 KM FROM HPCL PETROL PUMP SIYARAM FILL &													
921	FLY ,BADERWAS ON LHS TOWARDS SHIVPURI ON NH-46	SHIVPURI	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
	TET, BADERWAS ON ETIS TOWARDS STITT ORI ON NIT-40													
000				150	ST	CFS	40	45	1000	0	0		0	n
922	RHS ON NH-46 TOWARDS BIAORA AT CHARPURA VILLAGE	RAJGARH	REGULAR	150	31	012	40	45	1800	0	0	DRAW OF LOTS	0	3
0.55	WITHIN 2 KM FROM RAJ HIEGHTS SCHOOL TOWARDS	DUIGEN	DE01	4	0.5.5.1	5.2			10.55	0-		DDA14/07/07	4-	
923	OBAIDULLAGANJ ON RHS ,SIMRAI (OLD NH 12)	BHOPAL	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
924	WITHIN 3 KM FROM GOLE KA MANDIR CHAURAHA	GWALIOR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
		ASHOKNAG									50			5
925	WITHIN 2 KM FROM ASHOKNAGAR NEW COURT ON SH-20	ASHOKNAG	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
	3 KMS FROM NAHAR SPINNING MILLS TOWARDS	717			+									
00/		DAICEN		150		DC	40	45	1000	25	75		15	_
926	OBAIDULLAGANJ LHS, ON BHOPAL JABALPUR SECTION OF	RAISEN	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
	NATIONAL HIGHWAY (OLD NH12)													

927	EITHER SIDE WITHIN 5 KM FROM SIRSAUD CHOURHAHA	SHIVPURI	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
928	WITHIN 6 KMS FROM IOCL PETROL PUMP IN BINEKA TOWARDS BHOPAL ON RHS , ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH12)	RAISEN	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
929	ON NH-46 FROM DORAHA JOD TO SONKATCHH ON LHS	SEHORE	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
930	WITHIN MANDIDEEP INDUSTRIAL AREA (SITE DESIGNATED FOR PETROL PUMP)	RAISEN	REGULAR	100	OPEN	CC	25	25	625	25	10	BIDDING	30	5
931	WITHIN 3 KM FROM SEONDHA BUS STAND TOWARDS MAU ON SH-19 (SEONDHA -MEHAGAON ROAD)	DATIA	REGULAR	100	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
932	WITHIN NAGAR PANCHAYAT LIMIT OF POHRI	SHIVPURI	REGULAR	100	OBC PH	DC	25	25	625	25	45	DRAW OF LOTS	15	4
933	WITHIN 2 KM FROM KAROND CHOURAHA TOWARDS AIRPORT ROAD ON RHS	BHOPAL	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
934	LHS ON SH-53 WITHIN 2.5 KM FROM SEHORE CHAURAHA AT NASARULLAGANJ	SEHORE	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
935	WITHIN 10 KM FROM HPCL PETROL PUMP AGRAWAL FUEL STATION ON GUNA SHIVPURI HIGHWAY	SHIVPURI	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
936	WITHIN SARANGPUR CITY ON SHAJAPUR-PACHORE MAIN ROAD	RAJGARH	REGULAR	100	ST	CFS	20	25	500	0	0	DRAW OF LOTS	0	3
937	WITHIN 5 KM FROM MUBARAKPUR CIRCLE ON BHOPAL NARSINGHGARH SECTION OF NATIONAL HIGHWAY (OLD NH 12)	BHOPAL	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
938	BETWEEN CHARBATTI CHOURAHA AND ITWARA CHOURAHA,FISH MARKET ROAD.	BHOPAL	REGULAR	150	OPEN	СС	20	25	500	25	10	BIDDING	30	5
939	WITHIN 5 KM FROM SATANWADA -NARWAR TIRAHA ON NH 46 ON LHS TOWARDS SHIVPURI	SHIVPURI	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
940	FROM TEHSIL CHAURAHA TO SEHORE MANDI IN SEHORE TOWN	SEHORE	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
941	ON BHOPAL BYPASS, AT VILLAGE GONDARMAU	BHOPAL	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
942	BETWEEN KM STONE 46 AND 48 ,LHS ON SH 23 TOWARDS SHAMSHABAD,AT OR NEAR VILLAGE AMARPUR	BHOPAL	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
943	BETWEEN KM STONE 11 TO 13,ON SH 23 , AT OR NEAR VILLAGE HARRAKHEDA .	BHOPAL	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
944	WITHIN 5 KM FROM SHIVPURI BUS STAND ON SHIVPURI POHARI ROAD (SH-6)	SHIVPURI	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
945	EITHER SIDE OF NH-46 WITHIN 6 KM FROM HPCL PETROL PUMP AT RUTHIYAI INCLUDING NEW RUTHIYAI BYPASS(NOT IN OLD RUTHIYAI CITY ROAD)	GUNA	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
946	WITHIN 5 KM FROM RAJ VILLAS HOTEL AT GUNA	GUNA	REGULAR	100	OPEN CC 1	CC	20	20	400	25	10	BIDDING	30	5
947	WITHIN 5 KM FROM GUNA BYPASS TOLL ON LHS TOWARDS RUTHIYAI (NOT INCLUDING 1 KM FROM TOLL) ON NH-46	GUNA	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
948	BETWEEN NARELA SHANKARI CHOURAHA TO AYODHYA NAGAR CHOURAHA, AYODHYA BYPASS ROAD.	BHOPAL	REGULAR	150	OPEN	СС	25	25	625	25	10	BIDDING	30	5
949	ON NH-46 WITHIN 3 KM FROM SAKSHI COLLEGE AT MIANA	GUNA	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3

	EITHER SIDE BETWEEN KM STONE NO 284 TO 289 ON													
950	BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD	RAISEN	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
	NH12)													
	WITHIN 5 KM FROM THE MILESTONE "BHADORA 9 KM"													
951	ON GUNA -SHIVPURI HIGHWAY NH-46 ON LHS TOWARDS	GUNA	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
050	AT OR NEAR ALAMPUR TOLA SAMNAPURA KALAN ON			150		DC	10	45	1000	25	75		15	-
952	BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH12)	RAISEN	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
	JAHANGIRABAD SQUARE TO BARKHEDI PHATAK,ON													
953	BARKHEDI MAIN ROAD	BHOPAL	REGULAR	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
054	BETWEEN SHEOPUR AND SAVAI MADHOPUR ON SHEOPUR			100	CT CC 1	CEC.	25	25	1005	0	0		0	2
954	PALI ROAD (SH-6)	SHEOPUR	REGULAR	100	ST CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
955	WITHIN NAGAR PANCHAYAT LIMIT OF ISHAGARH	ASHOKNAG	REGULAR	100	OBC CC 1	DC	25	25	625	25	45	DRAW OF LOTS	15	4
/00		AR	REGOLAR	100	000001	DU	20	20	025	20	-10	DRAW OF LOTS	10	
956	WITHIN 3 KM FROM ASHTA BYPASS CHAUPATI, ON	SEHORE	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
957	SHUJALPUR ROAD (SH-41) VILLAGE HIRAPURA HAT, TOWARDS SONI ON SH-19	BHIND	REGULAR	100	OPEN PH	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
_	LHS ON NH-52 WITHIN 2 KM FROM ABHAYPUR BSNL								1					
958	TELEPHONE EXCHANGE TOWARDS SUNERA	SHAJAPUR	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
959	LHS ON SH-18 FROM MEHATWARA TO JAWAR	SEHORE	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
960	ASHTA TOWN ON KANNOD ROAD WITHIN MUNICIPAL	SEHORE	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
	LIMITS												10	5
961	ON SH-22 FROM SOYAT TO REHTI	SEHORE	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
962	VILLAGE RAMPUR ON ARON SIRONJ ROAD (SH-23)	GUNA	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
963	BETWEEN KM STONE NO 69 AND KM STONE NO 72 ON SH-	SEHORE		100	OPEN	DC	35	35	1225	25	(0		15	5
903	18 ON RHS AT BEDAKHEDI VILLAGE TOWARDS INDORE	SEHOKE	REGULAR	100	OPEN	DC	30	30	1225	20	60	DRAW OF LOTS	15	Э
	BHOPAL-RATIBAD ROAD WITHIN BHOPAL MUNICIPAL													
964	LIMIT	BHOPAL	REGULAR	150	OPEN	DC	20	25	500	25	60	DRAW OF LOTS	15	5
965	FROM BAKHTARA TO MACHHWAI ON SH-15	SEHORE	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
966	WITHIN 5 KM FROM BHOGIKA CROSSING ON SHEOPUR -	SHEOPUR	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
700	PALI ROAD ON SH-6		REGOLAR	100	ODC	DC	33	55	1225	23	00	DRAW OF LOTS	15	4
967	WITHIN 2 KM FROM SHADORA POLICE STATION	ASHOKNAG	REGULAR	100	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
0/0		AR		100	ODEN	00	25	25		25	10		20	
968	IN SHIVPURI WITHIN MUNICIPAL LIMIT	SHIVPURI	REGULAR	100	OPEN	CC	25	25	625	25	10	BIDDING	30	5
969	WITHIN NAGAR PANCHAYAT LIMIT OF MAKSOODANGARH	GUNA	REGULAR	100	OPEN CC 1	DC	25	25	625	25	45	DRAW OF LOTS	15	5
970	WITHIN NAGAR PANCHAYAT LIMIT OF RAOGARH	GUNA	REGULAR	100	OBC	CC	25	25	625	25	10	BIDDING	30	4
	BETWEEN VEERPUR AND GORAS TIRAHA ON PROPOSED													
971	ON NH 552 EXTENSION (OLD GORAS VEERPUR ROAD SH-	SHEOPUR	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
	23)													
972	ON NH-52 AT CHATRU KHEDI VILLAGE BETWEEN MAU	RAJGARH	REGULAR	150	OPEN	СС	40	45	1800	25	10	BIDDING	30	5
,,,,	AND SARANGPUR ON LHS		NEODERIN				~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~	10		20		Diddinio		, j
973	WITHIN 5 KM FROM ARYAVRAT TOLL PLAZA ON GUNA	GUNA	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
<u> </u>	ASHOKNAGAR ROAD	ASHOKNAG												
974	IN ASHOKNAGAR WITHIN MUNICIPAL LIMIT	ASHOKNAG	REGULAR	100	OPEN	CC	20	20	400	25	10	BIDDING	30	5
975	IN DATIA WITHIN MUNICIPAL LIMIT	DATIA	REGULAR	100	OPEN	CC	20	20	400	25	10	BIDDING	30	5
976	VILLAGE DHANELI ON NH-44	GWALIOR	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3

977	WITHIN 2 KMS FROM R P TRADERS BAGROD TOWARDS GONDKHEDI PATHAR ON RHS (NH-146)	VIDISHA	REGULAR	150	OBC	CC	40	45	1800	25	10	BIDDING	30	4
978	ON LHS TOWARDS GWALIOR ON NEW SHIVPURI FOURLANE BYPASS	SHIVPURI	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
979	CHANAKYAPURI IN SEHORE CITY ON OLD BHOPAL ROAD	SEHORE	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
980	CHANDPUR KALAN ON SH-44	RAISEN	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
981	VILLAGE KAMTON ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH 12)	RAISEN	REGULAR	150	OBC	CC	40	45	1800	25	10	BIDDING	30	4
982	WITHIN 3 KM FROM RELIANCE PETROL PUMP AT SHIVPURI DISTRICT ON RHS TOWARDS SHIVPURI ON SHIVPURI NATIONAL HIGHWAY (NH-46)	SHIVPURI	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
983	LHS ON NH-52 FROM SUNERA TO MAJHANIA	SHAJAPUR	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
984	SIRONJ WML	VIDISHA	REGULAR	100	OBC	CC	25	25	625	25	10	BIDDING	30	4
985	WITHIN 5 KM FROM MEHRA TOLL PLAZA, LEAVING 1 KM FROM MEHRA TOLL PLAZA ON NH 44	GWALIOR	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
986	WITHIN NAGAR PANCHAYAT LIMIT OF SEWDA	DATIA	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
987	VILLAGE GUPALIYA ON ASHOKNAGAR -VIDISHA ROAD	ASHOKNAG AR	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
988	BAMHORI BHURWARI ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH-12)	RAISEN	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
989	FROM OLD HOUSING BOARD COLONY TO SDOP OFFICE ON OLD STATION ROAD IN AGAR CITY	AGAR MALWA	REGULAR	100	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
990	WITHIN 2 KM FROM VADON POLICE CHOWKI TOWARDS VIDISHA ON LHS ON ASHOKNAGAR -VIDISHA ROAD	ASHOKNAG AR	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
991	LHS ON NH-52 AT GULKHEDI KALA VILLAGE TOWARDS SARANGPUR	RAJGARH	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
992	SILARI KALAN ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH-12)	RAISEN	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
993	VILLAGE SHARI ON MUNGAOLI-CHANDERI ROAD (SH-19)	ASHOKNAG AR	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
994	VILLAGE GHATIGAON ,ON LHS SHIVPURI TO GWALIOR ON NH-46	GWALIOR	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
995	VILLAGE DHAKNA CHAPNA ON NH146	RAISEN	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
996	WITHIN 2 KM FROM SBI BANK IN MALANPUR ON NH 719	BHIND	REGULAR	100	OPEN CC 1	DC	40	45	1800	25	45	DRAW OF LOTS	15	5
997	WITHIN 2 KM FROM MILE STONE "MIANA 10 KM" ON NH-46	GUNA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
998	MAHARAJPURA,ON LHS FROM GOLE KA MANDIR TO MAHARAJPURA	GWALIOR	REGULAR	150	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
999	BAGASPUR ON BHOPAL JABALPUR SECTION OF NATIONAL HIGHWAY (OLD NH-12)	RAISEN	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1000	VILLAGE BAMORIKALAN WITHIN 5 KM FROM ESSAR PETROL PUMP JAINAM FUEL STATION AT BAMORIKALAN ON SH-19	SHIVPURI	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1001	VILLAGE BHONTI TEHSIL PICCHORE ON BHONTI -PICCHORE ROAD SH-19	SHIVPURI	REGULAR	100	OPEN	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1002	VILLAGE JAURA ON NH-552 EXTENDED	MORENA	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1003	WITHIN 3 KM FROM SASUNDRA CHECK POST ON NH 47	BETUL	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4

												•		
1004	WITHIN 5 KM OF 29TH BATALLION HEAD OFFICE ON DATIA -GWALIOR HIGHWAY ON NH 44 ON RHS TOWARDS GWALIOR	DATIA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1005	WITHIN 2 KM FROM BETUL TOLL NAKA TO MILANPUR ON NH-47	BETUL	REGULAR	150	OPEN CC 2	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1006	WITHIN 10 KM FROM HPCL PETROL PUMP SARVENDRA FILLING STATION ,KOLLARAS ON NH 46	SHIVPURI	REGULAR	150	OBC CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1007	WITHIN 5 KM FROM HPCL PETROL PUMP ANAND HIGHWAY AT MIANA ON LHS FROM GUNA TO SHIVPURI ON NH 46	GUNA	REGULAR	150	SC CC 1	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1008	WITHIN 5 KM FROM KOLLARAS NEW BYPASS OF JUNCTIONS EITHERSIDE (METING POINT OF NH AND OLD KOLLARAS ROAD), ON NH 46	SHIVPURI	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1009	ON EITHER SIDE WITHIN 6 KM ON NH 46 FROM BINAGANJ BYPASS JUNCTION, AT THE MEETING POINT OF NEW BINAGANJ BYPASS AND OLD BINAGANJ ROAD (NOT ON OLD BINAGANJ ROAD WHICH IS BYPASSED)	GUNA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1010	GAIRATGANJ WML	RAISEN	REGULAR	100	OBC	CC	25	25	625	25	10	BIDDING	30	4
1011	WTHIN NAGAR PALIKA LIMIT OF PICCHORE	SHIVPURI	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1012	WITHIN 2 KM FROM MILE STONE "GUNA 17 KM" ON NH 46	GUNA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1013	ON NEW GUNA SIRONJ BYPASS ON SH-23	GUNA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1014	WITHIN 5 KM FROM MAA PITAMBARA MANDIR AT DATIA	DATIA	REGULAR	100	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
1015	VILLAGE BHADORA ,DIST GUNA , ON EITHER SIDE OF GUNA -SHIVPURI HIGHWAY ON NH-46	GUNA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1016	WITHIN 5 KM FROM SHEOPUR POLICE STATION AT SHEOPUR	SHEOPUR	REGULAR	100	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1017	WITHIN 2 KM FROM MILE STONE "RUTHIYAI 9KM" ON LHS FROM GUNA TO RUTHIYAI ON NH-46	GUNA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1018	WITHIN 5 KM FROM GORAGHAT THANA ON DATIA - GWALIOR HIGHWAY (NH 44)	DATIA	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1019	WITH IN 5 KM FROM SHIVPURI HOME GUARD OFFICE ON SHIVPURI HIGHWAY	SHIVPURI	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1020	WITHIN 5 KM FROM NEW COLLECTRATE OFFICE AT GUNA	GUNA	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1021	WITHIN 5 KM FROM RELEIANCE PETROL PUMP AT ASHOKNAGAR	ASHOKNAG AR	REGULAR	100	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
1022	WITHIN 3 KM FROM ESSAR PUMP VPS PETROLEUM IN BADERWAS ,ON OPPOSITE SIDE , ON NH 46	SHIVPURI	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1023	GRAMPANCHAYAT KARAI ,SHIVPURI -JHANSI NATIONAL HIGHWAY ,ON NH-27	GUNA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1024	VILLAGE LUKWASA ,NH 46	SHIVPURI	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1025	EITHER SIDE ON NH-52 BETWEEN STONE NO 458 TO STONE NO 461	RAJGARH	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1026	WITHIN 5 KM FROM MILE STONE "PAGARA 7 KM" ON ASHOKNAGAR -GUNA ROAD ON SH-20	ASHOKNAG AR	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1027	WITHIN 5 KM FROM ASHOKNAGAR JAIL ON ASHOKNAGAR - ISHAGARH ROAD ON SH-20	ASHOKNAG AR	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5

1028	LHS NEAR KOSMI VILLAGE TOWARDS BETUL ON NH 47	BETUL	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1029	EITHER SIDE AT CHAPDA MAL WITHIN 2 KM NEAR SHAHPUR COLLEGE ON NH 46 (OLD NH 69)	BETUL	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1030	VILLAGE KHATORA ON DEHERDA -ISHAGARH ROAD ON SH- 10	SHIVPURI	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1031	RHS BETWEEN MUGISPUR TO RAFEEQGANJ ON OLD INDORE BHOPAL ROAD	SEHORE	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1032	NEAR CHORPANDRA ON SH-43, BETWEEN KM STONE 33 TO KM STONE 37 ON SARNI-BETUL ROAD	BETUL	REGULAR	100	OBC PH	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1033	BHOPAL SHYAMPUR ROAD WITHIN BHOPAL MUNICIPAL LIMIT	BHOPAL	REGULAR	150	ST PH	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1034	ON SH-53 WITHIN 2 KM FROM ICHHAWAR MANDI GATE TOWARDS BORDI	SEHORE	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1035	FROM PIPAL CHAURAHA TO BUS STAND IN BIAORA CITY	RAJGARH	REGULAR	100	OPEN	DC	20	25	500	25	45	DRAW OF LOTS	15	5
1036	NISHATPURA, ON AYODHYA BYPASS ROAD	BHOPAL	REGULAR	150	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1037	WITHIN SHUJALPUR TOWN FROM FREEGANJ TO TEHSIL OFFICE	SHAJAPUR	REGULAR	100	OPEN	DC	20	25	500	25	45	DRAW OF LOTS	15	5
1038	FROM KHUJNER TO SANDAWATA ON SH-51	RAJGARH	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1039	BETWEEN SEHORE RAILWAY GATE TO OXFORD SCHOOL	SEHORE	REGULAR	100	OPEN	DC	25	30	750	25	45	DRAW OF LOTS	15	5
1040	EITHER SIDE WITHIN 1 KM FROM HOTEL RESHAM RAO ON NH-146	BHOPAL	REGULAR	150	OBC	СС	35	45	1575	25	10	BIDDING	30	4
1041	FROM DHOBI CHAURAHA TO MAHUPURA CHAURAHA ON STATION ROAD IN SHAJAPUR CITY	SHAJAPUR	REGULAR	100	OPEN	СС	20	20	400	25	10	BIDDING	30	5
1042	BHOPAL RAISEN ROAD WITHIN MUNICIPAL LIMIT	BHOPAL	REGULAR	150	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1043	GRAM MANA ON BHOPAL RAISEN SECTION OF NH 146	RAISEN	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1044	WITHIN 2 KM ON NH-46 FROM KURAWAR BUS STAND ON RHS TOWARDS SHYAMPUR	RAJGARH	REGULAR	150	OPEN	CC	40	45	1800	25	10	BIDDING	30	5
1045	BHOPAL BERASIA ROAD WITHIN MUNICIPAL LIMIT	BHOPAL	REGULAR	150	OPEN CC 1	DC	30	30	900	25	60	DRAW OF LOTS	15	5
1046	UPTO 4 KM FROM RIL DEPOT TOWARDS NEW TRANSPORT NAGAR	BHOPAL	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1047	AT GOHARGANJ VILLAGE ON BHOPAL JABALPUR SECTION OF OLD NH 12	RAISEN	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1048	WITHIN 1 KM FROM LALGHATI POLICE STATION ON DUPADA ROAD IN SHAJAPUR CITY	SHAJAPUR	REGULAR	100	OPEN	CC	25	25	625	25	10	BIDDING	30	5
1049	LHS ON NH-52 FROM SUNERA TO ABHAYPUR TOWARDS SARANGPUR	SHAJAPUR	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1050	LHS ON NH-52 WITHIN 6 KM FROM PACHORE BUS STAND TOWARDS BIAORA	RAJGARH	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1051	RHS ON NH-52 WITHIN 6 KM FROM PACHORE BUS STAND TOWARDS BIAORA	RAJGARH	REGULAR	150	SC	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1052	LHS ON SH-18 BETWEEN MEHATWARA TO SEMLI VILLAGE TOWARDS SONKATCH	SEHORE	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1053	WITHIN SOYAT TOWN ON KOTA ROAD	AGAR MALWA	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1054	WITHIN SHUJALPUR TOWN ON AKODIA ROAD	SHAJAPUR	REGULAR	100	OPEN	DC	20	25	500	25	45	DRAW OF LOTS	15	5
1055	LHS ON NH-52 ON SARANGPUR BY-PASS TOWARDS SHAJAPUR	RAJGARH	REGULAR	150	OBC CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	4

1057	RHS ON NH-52 ON SARANGPUR BY-PASS TOWARDS			150	SC CC 1	CFS	40	45	1000	0	0		0	2
1056	SHAJAPUR	RAJGARH	REGULAR	150			40	45	1800	0	0	DRAW OF LOTS	0	3
1057	RAJGARH CITY WITHIN MUNICIPAL LIMITS	RAJGARH	REGULAR	100	OPEN PH	DC	20	25	500	25	45	DRAW OF LOTS	15	5
1058	WITHIN 1.5 KM FROM AKODIA BUS STAND ON AKODIA SARANGPUR ROAD	SHAJAPUR	REGULAR	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
1059	LHS ON NH-46 FROM KURAWAR TO PILUKHEDI TOWARDS SHYAMPUR	RAJGARH	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1060	WITHIN 1 KM FROM KURAWAR MANDI GATE IN KURAWAR TOWN ON KALAPIPAL ROAD	RAJGARH	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1061	WITHIN 2 KM ON BERCHHA ROAD FROM TANKI CHAURHA IN SHAJAPUR CITY	SHAJAPUR	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1062	EITHER SIDE ON SHAJAPUR BYPASS	SHAJAPUR	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1063	RHS FROM SHYAMPUR TO BARLI ON NH-46 TOWARDS BIAORA	SEHORE	REGULAR	150	OPEN	СС	40	45	1800	25	10	BIDDING	30	5
1064	BETWEEN BETUL OIL & FLOURS LTD AND GOVT.H.S.SCHOOL, SADAR, BETUL	BETUL	REGULAR	100	OPEN	СС	25	25	625	25	10	BIDDING	30	5
1065	WITHIN SEHORE TOWN ON SEKDAKHEDI ROAD	SEHORE	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1066	RHS ON SH-18 FROM ITC CHOURAHA TO TAKIPUR TOWARDS BHOPAL	SEHORE	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1067	EITHER SIDE ON NH 46 (PROPOSED) FROM JARRAPUR TO BAGWADA	SEHORE	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1068	SUSNER TOWN ON INDORE KOTA ROAD	AGAR MALWA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1069	WITHIN NAGAR PANCHAYAT LIMIT OF CHACHURA	GUNA	REGULAR	100	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1070	WITHIN NAGAR PANCHAYAT LIMIT OF KHANIYADHANA	SHIVPURI	REGULAR	100	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
1071	BETWEEN MILE STONE "POHRI 11 KM" TO MILE STONE "POHRI 9 KM" ON POHRI SHIVPURI STATE HIGHWAY (SH- 6)	SHIVPURI	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1072	WITHIN NAGAR PANCHAYAT LIMIT OF AARON	GUNA	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1073	WITHIN NAGAR PANCHAYAT LIMIT OF BAMORI	GUNA	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1074	NEAR GOUTHANA ON SH43 KM STONE NO 00-03 (ON SARNI-BETUL ROAD)	BETUL	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1075	WITHIN 1 KM RADIUS OF G P MALL WITHIN WML HARDA	HARDA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1076	BETWEEN KM STONE NO 28 TO KM STONE NO 31 ON SH- 43 (ON KHEDI-GUDGAON ROAD)	BETUL	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1077	MULTAI TO KHEDLI BAJAR DECLARED SH	BETUL	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1078	WITHIN 3 KM FROM IOC POLICE PETROL PUMP ON NH 719	BHIND	REGULAR	150	ST	CFS	40	45	1800	0	0	DRAW OF LOTS	0	3
1079	WITHIN 5 KM FROM BAHODAPUR POLICE THANA TOWARDS RAIRU	GWALIOR	REGULAR	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1080	BETWEEN BAMORE AND NURABAD ,ON LHS FROM GWALIOR TO MORENA	MORENA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1081	BETWEEN GOLE KA MANDIR CHAURAHA AND GADAIPURA	GWALIOR	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1082	SHATABDIPURAM, MAIN ROAD 60 FEET, GWALIOR CITY	GWALIOR	REGULAR	150	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1083	BETUL WML	BETUL	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1084	WITHIN 6 KM FROM HARDA RAILWAY FATAK TOWARDS HOSHANGABAD ON NH47 (OLD NH 59 A)	HARDA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5

1085	NEAR SONKHEDI, BETWEEN KM STONE 171 TO KM STONE 175 ON SH-15	HOSHANGA BAD	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1086	WITHIN 2 KM FROM "NARMADA APNA HOSPITAL" TOWARDS HARDA	HOSHANGA BAD	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1087	NEAR BACHWANI, BETWEEN KM STONE 168 TO KM STONE 171 ON SH-22		REGULAR	100	ST CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1088		HOSHANGA BAD	REGULAR	100	OPEN CC 2	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1089		HOSHANGA BAD	REGULAR	100	OBC CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1090	NEAR NIMSADIYA, BETWEEN KM STONE 245 TO KM STONE 248 ON SH-22		REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1091	NEAR RAJOLA, BETWEEN KM STONE NO 180 TO KM STONE 184 NEAR PIPARIYA		REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1092	SHUJALPUR TOWN ON PACHORE ROAD (WML)	SHAJAPUR	REGULAR	100	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
1093	ON LHS ON SH-18 FROM SEHORE BYPASS AT ITC CHAURAHA TO TAKIPUR TOWARDS BHOPAL	SEHORE	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1094	WITHIN ASHTA TOWN FROM BUS STAND TO RELIANCE PETROL PUMP	SEHORE	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1095	LHS ON SH-18 TOWARDS ASHTA BETWEEN LASUDIYA KHAS TO KOTHRI	SEHORE	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1096	LHS ON SH-18 TOWARDS SONKATCHH BETWEEN DODI TO MEHATWARA	SEHORE	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1097	LHS ON SH-18 FROM SEMLI TO MEHATWARA	SEHORE	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1098	LHS ON SH-18 FROM MALIPURA TO CHANCHARSI TOWARDS INDORE	SEHORE	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1099	WITHIN 3 KMS FROM SHAHGANJ TIRAHA TOWARDS BAKHTARA ON SH-15	SEHORE	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1100	ON RHS ON SH-18 FROM MALIPURA TO CHANCHARSI TOWARDS INDORE	SEHORE	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1101	WITHIN 3 KM FROM RAILWAY CROSSING ON SHEOPUR BYPASS ROAD	SHEOPUR	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1102	ON RHS TOWARDS GWALIOR ON NEW SHIVPURI FOUR LANE BYPASS	SHIVPURI	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1103	WITHIN NAGAR PANCHAYAT LIMIT OF KUMBHRAJ	GUNA	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1104	VILLAGE MANPURA TEHSIL PICCHORE ON MANPURA - PICCHORE ROAD SH-19	SHIVPURI	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1105	HARDA WML	HARDA	REGULAR	150	OPEN	CC	20	20	400	25	10	BIDDING	30	5
1106	BETWEEN KM STONE 79 TO KM STONE 81 NEAR CHIPAWAD ON SH-15	HARDA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1107	WITHIN NAGAR PANCHAYAT LIMIT OF INDERGARGH	DATIA	REGULAR	100	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
1108	WITHIN 10 KM FROM BPCL PETROL PUMP AT TEHENTA ON NH 46	SHIVPURI	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1109	NEW MARKET ,BHOPAL	BHOPAL	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1110	WITHIN NAGARPANCHAYAT LIMIT OF NARWAR	SHIVPURI	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1111	WITHIN NAGARPANCHAYAT LIMIT OF KOLARAS	SHIVPURI	REGULAR	100	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
1112	ON BHOPAL LINK ROAD NO 4 (PROPOSED) ,CHUNNA BHATTI TO HOSHANGABAD ROAD ,TEHSIL HUZUR	BHOPAL	REGULAR	150	OPEN	DC	25	25	625	25	60	DRAW OF LOTS	15	5
1113	HAMIDIA ROAD ,BHOPAL	BHOPAL	REGULAR	150	SC PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1114	WITHIN 5 KM FROM BHEL GATE NO 6	BHOPAL	REGULAR	150	OBC PH	DC	25	25	625	25	60	DRAW OF LOTS	15	4

1115	WITHIN NAGARPANCHAYAT LIMIT OF CHANDERI	ASHOKNAG AR	REGULAR	100	OPEN	СС	25	25	625	25	10	BIDDING	30	5
1116	WITHIN NAGARPANCHAYAT LIMIT OF MUNGAOLI	ASHOKNAG AR	REGULAR	100	OPEN	СС	25	25	625	25	10	BIDDING	30	5
1117	WITHIN 10 KM FROM DATIA RAILWAY STATION ON SH -19	DATIA	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1118	WITHIN 5 KM FROM IOCL PETROL PUMP M.B SALES ON GUNA -FATEGARGH ROAD (SH-23)	GUNA	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1119	WITHIN NAGARPANCHAYAT LIMIT OF BHANDER	DATIA	REGULAR	100	OPEN	CC	25	25	625	25	10	BIDDING	30	5
1120	IN GUNA WITHIN MUNICIPAL LIMIT	GUNA	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1121	WITHIN 5 KM FROM BHADBHADA ROAD POLICE STATION	BHOPAL	REGULAR	150	OBC	СС	25	25	625	25	10	BIDDING	30	4
1122	WITHIN NAGAR PANCHAYAT LIMIT OF KARAHAL	SHEOPUR	REGULAR	100	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1123	WITHIN 5 KM FROM ISHARGARGH TOLL ON ASHOKNAGAR -ISJARGARGH ROAD	ASHOKNAG AR	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
1124	VILLAGE BENHTAGHAT ON GUNA ASHOKNAGAR ROAD ON SH-20	GUNA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1125	EITHERSIDE ON NH-46 ON GUNA BYPASS (A.B ROAD)	GUNA	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1126	ON DATIA UNAO ROAD ,WITHIN 5 KM FROM ESSAR PETROL PUMP AT DATIA	DATIA	REGULAR	100	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
1127	WITHIN NAGAR PANCHAYAT LIMIT OF BADODA	SHEOPUR	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1128	WITHIN 10 KM FROM BPCL PETROL PUMP ON SHIVPURI - JHANSI HIGHWAY ON NH 27	SHIVPURI	REGULAR	150	OPEN CC 1	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1129	WITHIN 3 KM FROM NAYA CHOURAHA ON SH -19	SHIVPURI	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1130	VILLAGE SUJAKHEDI ,ON GUNA FATEGARGH ROAD (SH-23)	GUNA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1131	WITHIN 5 KM FROM CLOSED HPCL OUTLET HP AUTO CENTRE-ASHOKNAGAR TOWARDS ASHOKNAGAR ON SH 20	ASHOKNAG AR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1132	WITHIN 5 KM FROM HPCL CLOSED OUTLET HP AUTO CENTRE ASHOKNANAGR TOWARDS GUNA ON SH 20	ASHOKNAG AR	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1133	WITHIN 2 KM FROM MILE STONE "BETUL 100 KM "ON NH 46	RAJGARH	REGULAR	150	OBC	DC	40	45	1800	25	75	DRAW OF LOTS	15	4
1134	WITHIN 2 KM FROM MILE STONE "BETUL 300 KM "ON NH 46	RAJGARH	REGULAR	150	OPEN	DC	40	45	1800	25	75	DRAW OF LOTS	15	5
1135	SH-27 (INDORE-KHANDWA ROAD), VILLAGE GOKANYA, LHS TOWARDS KHANDWA	INDORE	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1136	SH-31, VILLAGE ANARAD	DHAR	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1137	SH-18, BETWEEN KM STONE 129 AND 135 ON SH-18 (BHOPAL-DEWAS 4-LANE), LEFT HAND SIDE TOWARDS BHOPAL	DEWAS	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1138	NH-3, RHS TOWARDS MUMBAI BETWEEN KM STONE 139 & 142	BARWANI	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1139	TUKAITHAD,WITHIN 2 KM FROM RAILWAY CROSSING (DEDTALAI-BURHANPUR ROAD)	BURHANPU R	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1140	NH-3, UPTO 4 KM FROM KHANDWA GAON TOWARDS MANPUR	DHAR	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1141	SH-31, VILLAGE KACHNARA	MANDSAU R	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5

-	1	1		1				1	<u>г г</u>		1			
1142	NH-59, FROM IOC OUTLET SHANKAR SINGH TULSIRAM IN DATTIGAON, UPTO 4 KM TOWARDS JHABUA	DHAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1143	SH-17, FROM VILLAGE SODANG TO VILLAGE RUIE, LHS TOWARDS NAGDA ON SH	UJJAIN	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1144	DEWAS WML, ON BNP (BANK NOTE PRESS) ROAD, DEWAS	DEWAS	REGULAR	120	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1145	NH-59A, BETWEEN KM STONE INDORE 114 AND INDORE 118	DEWAS	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1146	NH-3, BETWEEN RASULPUR INTERSECTION AND KSHIPRA BRIDGE	DEWAS	REGULAR	150	Open	CC	35	45	1575	25	10	BIDDING	30	5
1147	WML UNHEL, ON UNHEL BEDAWAN ROAD, NOT ON SH	UJJAIN	REGULAR	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
1148	SH-27, VILLAGE PIPLAI TEHSIL GHATIYA	UJJAIN	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1149	SH-27, VILLAGE MORGHADI ON INDORE ICHHAPUR ROAD	KHANDWA	REGULAR	150	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1150	SH-18 (BHOPAL-DEWAS 4-LANE), BETWEEN KM STONE 114 AND 116, LHS TOWARDS INDORE	DEWAS	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1151	TOWN TARANA, ON TARANA-LAXMIPURA MAIN ROAD	UJJAIN	REGULAR	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
1152	SH-26, VILLAGE SILKUWA	DHAR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1153	SH-38, FROM GANDHI SQUARE MANAWAR UPTO 4 KM TOWARDS DHAR	DHAR	REGULAR	150	Open	СС	35	35	1225	25	10	BIDDING	30	5
1154	SH-26, VILLAGE ROSHNI	KHANDWA	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1155	SH-31, FROM TOLLBOOTH IN KANWAN UPTO 3 KM, TOWARDS BADNAWAR	DHAR	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1156	DEWAS BYPASS NH-3, WITHIN 3 KM FROM DEWAS JAIL ROAD JUNCTION TOWARDS MAKSI, EITHER SIDE	DEWAS	REGULAR	150	Open	СС	35	45	1575	25	10	BIDDING	30	5
1157	SH-1, VILLAGE BHAKLAI ON MHOW MANDLESHWAR ROAD	KHARGONE	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1158	SH-31, VILLAGE BARKHEDA	MANDSAU R	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1159	SH-31, MHOW- NEEMUCH ROAD, BETWEEN KM STONE NAGDA 23 AND 21	DHAR	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1160	SH-31, FROM MAIN GATE OF LOTUS INTERNATIONAL SCHOOL, KANWAN, UPTO 4 KM TOWARDS NAGDA	DHAR	REGULAR	150	Open	СС	35	45	1575	25	10	BIDDING	30	5
1161	SH-31, VILLAGE SIRWEL ON KHARGONE - SIRWEL ROAD	KHARGONE	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1162	SH-31, FROM VILLAGE KALSADA KHURD UPTO VILLAGE BAGGAD ON SH, TEHSIL DHAR	DHAR	REGULAR	120	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1163	MAHESHWAR CHOURAHA, DHAMNOD UPTO 3 KM TOWARDS MAHESHWAR, NOT ON NH	DHAR	REGULAR	150	Open	CC	25	25	625	25	10	BIDDING	30	5
1164	SH-18, VILLAGE NALWA, TEHSIL UJJAIN	UJJAIN	REGULAR	150	Open CC 1	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1165	SH-18, FROM INDIRA GARDAN, BADNAWAR, UPTO 3KM TOWARDS BHAISOLA CHAUPATI	DHAR	REGULAR	120	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1166	SH-38, FROM VILLAGE AWALDAMAN UPTO VILLAGE CHAKDUD ON SH, TEHSIL GANDHWANI	DHAR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1167	NH-59, BETWEEN 1KM - 5KM RADIUS OF BPC GHAR OUTLET IN GUNAWAD, DIST. DHAR,	DHAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5

	NH-59, BETWEEN 1KM - 5KM FROM MANAWAR ROAD T-													
1168	INTERSECTION AT VILLAGE MANGOD, DIST. DHAR, TOWARDS RAJGARH	DHAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1169	SADAR BAZAR WITHIN INDORE MUNICIPAL LIMITS	INDORE	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1170	VILLAGE DHATRAODA IN TEHSIL UJJAIN ON PANCHKHOSI MARG	UJJAIN	REGULAR	150	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1171	SH-31, BETWEEN 1 KM - 4KM FROM IOC OUTLET (MAHAVIR AUTOMOBILES), BADNAWAR, LHS TOWARDS RATLAM	DHAR	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1172	BADA BANGARDA WITHIN MUNICIPAL LIMITS	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1173	MR10, BETWEEN RADISSON SQUARE AND STAR CHOURAHA IN INDORE CITY	INDORE	REGULAR	150	OBC	CC	20	20	400	25	10	BIDDING	30	4
1174	BETWEEN DEWAS NAKA & BPC MANGLIYA POL DEPOT ON OLD AB ROAD ON LHS TOWARDS MANGLIA	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1175	SH-26, VILLAGE MALKHEDA	DHAR	REGULAR	150	ST CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1176	NH-3, BETWEEN KM STONE 139 & 142, LHS TOWARDS MUMBAI	BARWANI	REGULAR	150	Open CC 2	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1177	NH-3, RHS TOWARDS MUMBAI BETWEEN KM STONE 153 & 157	BARWANI	REGULAR	100	OBC CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1178	BETWEEN DEWAS NAKA & BPCL MANGLIYA POL DEPOT ON OLD AB ROAD ON RHS TOWARDS MANGLIA	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1179	SH-31, VILLAGE SARAI TALAB	DHAR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1180	MR11, WITHIN INDORE MUNICIPAL LIMITS, BETWEEN INDORE BYPASS AND OLD AB ROADS	INDORE	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1181	INDORE WML, 4 KM TOWARDS KHANDWA FROM EASTERN RING ROAD & KHANDWA ROAD JUNCTION ON KHANDWA ROAD, RHS	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1182	4 KM FROM NH-59 TOWARDS AIRPORT ON ROAD CONNECTING AIRPORT AND NH-59 VIA RINJLAY PHATA, LHS TOWARDS AIRPORT	INDORE	REGULAR	150	Open	DC	35	45	1575	25	45	DRAW OF LOTS	15	5
1183	1 KM FROM SHEEFA HOSPITAL, KHAJRANA WITHIN INDORE MUNICIPAL LIMITS	INDORE	REGULAR	150	OBC	CC	20	20	400	25	10	BIDDING	30	4
1184	SH-1, VILLAGE BADGONDA ON INDORE-KHARGONE HIGHWAY	INDORE	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1185	KANADIA ROAD WITHIN MUNICIPAL LIMITS	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1186	KALYAN MILL ROAD, INDORE	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1187	2 KM FROM HAJRAT NAHARSHAH WALI DARGAH SH-38. FROM VILLAGE JEERABAD UPTO VILLAGE DEDLI.	INDORE	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1188	SH-38, FROM VILLAGE JEERABAD UPTO VILLAGE DEDLI, TEHSIL GANDHWANI	DHAR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1189	SCHEME NO 110/114 WITHIN INDORE MUNICIPAL LIMITS	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1190	NH-3, LHS TOWARDS MUMBAI BETWEEN KM STONE 109 & 112	BARWANI	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1191	2 KM FROM ELECTRONIC COMPLEX ON MAIN ROAD, WITHIN INDORE MUNICIPAL LIMITS	INDORE	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1192	SH-27, VILLAGE LAKHMAN KHEDI, LHS TOWARDS UJJAIN ON INDORE-UJJAIN ROAD	INDORE	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1193	SCHEME NO 54/74/78 WITHIN INDORE MUNICIPAL LIMITS	INDORE	REGULAR	150	Open	CC	20	20	400	25	10	BIDDING	30	5

1194	ROAD CONNECTING LIG SQUARE AND RING ROAD	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1195	SH-38, FROM VILLAGE TAWLAI UPTO VILLAGE ZHIRVI,	DHAR	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1175	TEHSIL UMARBAN, TOWARDS MANAWAR	DITAK	REGOLAR	150	ODC	DC	55	33	1223	23	00	DIAW OF LOTS	15	4
1196	4 KM FROM NH59 TOWARDS AIRPORT ON ROAD CONNECTING AIRPORT AND NH-59 VIA RINJLAY PHATA, RHS TOWARDS AIRPORT	INDORE	REGULAR	150	Open	СС	35	45	1575	25	10	BIDDING	30	5
1197	SH-1, 2 KM ON EITHERSIDE OF MENGAON POLICE STATION ON MHOW-MANDLESHWAR ROAD	KHARGONE	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1198	1 KM FROM KHAJRANA SQUARE, WITHIN INDORE MUNICIPAL LIMITS	INDORE	REGULAR	150	Open	CC	20	20	400	25	10	BIDDING	30	5
1199	SH-31, VILLAGE TORNOD GAON ON DHAR NAGDA ROAD ON SH-31	DHAR	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1200	SH-31, VILLAGE TISGAON ON DHAR NAGDA ROAD ON SH- 31	DHAR	REGULAR	150	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1201	SH-38, FROM VILLAGE ZHIRVI UPTO VILLAGE BAKANER	DHAR	REGULAR	150	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1202	NH-3, BETWEEN KM STONE 153 & 157, LHS TOWARDS MUMBAI	BARWANI	REGULAR	150	OBC PH	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1203	HIRA NAGAR/ SUKHLIYA WITHIN INDORE MUNICIPAL LIMITS	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
	LOKNAYAK NAGAR ON 60 FEET ROAD, INDORE	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1205	RAU, ON RAU - RANGWASA CAT ROAD	INDORE	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1206	SH-27, VILLAGE RUDHI ON KHANDWA-ASHAPUR ROAD	KHANDWA	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	MR-9 SQUARE, WITHIN 1KM	INDORE	REGULAR	150	Open	CC	20	20	400	25	10	BIDDING	30	5
1208	PIPLIYAHANA SQAURE WITHIN 2KM	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1209	SH-38, VILLAGE KATARGAON	KHARGONE	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1210	SH-27, BETWEEN KM STONE BARWAHAA 9 KM TO BARWAHA 12 KM, ON LHS TOWARDS BARWAHAA	KHARGONE	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1211	WITHIN 0.5 KM OF SHANKARGANJ CHOURAHA IN INDORE CITY	INDORE	REGULAR	150	Open	CC	20	20	400	25	10	BIDDING	30	5
1212	NH-3, VILLAGE JAMANYA, TEHSIL MHOW	INDORE	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1213	WITHIN 1 KM OF IPS SCHOOL MAIN GATE ON OLD AB ROAD TOWARDS RAJIV GANDHI SQUARE	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1214	SH-27, BETWEEN KM STONE 150 & 153	KHANDWA	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1215	SH-27, VILLAGE SIRPUR	BURHANPU R	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1216	SH-35, VILLAGE RUPAKHEDA	DHAR	REGULAR	100	Open CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1217	SH-31, VILLAGE MALHARGARH	MANDSAU R	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1218	WITHIN 0.5 KM OF RAJENDRA NAGAR POLICE STATION ON OLD AB ROAD	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1219	SH 1, VILLAGE TELANBARDI ON INDORE-KHARGONE ROAD	INDORE	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1220	WITHIN 2 KM FROM MALWA MILL SQUARE	INDORE	REGULAR	150	Open	CC	20	20	400	25	10	BIDDING	30	5
1221	SH-27, VILLAGE NIMBOLA	BURHANPU R	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1222	WITHIN 2 KM FROM RAJIV GANDHI SQUARE ON RING ROAD RHS TOWARDS MUSAKHEDI	INDORE	REGULAR	150	Open	CC	20	20	400	25	10	BIDDING	30	5

	WITHIN 2 KM LHS FROM RAJIV GANDHI SQUARE ON													
1223	MANIK BAGH ROAD	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1224	SH-26, VILLAGE BHARADPUR	DHAR	REGULAR	150	ST CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1225	SH-35, VILLAGE JOLANA	DHAR	REGULAR	100	OBC CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1226	WITHIN 1 KM LHS FROM RAU CIRCLE ON OLD AB ROAD TOWARDS RAJIV GANDHI CIRCLE	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1227	TOWN KHACHROD ON GHINODA ROAD	UJJAIN	REGULAR	120	Open PH	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1228	SH-27, VILLAGE JAKHIYA, LHS TOWARDS UJJAIN	INDORE	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1229	SH-35, VILLAGE KANJROTA	DHAR	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1230	WITHIN 2 KM OF JANJEERWALA SQUARE	INDORE	REGULAR	150	Open	CC	20	20	400	25	10	BIDDING	30	5
1231	SH-27, FROM DULAR PHATA TO JHIRNIYA PHATA	KHANDWA	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1232	UJJAIN RING ROAD, FROM UJJAIN ENGINEERING COLLEGE TO HOMEGUARD OFFICE	UJJAIN	REGULAR	150	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1233	MAHALAXMI NAGAR, WITHIN INDORE MUNICIPAL LIMITS	INDORE	REGULAR	180	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1234	WITHIN 2 KM OF BHANWARKUAN SQUARE, INDORE	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1235	WITHIN 2 KM FROM TEJAJI NAGAR SQUARE ON INDORE KHANDWA ROAD, RHS TOWARDS KHANDWA.	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1236	SH-26, VILLAGE RAIKHUTWAL ON KHANDWA - ASHAPUR ROAD TOWARDS ASHAPUR	KHANDWA	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1237	SH-1, BETWEEN KM STONE 14 TO 20 ON KHARGONE - KASRAWAD ROAD	KHARGONE	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1238	NH-3, WITHIN 2KM FROM RAU CIRCLE, RHS TOWARDS MHOW	INDORE	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1239	NH-3, BETWEEN KM STONE 115 & 118, RHS TOWARDS MUMBAI	BARWANI	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1240	WITHIN 4 KM OF TEEN IMLI CHOURAHA INDORE ON PATHAR MUNDLA ROAD	INDORE	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1241	TOWN TARANA ON TARANA KANIPURA ROAD	UJJAIN	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1242	WITHIN 4 KM FROM MARIMATA SQUARE ON UJJAIN ROAD, RHS TOWARDS UJJAIN	INDORE	REGULAR	150	Open	СС	20	20	400	25	10	BIDDING	30	5
1243	SH-26, WITHIN 5-8 KM FROM HPC DESHGAON SERVICE CENTRE TOWARDS KHARGONE	KHANDWA	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1244	KALANI NAGAR WITHIN INDORE MUNICIPAL LIMITS	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1245	SOUTH TUKOGANJ, INDORE CITY	INDORE	REGULAR	200	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1246	SH-14, VILLAGE BILANTRI	MANDSAU R	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1247	5 KM FROM AIRPORT TOWARDS NH-59 ON ROAD CONNECTING AIRPORT AND NH-59	INDORE	REGULAR	150	OBC	DC	35	45	1575	25	45	DRAW OF LOTS	15	4
1248	WITHIN 2 KM FROM INDORE COLLECTORATE SQUARE	INDORE	REGULAR	200	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1249	LHS TOWARDS SUKHLIYA ON ROAD CONNECTING DEWAS NAKA AND SUKHLIYA	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1250	SH-31, VILLAGE PINJRAYA	DHAR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1251	SH-27, VILLAGE KAYASTH KHEDI	INDORE	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1252	WITHIN 1 KM OF ADVANCE ACADEMY IN NIPANIA	INDORE	REGULAR	150	Open	CC	20	20	400	25	10	BIDDING	30	5
1253	VILLAGE BUDHANIYA ON INDORE - DEPALPUR ROAD	INDORE	REGULAR	120	Open	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1254	WITHIN 2 KM FROM HATOD POLICE STATION ON DEPALPUR ROAD	INDORE	REGULAR	150	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
1255	SH-31, DHARAWARA	DHAR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

1256	BICHOLI MARDANA WITHIN MUNICIPAL LIMITS	INDORE	REGULAR	150	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1257	WITHIN 2 KM FROM AMBEDKAR CHOURAHA, BETMA ON SAGOR KUTIR, TEHSIL DEPALPUR.	INDORE	REGULAR	120	Open	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1258	UPTO 2 KM KALOD HALA WITHIN INDORE MUNICIPAL LIMITS, NOT ON OLD AB ROAD	INDORE	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1259	SH-27, ROSHIYA TO DESHGAON BETWEEN KM STONE 98 TO 100	KHANDWA	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1260	INDORE BYPASS (NH-3) FROM KANADIYA ROAD INTERSECTION TO MANGLIYA IDTL TOLL PLAZA; LHS TOWARDS DEWAS	INDORE	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1261	INDORE BYPASS (NH-3) FROM KANADIYA ROAD INTERSECTION TO MANGLIYA IDTL TOLL PLAZA; LHS TOWARDS RAU CIRCLE	INDORE	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1262	NH-3, VILLAGE SONWAY, LHS TOWARDS MANPUR	INDORE	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1263	INDORE BYPASS ROAD (NH-3), BETWEEN NEMAWAR ROAD INTERSECTION AND TEJAJI NAGAR SQUARE, RHS TOWARDS MANPUR	INDORE	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1264	SH-31, VILLAGE DELMI	DHAR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1265	SH-31, VILLAGE KANAWAL	DHAR	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1266	NH-3, BETWEEN KM STONE 109 & 112, RHS TOWARDS MUMBAI	BARWANI	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1267	INDORE BYPASS ROAD (NH-3), BETWEEN KANADIYA ROAD AND NEMAWAR ROAD INTERSECTIONS, LHS TOWARDS MANPUR	INDORE	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1268	SH-26, VILLAGE GUDIKHEDA, ON KHANDWA DEDHTALAI ROAD	KHANDWA	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1269	SH-31, VILLAGE LEBAD	DHAR	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1270	INDORE BYPASS ROAD (NH-3) BETWEEN KANADIYA ROAD AND NEMAWAR ROAD INTERSECTIONS, RHS TOWARDS MANPUR	INDORE	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1271	INDORE BYEPASS ROAD (NH-3), BETWEEN TEJAJI NAGAR SQUARE AND RAU CIRCLE, RHS TOWARDS MANPUR	INDORE	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1272	SH-31, WITHIN 2 KM FROM BISTAN BUS STAND TOWARDS SIRWEL	KHARGONE	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1273	VILLAGE NAWDA PANTH ON NH-59 (INDORE- AHMEDABAD)	INDORE	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1274	INDORE BYEPASS ROAD (NH-3), BETWEEN TEJAJI NAGAR SQUARE AND RAU CIRCLE, LHS TOWARDS MANPUR	INDORE	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1275	NH-59A, BETWEEN KM STONE INDORE 42 AND INDORE 46, LHS TOWARDS NEMAWAR	DEWAS	REGULAR	150	Open CC 2	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1276	NH-3, BETWEEN KM STONE 115 & 118, LHS TOWARDS MUMBAI	BARWANI	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1277	SH-35, VILLAGE SAJOD	DHAR	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1278	NH-3, BETWEEN KM STONE 587 AND 584 ON LHS TOWARDS DEWAS	INDORE	REGULAR	150	Open	CC	35	45	1575	25	10	BIDDING	30	5
1279	NH-3, BETWEEN KM STONE 594 AND 589 ON LHS TOWARDS DEWAS	INDORE	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1280	SH-31, VILLAGE KHILCHIPURA	DHAR	REGULAR	120	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4

1281	WML UJJAIN, FROM TEEN BATTI CHAURAHA TO	UJJAIN	REGULAR	150	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
-	HANUMAN NAKA CHAURAHA				-		_			-	-		-	
1282	NH-3, VILLAGE BHICHOLI, TEHSIL MHOW	INDORE	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1283	WITHIN 1 KM OF D-MART, RAJENDRA NAGAR	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1284	WML UJJAIN, WITHIN 0.5 KM OF AVANTIKA GAS MOTHER STATION, NAGJHIRI	UJJAIN	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1285	NH-59, VILLAGE KALARIA	INDORE	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1286	SH-26, SALKHEDA	BARWANI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1287	NH-59A, BETWEEN KM STONE INDORE 4 KM AND INDORE 6 KM, RHS TOWARDS NEMAWAR	INDORE	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1288	SH-31, VILLAGE MASIDAPURA	DHAR	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1289	NH-3, BETWEEN KM STONE 128 & 130, RHS TOWARDS MUMBAI	BARWANI	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1290	WML UJJAIN, FROM TOWER CHOWK TO CHAMUNDA MATA CHAURAHA VIA SHASTRI BRIDGE	UJJAIN	REGULAR	150	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1291	UJJAIN CITY, AGRASEN NAGAR ON UJJAIN INNER RING	UJJAIN	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1292	NH-59A, BETWEEN KM STONE 16 & 18 , LHS TOWARDS NEMAWAR	INDORE	REGULAR	150	Open	CC	35	45	1575	25	10	BIDDING	30	5
1293	NH-3, VILLAGE SONWAY, RHS TOWARDS MANPUR	INDORE	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1294	NH-59, VILLAGE GHATABILLOD, LHS TOWARDS INDORE	INDORE	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1295	SH-26, RENGAON	BARWANI	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1296	NH-3, VILLAGE ANWALIPURA	INDORE	REGULAR	150	Open	CC	35	45	1575	25	10	BIDDING	30	5
1297	NH-3, VILLAGE BANJARI, TEHSIL MHOW	INDORE	REGULAR	150	Open	CC	35	45	1575	25	10	BIDDING	30	5
1298	TOWN KHACHROD, ON RATLAM ROAD	UJJAIN	REGULAR	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
1299	SH-35, VILLAGE BOLA	DHAR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1300	NH-3, VILLAGE BHATKHEDI, TEHSIL MHOW	INDORE	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1301	NH-59, VILLAGE GALONDA	INDORE	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1302	NH-3, BETWEEN KM STONE 133 & 136, LHS TOWARDS MUMBAI	BARWANI	REGULAR	150	OBC PH	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1303	WITHIN 2 KM OF PATH MHOW TOLL PLAZA	INDORE	REGULAR	150	ST PH	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1304	NH-59, VILLAGE GHATABILLOD, LHS TOWARDS AHMEDABAD	INDORE	REGULAR	150	Open	СС	35	45	1575	25	10	BIDDING	30	5
1305	NH-59, VILLAGE MACHAL, LHS TOWARDS AHMEDABAD	INDORE	REGULAR	150	Open	CC	35	45	1575	25	10	BIDDING	30	5
1306	SH-27, WITHIN 5 KM FROM NAVAGRAH SHANI MANDIR	INDORE	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1307	SH-27, GRAM UMRIKHEDA, LHS TOWARDS KHANDWA	INDORE	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1308	SH-30A, NEEMUCH MANASA ROAD WITHIN 3 KM OF IOCL OUTLET SAI KRIPA FUELS ON EITHERSIDE	NEEMUCH	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1309	SH-27, WITHIN 4 KMS OF SIMROL POLICE STATION	INDORE	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1310	TOWN MAHIDPUR, ON DHABLA SIYA ROAD	UJJAIN	REGULAR	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
1311	SH-27, FROM VILLAGE DHEDIYA UPTO IOCL PUMP (DINESH PETROL PUMP)	UJJAIN	REGULAR	150	Open	CC	35	45	1575	25	10	BIDDING	30	5
1312	SH-30A, NEEMUCH MANASA ROAD WITHIN 3 KM OF ESSAR OUTLET MARU PETROLEUM ON EITHERSIDE	NEEMUCH	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1313	SH-39, 2 KM FROM VILLAGE KARWAD TOWARDS RATLAM ON SH-39	JHABUA	REGULAR	100	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1314	JHABUA, WITHIN MUNICIPAL LIMITS	JHABUA	REGULAR	150	Open	DC	25	25	625	25	45	DRAW OF LOTS	15	5

1315	NH-3, VILLAGE TITODI, LHS TOWARDS MAKSI	UJJAIN	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1316	SH-18, FROM VILLAGE ARJUNAKHEDI TO VILLAGE AMLA	UJJAIN	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
	TEHSIL BADNAGAR									-			-	
1317	SH-18, VILLAGE TEMRIA	JHABUA MANDSAU	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1318	SH-31, VILLAGE SONGARI	R	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1319	SH-27, VILLAGE UMRIKHEDA, RHS TOWARDS KHANDWA	INDORE	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1320	SH-31, VILLAGE DEHARIYA	DHAR	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1321	SH-27, BETWEEN KM STONES INDORE 103 KM TO INDORE 105 KM	KHANDWA	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1322	NH-59, KALIDEVI	JHABUA	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1323	NH-59, WITHIN 4 KM FROM DEVJHIRI TOWARDS RAJGARH	JHABUA	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1324	TOWN KHACHROD, ON NAGDA ROAD, NOT ON KHACHROD BYPASS	UJJAIN	REGULAR	120	Open	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1325	NH-3, BETWEEN KM STONE 133 & 136, RHS TOWARDS MUMBAI	BARWANI	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1326	SH-27 (INDORE-UJJAIN ROAD), VILLAGE SILODA BUZURG, LHS TOWARDS UJJAIN	INDORE	REGULAR	150	SC CC 1	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1327	SH-31, VILLAGE DHODHAR	RATLAM	REGULAR	150	Open PH	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1328	SH-1, VILLAGE DHAPLA ON MHOW - MANDALESHWAR ROAD	KHARGONE	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1329	KHANDWA WITHIN MUNICIPAL LIMITS	KHANDWA	REGULAR	150	Open	СС	20	20	400	25	10	BIDDING	30	5
1330	SH-31 UPTO 3 KM FROM IOCL OUTLET TIRUPATI HIGHWAY SERVICE ON EITHERSIDE	NEEMUCH	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1331	SH-26, KHANDWA - INDORE ROAD, WITHIN 4 KMS FROM KESHAV (BPC) PETROL PUMP TOWARDS INDORE	KHANDWA	REGULAR	150	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1332	SH-27, VILLAGE KHERDA ON INDORE ICHHAPUR ROAD	KHARGONE	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1333	SH-39, UPTO 4 KM FROM SANSKAR VALLEY PUBLIC SCHOOL, PETLAWAD TOWARDS PETLAWAD TOWN	JHABUA	REGULAR	150	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1334	SH-18, VILLAGE SANDLA	DHAR	REGULAR	100	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1335	SH 38, WITHIN 5 KM FROM BARWAHAA RAILWAY CROSSING TOWARDS MAHESHWAR	KHARGONE	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1336	SH-18 (UJJAIN-BADNAGAR), BETWEEN KM STONE BADNAGAR 30KM AND 33KM, RHS TOWARDS BADNAGAR	UJJAIN	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1337	WITHIN 2 KM OF CHHANERA RAILWAY BRIDGE ON CHHANERA-MANDLA ROAD	KHANDWA	REGULAR	150	Open	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1338	SH-31, VILLAGE NAIKHEDI	RATLAM	REGULAR	150	Open CC 1	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1339	SH-17, VILLAGE BHUTEDA	RATLAM	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1340	TOWN TARANA ON DILODRI ROAD	UJJAIN	REGULAR	150	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
1341	SH-27, BETWEEN KM STONES 135 KM TO 138 KM, RHS TOWARDS BURHANPUR	KHANDWA	REGULAR	150	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1342	SH-27, RHS TOWARDS BURHANPUR BETWEEN INDORE 144KM & 147KM ON KHADWA-BURHANPUR ROAD	KHANDWA	REGULAR	150	Open	СС	40	60	2400	25	10	BIDDING	30	5
1343	SH-17, VILLAGE PAGARA, TEHSIL NAGDA	UJJAIN	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4

1344	NH-59A, BETWEEN KM STONE INDORE 68 AND INDORE 72, RHS TOWARDS NEMAWAR	DEWAS	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1345	SH-27, BETWEEN KM STONES INDORE 91 TO INDORE 94, LHS TOWARDS KHANDWA	KHANDWA	REGULAR	150	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1346	SH-26, VILLAGE JAMSHEDPURA ON KHARGONE - JULWANIA ROAD	KHARGONE	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1347	TOWN NAGDA, ON BIRLAGRAM ROAD	UJJAIN	REGULAR	120	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
1348	SH-30A, FROM BHAGWAMATA TO MANASA ON EITHER SIDE	NEEMUCH	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1349	NH-3, WITHIN 4 KM FROM NARMADA BRIDGE TOWARDS SATRATI ON RHS	KHARGONE	REGULAR	150	Open	CC	35	45	1575	25	10	BIDDING	30	5
1350	SH-18 (DEWAS-UJJAIN), BETWEEN KM STONE UJJAIN 10KM AND 14KM	UJJAIN	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1351	SH-1, VILLAGE CHIKLI ON MHOW - MANDLESHWAR ROAD	KHARGONE	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1352	SH-31, VILLAGE BANIKHEDI	RATLAM	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1353	SH-27, VILLAGE BALWADA	KHARGONE	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1354	UJJAIN CITY, FROM FAWARA CHOWK TO BADA TELIWADA CHAURAHA	UJJAIN	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1355	SH-17, WITHIN NAGAR PALIKA LIMITS OF UNHEL, LHS TOWARDS NAGDA	UJJAIN	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1356	SH-26, RANGAON ON BARUD PHATA, KHARGONE - JULWANIYA ROAD	KHARGONE	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1357	SH-27, INDORE-ICHHAPUR ROAD, FROM SANAWAD TO BARWAHA, RHS TOWARDS BARWAHA	KHARGONE	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1358	MANDSAUR WML, 3 KMS ON EITHER SIDE FROM MIT SQUARE MANDSAUR- NEEMUCH	MANDSAU R	REGULAR	150	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1359	MANDSAUR TOWN NOT ON NH/SH	MANDSAU R	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1360	SITAMAU, 5 KM FROM SITAMAU ON SUWASRA ROAD	MANDSAU R	REGULAR	150	Open	DC	35	45	1575	25	45	DRAW OF LOTS	15	5
1361	SH-41, VILLAGE HAMPURA	RATLAM	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1362	UJJAIN, FROM NIKAS CHAURAHA TO KAJIPURA CHAURAHA	UJJAIN	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1363	YASH NAGAR ROAD TOWARDS MIT SQUARE, MANDSAUR CITY	MANDSAU R	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1364	DEWAS WML, 1 KM OF INDUSTRIAL AREA ON OLD AB ROAD, DEWAS	DEWAS	REGULAR	150	Open CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1365	SH-26, BHIKANGAON, 1-3 KM FROM TOLL BOOTH TOWARDS DESHGAON	KHARGONE	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1366	SH-50, VILLAGE DEDTALAI TOWARDS DHARNI	BURHANPU R	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1367	FROM MANDSAUR KRISHI MANDI TOWARDS SH-31	MANDSAU R	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1368	RAILWAY STATION ROAD TOWARDS UDHAM SINGH CHAURAHA, MANDSAUR	MANDSAU R	REGULAR	150	Open	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1369	JAWAD TOWN, NOT ON SH/NH	NEEMUCH	REGULAR	150	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
1370	RATLAM SAILANA ROAD TILL SAILANA TOLL BOOTH WITHIN RATLAM WML	RATLAM	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3

1371	MANDSAUR WML, WITHIN 2KM OF ITC CHAUPAL	MANDSAU R	REGULAR	150	Open	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1372	OLD RTO- NEW RTO, MANDSAUR	MANDSAU R	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1373	NH-3, WITHIN VILLAGE LIMITS OF DURGAPURA ON NH	DEWAS	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1374	TAGORE MARG, NEEMUCH	NEEMUCH	REGULAR	150	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1375	DEWAS BYPASS NH-3, WITHIN 3 KM FROM DEWAS JAIL ROAD JUNCTION TOWARDS INDORE, EITHER SIDE	DEWAS	REGULAR	150	ST CC 1	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1376	SH-31 , VILLAGE DALODARAIL	RATLAM	REGULAR	150	Open CC 2	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1377	NH-59A, BETWEEN KM STONE INDORE 76 AND INDORE 80 ON NH, LHS TOWARDS NEMAWAR	DEWAS	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1378	SH-30A, RAMPURA DIST NEEMUCH ON NEEMUCH GANDHISAGAR STATE HIGHWAY	NEEMUCH	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1379	SH-26, AGALGOTA	ALIRAJPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1380	UJJAIN MAKSI ROAD, FROM SHASTRI BRIDGE UPTO HPCL'S UJJAIN GAS AGENCY'S SHOWROOM	UJJAIN	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1381	SH-31, JAWAD-NEEMUCH ROAD 3 KM FROM JAWAD BUS STAND TOWARDS NEEMUCH	NEEMUCH	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1382	NEEMUCH WML NOT ON NH/SH	NEEMUCH	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1383	SH-26, VILLAGE DAHINDA	BURHANPU R	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1384	SH-41, TAL-JAORA ROAD, VILLAGE BHAISANA	RATLAM	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1385	SH-31, 1 KM FROM HARKIYAKHAL CHAURAHA ON MHOW- NEEMUCH ROAD	NEEMUCH	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1386	SH-31, 2 KM ON EITHER SIDE FROM LASSI MAKHAN DHABA ON MHOW-NEEMUCH ROAD	NEEMUCH	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1387	SH-41, WITHIN 3 KM FROM TAL POLICE STATION ON TAL ALOT ROAD	RATLAM	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1388	SH-31 WITHIN 3 KM ON EITHERSIDE OF BPCL OUTLET S SAWANWALA & CO	NEEMUCH	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1389	SH-31, NEEMUCH-NAYAGAON LEFT HAND SIDE	NEEMUCH	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1390	NH-59, WITHIN 2KM OF LEBAD JUNCTION	DHAR	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1391	SH-31, VILLAGE BANJLI RATLAM BYPASS	RATLAM	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1392	SH-26, VILLAGE AKOLA IN DIST ALIRAJPUR	ALIRAJPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1393	SH-31, 3 KMS FROM NEEMUCH-SINGOLI SQUARE TOWARDS CHITTORGARH	NEEMUCH	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1394	SH-31, 4 KM FROM NAYAGAON TOLL BARRIER TOWARDS NEEMUCH	NEEMUCH	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1395	SH-26, WITHIN 5 KM FROM LATE KISHORE KUMAR SMARAK TOWARDS INDORE	KHANDWA	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1396	1KM FROM FAWARA CHOWK, RATLAM	RATLAM	REGULAR	100	Open	CC	20	20	400	25	10	BIDDING	30	5
1397	SH-31, FROM SANAWADA TO SALAKHEDI ON LHS TOWARDS INDORE	RATLAM	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1398	2KM EITHER SIDE FROM HPCL OUTLET SAKSHI FUELS	RATLAM	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1399	SH-31, VILLAGE BOTALGANJ	MANDSAU R	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1400	3 KM FROM BAJNA BUS STAND SQUARE IN RATLAM TOWARDS SHIVGARH	RATLAM	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1401	SH-27 (INDORE-UJJAIN ROAD), VILLAGE TARANA	INDORE	REGULAR	150	SC PH	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3

1402	NH-59A, BETWEEN KM STONE INDORE 82 AND INDORE 85 ON NH, RHS TOWARDS NEMAWAR	DEWAS	REGULAR	150	OBC PH	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1403	SH-31, WITHIN 3 KMS OF IOCL PETROL PUMP AT RATANGARH ON NEEMUCH SINGOLI ROAD	NEEMUCH	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1404	FROM BAJNA BUS STAND SQUARE TOWARDS SHIVGARH WITHIN RATLAM WML	RATLAM	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1405	NH-3, VILLAGE BILAWALI, LHS TOWARDS DEWAS	DEWAS	REGULAR	150	OBC	CC	35	45	1575	25	10	BIDDING	30	4
1406	DEWAS WML, WITHIN 1 KM OF RANIBAGH RTO OFFICE ON DEWAS-UJJAIN ROAD	DEWAS	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1407	RATLAM WML, FROM GOVT. MEDICAL COLLEGE RATLAM TOWARDS SH-31 UPTO MUNICIPAL LIMIT	RATLAM	REGULAR	150	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1408	HANUMAN TAL ROAD, RATLAM CITY	RATLAM	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1409	SH-31, VILLAGE UMATPALIYA, BETWEEN KM STONE 116 TO 117	RATLAM	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1410	SH-26, VILLAGE BHAMGARH	KHANDWA	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1411	SH-41, TAL-ALOT ROAD, WITHIN 3 KM OF RAILWAY CROSSING IN ALOT	RATLAM	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1412	JAORA CITY NOT ON SH/NH	RATLAM	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1413	SAGOD ROAD, RATLAM WML	RATLAM	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1414	SH-39A, VILLAGE RANISINGH	RATLAM	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1415	SH-39, VILLAGE KUNDARA	DHAR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1416	NH-3, VILLAGE BIRGOD, LHS TOWARDS MAKSI	DEWAS	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1417	NH-3, WITHIN 2-4 KM FROM HPC SHIVAM FUELS ON LHS TOWARDS INDORE	KHARGONE	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1418	UJJAIN CITY, FROM HARI PHATAK BRIDGE UPTO KSHIPRA RIVER VIA HOTEL ATHARVA ON SH	UJJAIN	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1419	VILLAGE GOYLA KHURD, TEHSIL UJJAIN ON ROAD CONNECTING DEWAS ROAD AND INDORE ROAD	UJJAIN	REGULAR	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1420	UJJAIN WML, FROM TEEN BATTI CHAURAHA UPTO NAGZIRI CHAURAHA, LHS TOWARDS DEWAS	UJJAIN	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1421	MR-5, BETWEEN GANGOTRI PARISAR AND RANKESVAR TEMPLE ON UJJAIN INNER RING ROAD	UJJAIN	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1422	SH-31, VILLAGE NAMLI, LEFT HAND SIDE TOWARDS NEEMUCH	RATLAM	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1423	FAZALPURA, BETWEEN BIYABANI CHAURAHA AND BHEEMA HOSPITAL CHAURAHA WITHIN UJJAIN CITY	UJJAIN	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1424	SH-31, VILLAGE DHARAD	RATLAM	REGULAR	150	ST CC 1	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1425	NH-3, VILLAGE TONKKALAN, LHS TOWARDS MAKSI	DEWAS	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1426	UJJAIN WML, WITHIN 1KM OF KOYLA PHATAK CHOWRAHA IN UJJAIN	UJJAIN	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1427		INDORE/DH AR	REGULAR	150	Open PH	CC	35	45	1575	25	10	BIDDING	30	5
1428	SH-18, VILLAGE HARNAWAD, TEHSIL UJJAIN	UJJAIN	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1429	FROM LATE KISHORE KUMAR SMARAK TO ABHISHEK THEATRE	KHANDWA	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1430	WML UJJAIN, LEFT HAND SIDE TOWARDS MAKSI FROM DAINIK BHASKAR PRESS ON UJJAIN MAKSI ROAD	UJJAIN	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1431	UJJAIN CITY, WITHIN 2KM OF NANAKHEDA BUS STAND CHOURAHA TOWARDS RTO OFFICE	UJJAIN	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4

1432	THANDLA, WITHIN TOWN LIMITS	JHABUA	REGULAR	150	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1433	WML UJJAIN, BETWEEN HARI PHATAK BRIDGE AND MAHAMRITYUNJAY DWAAR ON HARI PHATAK RING ROAD	UJJAIN	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1434	UJJAIN WML, WITHIN 1 KM OF PIPLINAKA CHOURAHA ON BADNAGAR ROAD	UJJAIN	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1435	UJJAIN-INDORE ROAD WITHIN 1 KM OF HOTEL ANJU SHREE, UJJAIN, LHS TOWARDS INDORE	UJJAIN	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1436	JHABUA WML, WITHIN 1KM OF BPCL PUMP R H CHHABRA, NOT ON SH	JHABUA	REGULAR	150	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
1437	SH-41, VILLAGE BISALKHEDA	RATLAM	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1438	SH-27, FROM UNHEL TO VILLAGE AKYA NAJIK ON SH	UJJAIN	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1439	NH-3, BETWEEN 3KM AND 6KM FROM RELIANCE OUTLET IN GUJRI, LHS TOWARDS INDORE	DHAR	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1440	NH-59, FROM VILLAGE DHULET UPTO VILLAGE DATTIGAON ON NH-59	DHAR	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1441	NH-3, BETWEEN KM STONE INDORE 63 TO INDORE 65, ON LHS TOWARDS INDORE	KHARGONE	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1442	UJJAIN CITY, WITHIN 0.5 KM OF MOHAN NAGAR CHAURAHA	UJJAIN	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1443	KHANDWA CITY, WITHIN 1 KM ON EITHER SIDE OF BPC OUTLET ON NAGCHUN ROAD	KHANDWA	REGULAR	150	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1444	UJJAIN CITY, BETWEEN ITC CHOUPAL SAGAR AND MAA ICHHAPURNA MATA MANDIR ON UJJAIN AGAR ROAD, RHS TOWARDS AGAR	UJJAIN	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1445	UJJAIN CITY, WITHIN 1 KM OF NANAKHEDA BUS STAND SQUARE TOWARDS SANWER ON UJJAIN SANWER ROAD	UJJAIN	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1446	SH-27, VILLAGE SHAHPUR, RHS TOWARDS BURHANPUR	BURHANPU R	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1447	SH-26, VILLAGE SUSARI	DHAR	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1448	DHAMNOD ON NH-3	DHAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1449	WML UJJAIN, WITHIN 0.5 KM OF BHAIRAVGAD CHAURAHA ON UJJAIN RING ROAD	UJJAIN	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1450	BARWANI ON SH-26 WITHIN 2 KM FROM BYPASS ROAD JUNCTION TOWARDS THIKRI	BARWANI	REGULAR	120	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1451	SH-22, FROM VILLAGE PIPLYA NANKAR TO VILLAGE DEEPGAON ON SANDALPUR-NASRULLAHGANJ SH-22, RHS TOWARDS NASRULLAHGANJ	DEWAS	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1452	BADNAGAR DIVERSION ROAD, 1KM FROM NAGAR PALIKA MAIN GATE TOWARDS BADNAWAR WML BADNAGAR	UJJAIN	REGULAR	120	Open	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1453	MAHIDPUR WML, ON MAHIDPUR NARAYNA ROAD	UJJAIN	REGULAR	120	Open	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1454		KHARGONE	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1455	WML MAKDONE, TEHSIL TARANA ON MAKDONE DELCHI ROAD	UJJAIN	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
1456	BADNAGAR WML, ON BADNAGAR-BADNAWAR ROAD, NOT ON SH	UJJAIN	REGULAR	150	Open	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1457	WML NAGDA, ON NEW RING ROAD CONNECTING BIRLAGRAM AND SH-17	UJJAIN	REGULAR	120	Open	DC	30	30	900	25	45	DRAW OF LOTS	15	5

1458	RANAPUR, DIST JHABUA WITHIN TOWN LIMITS	JHABUA	REGULAR	150	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
1459	WML MAKDONE, TEHSIL TARANA ON MAKDONE	UJJAIN	REGULAR	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
		0337 111	RECOLUN	100	00	010		00	,00	ů			Ŭ	
1460	NAGDA WML, INTERSECTION BETWEEN SH-17 & NAGDA- JAORA ROAD, TOWARDS VILLAGE RUPETA	UJJAIN	REGULAR	120	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1461	SH-17, WITHIN 2 KM OF INTERSECTION BETWEEN SH-17 & NAGDA-JAORA ROAD	UJJAIN	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1462	SH-26, VILLAGE SETHPURA ON KHANDWA - DEDHTALAI ROAD	KHANDWA	REGULAR	150	OBC	CC	35	45	1575	25	10	BIDDING	30	4
1463	WITHIN 1 KM OF HARSH HYUNDAI SHOWROOM ON UJJAIN DEWAS ROAD	UJJAIN	REGULAR	150	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1464	SH-31, VILLAGE PANCHGHATI	DHAR	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1465	SH-27, FROM JHIRNIYA PHATA TO CHHEGAON MAKHAN	KHANDWA	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1466	SH-27, VILLAGE DHABLA HARDU, RHS TOWARDS AGAR ON SH-27	UJJAIN	REGULAR	150	Open CC 1	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1467	NH-3, FROM VILLAGE TITODI TO VILLAGE SUWARKOTA LHS TOWARDS SHAJAPUR	UJJAIN	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1468	SH 1, VILLAGE ASHAPUR ON MHOW-MANDLESHWAR HIGHWAY	INDORE	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1469	SH-26, VILLAGE SINGHOT ON KHANDWA - DEDHTALAI ROAD	KHANDWA	REGULAR	150	OBC	CC	35	45	1575	25	10	BIDDING	30	4
1470	MAHIDPUR WML, WITHIN 1KM OF BHARAT AUTOMOBILES (BPCL PETROL PUMP) ON JAORA ROAD	UJJAIN	REGULAR	120	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1471	WML BADNAGAR, RHS TOWARDS LOHANA ON KASUR ROAD	UJJAIN	REGULAR	150	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1472	SH-31, VILLAGE JAWASA	MANDSAU R	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1473	WITHIN TOWN LIMITS OF MANAWAR, DIST DHAR	DHAR	REGULAR	150	OBC	CC	25	25	625	25	10	BIDDING	30	4
1474	SH-17, VILLAGE GOYALA BUJURG, TEHSIL GHATIYA	UJJAIN	REGULAR	150	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1475	NH-3, BETWEEN KM STONE 157 & 160, RHS TOWARDS MUMBAI	BARWANI	REGULAR	150	Open CC 2	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1476	NH-3, BETWEEN KM STONE 157 & 160, LHS TOWARDS MUMBAI	BARWANI	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1477	DEWAS CITY BYPASS, BETWEEN MAKSI CHOURAHA & NAGUKHEDI, RHS TOWARDS NAGUKHEDI	DEWAS	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1478	NH-3, VILLAGE GOLWA, WITHIN 1 KM OF FANIYA PHANTA, LHS TOWARDS SHAJAPUR	UJJAIN	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1479	NH-3, FROM VILLAGE YESHWANT NAGAR TO VILLAGE NAINAVAD, TEHSIL TARANA, LHS TOWARDS MAKSI	UJJAIN	REGULAR	150	Open	CC	35	45	1575	25	10	BIDDING	30	5
1480	KUKSHI BYPASS (SH-26)	DHAR	REGULAR	150	OBC	CC	35	35	1225	25	10	BIDDING	30	4
1481	SH-39, WITHIN 4 KM FROM VILLAGE JOBAT ON JOBAT- BAGH ROAD SECTION TOWARDS BAGH	ALIRAJPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1482	WML UNHEL, ON UNHEL KARNAWAD ROAD, NOT ON SH	UJJAIN	REGULAR	150	Open	DC	30	30	900	25	45	DRAW OF LOTS	15	5
1483	NH-59A, BETWEEN KM STONE INDORE 89 AND INDORE 92 ON NH	DEWAS	REGULAR	150	Open	CC	35	45	1575	25	10	BIDDING	30	5
1484	SH-31, VILLAGE SEJAWATA	RATLAM	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1485	SH-38, FROM IOC OUTLET (R S KHANDELWAL), MANAWAR, UPTO 5 KM TOWARDS BAKANER	DHAR	REGULAR	100	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5

1486	SH-31 UPTO 3 KM FROM HPCL OUTLET SUNIL KUMAR & CO ON EITHERSIDE	NEEMUCH	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1487		INDORE/DE WAS	REGULAR	150	Open	CC	35	45	1575	25	10	BIDDING	30	5
1488	GADRAKHEDI, WITHIN INDORE MUNICIPAL LIMIT	INDORE	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1489	NH-3, BETWEEN KM STONE 151 & 154, LHS TOWARDS MUMBAI	BARWANI	REGULAR	100	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1490	SH-39, WITHIN 4 KM FROM VILLAGE JOBAT ON JOBAT- JHABUA ROAD SECTION TOWARDS JHABUA	ALIRAJPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1491	SH-31, MHOW- GHATABILLOD ROAD, FROM HP OUTLET BAGHEL FILLING STATION UPTO GHATABILLOD TOLL, EITHER SIDE	DHAR	REGULAR	100	OBC	CC	35	45	1575	25	10	BIDDING	30	4
1492	SH-18, VILLAGE SARSANA, TEHSIL BADNAGAR	UJJAIN	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1493	NH-59A, BETWEEN KM STONE INDORE 20 AND INDORE 25, RHS TOWARDS NEMAWAR	INDORE/DE WAS	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1494	KHARGONE WITHIN MUNICIPAL LIMITS	KHARGONE	REGULAR	150	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
1495	SH-27, VILLAGE NINORA, TEHSIL UJJAIN, LHS TOWARDS UJJAIN	UJJAIN	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1496	RAU PITHAMPUR ROAD, WITHIN 4 KM TOWARDS RAU FROM VOLVO EICHER COMMERCIAL	DHAR	REGULAR	150	Open	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1497	PITHAMPUR-MHOW ROAD, UPTO 4 KM FROM BPCL OUTLET (TAMIM FILLING STN.), PITHAMPUR, EITHER SIDE TOWARDS MHOW	DHAR	REGULAR	150	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1498	NH-59A, BETWEEN KM STONE INDORE 95 AND INDORE 97 ON NH	DEWAS	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1499	SH-39, VILLAGE UDAIGARH	ALIRAJPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1500	FROM AGRASEN SQAURE TO TOWER CHOURAHA, INDORE CITY	INDORE	REGULAR	200	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1501	DEWAS NAKA UPTO 1 KM ON EASTERN RING ROAD GOING TOWARDS BOMBAY HOSPITAL	INDORE	REGULAR	150	Open	СС	20	20	400	25	10	BIDDING	30	5
1502	DEWAS CITY BYPASS, BETWEEN MAKSI CHOURAHA & NAGUKHEDI, LHS TOWARDS NAGUKHEDI	DEWAS	REGULAR	150	OBC PH	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1503	SH-26, VILLAGE DIPA KI CHOKI, TEHSIL ALIRAJPUR	ALIRAJPUR	REGULAR	150	ST PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1504	WITHIN 1 KM FROM SUPER CORRIDOR TOWARDS CHHOTA BANGARDA	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1505	BHAMORI/ NANDA NAGAR WITHIN WITHIN MUNICIPAL LIMITS	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1506	SH-14, WITHIN 3-6 KM FROM HPC PUMP VYAS SALES & SERVICE TOWARDS SUWASRA	MANDSAU R	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1507	BHAGIRATHPURA, WITHIN MUNICIPAL LIMITS	INDORE	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1508	NH-3, VILLAGE PIPALYASADAK, LHS TOWARDS MAKSI	DEWAS	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1509	SH-18, VILLAGE DHURERI TEHSIL, BADNAGAR, ON UJJAIN- BADNAGAR ROAD	UJJAIN	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1510	NH-3, KHAL-KHURD	DHAR	REGULAR	100	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1511	SH-26, FROM NISARPUR UPTO VILLAGE BABULSHA	DHAR	REGULAR	150	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1512	SH-26, FROM AIRTEL BANKING POINT ON SH-26 TOWARDS GUJARAT	ALIRAJPUR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1513	SH-35, SARDARPUR WITHIN TOWN LIMITS	DHAR	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4

1514	SH-18, WITHIN 3KM FROM CHHAYAN FANTA, DHAR TOWARDS BADNAWAR	DHAR	REGULAR	150	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1515	NH-3, BETWEEN KM STONE 122 & 125, LHS TOWARDS MUMBAI	BARWANI	REGULAR	100	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1516	DEWAS WML, WITHIN 1 KM OF FAUJI NAGAR MASJID ON	DEWAS	REGULAR	120	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1517	BHAGAT SINGH MARG SH-18, VILLAGE MOHANPURA	JHABUA	REGULAR	150	SC	CFS	25	35	1225	0	0	DRAW OF LOTS	0	3
1517		JHABUA	REGULAR	150	SC	CF2	35	35	1225	0	0	DRAW OF LUTS	0	3
1518	NH-3, UPTO 4 KM FROM VILLAGE MATMUR TOWARDS SENDHWA ON NH-3	BARWANI	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1519	NH-3, WITHIN 5 KM FROM SENDHWA CITY AND BYPASS INTERSECTION	BARWANI	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1520	WITHIN 3 KM FROM ANJAD BUS STAND TOWARDS BARWANI ON ANJAD BARWANI ROAD	BARWANI	REGULAR	100	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
1521	SH-26, UPTO 4 KM FROM VILLAGE NANPUR TOWARDS ALIRAJPUR	ALIRAJPUR	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1522	NH-3, VILLAGE ALARI, RHS TOWARDS MAKSI ON DEWAS- MAKSI STRETCH	DEWAS	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1523	SENDHWA WITHIN MUNICIPAL LIMITS NOT ON SH	BARWANI	REGULAR	150	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1524	DEWAS WML, WITHIN 1 KM OF JAWAHAR CHOWK, DEWAS	DEWAS	REGULAR	120	OBC PH	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1525	SH-26, WITHIN 3 KM FROM VILLAGE CHANDPUR TOWARDS ALIRAJPUR	ALIRAJPUR	REGULAR	100	ST PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1526	NH-59A, BETWEEN KM STONE INDORE 34 AND INDORE 37 ON NH	DEWAS	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1527	BARWANI WITHIN MUNICIPAL LIMITS	BARWANI	REGULAR	100	Open	CC	20	20	400	25	10	BIDDING	30	5
1528	SH-26, WITHIN 3KM FROM UMRALI POLICE CHAUKI ON SONDHWA ROAD (SH-26)	ALIRAJPUR	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1529	BURHANPUR CITY AMAGRIT AREA, INDIRA COLONY ROAD	BURHANPU R	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1530	SH-26, BAHDIYA KI CHOKI	ALIRAJPUR	REGULAR	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1531	DEWAS WML, WITHIN 1 KM OF AWAS NAGAR ON DEWAS- MAKSI ROAD	DEWAS	REGULAR	120	Open	СС	20	20	400	25	10	BIDDING	30	5
1532	BURHANPUR CITY FROM RAILWAY STATION UPTO BUS	BURHANPU R	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1533	BURHANPUR WML, FROM GANPATI THANA TO SHIKARPUR THANA	BURHANPU R	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1534	SH-31, VILLAGE SOKDI	MANDSAU R	REGULAR	120	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1535	SH-39, FROM NEWALI TOWARDS PALSUD ON NEWALI- PALSUD ROAD UPTO 3 KM	BARWANI	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1536	DEWAS BYPASS WML (NH-3)	DEWAS	REGULAR	150	Open	CC	30	30	900	25	10	BIDDING	30	5
1537	SH-17, VILLAGE CHAKRAWADA, TEHSIL GHATIYA	UJJAIN	REGULAR	150	Open CC 1	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1538	NH-59, BETWEEN 1KM - 6KM FROM BPC OUTLET (PAWANPUTRA), DIST. DHAR TOWARDS RAJGARH	DHAR	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1539	SH-35, FROM RINGNOD TOWARDS RAJGARH UPTO 4 KM	DHAR	REGULAR	150	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1540	SH-31, UPTO 4KM FROM BADNAWAR CHOUPATI ON SH- 31 TOWARDS KANWAN	DHAR	REGULAR	120	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1541	SH-27, BETWEEN KM STONE GHOSLA 2KM AND 1KM, LHS TOWARDS GHOSLA	UJJAIN	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1542	NH-59, VILLAGE FULGAWADI	DHAR	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4

1543	ON SH-31, VILLAGE PARVALIYA	RATLAM	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1544	SH-27, VILLAGE BARODIYA KHAN, TEHSIL SANWER	INDORE	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1545	NH-3, BETWEEN 1KM AND 6KM FROM RELIANCE OUTLET IN GUJRI, RHS TOWARDS SENDHWA	DHAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1546	NH-59, FROM RAJGARH, DIST DHAR UPTO VILLAGE DHULET, DIST DHAR ON NH-59	DHAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1547	SH-31, BETWEEN KILOMETRE STONE NUMBER 216 TO 223, LHS WHILE MOVING FROM MANDSAUR TO NEEMUCH	NEEMUCH	REGULAR	150	OBC CC 1	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1548	SH-50, VILLAGE DAPORA	BURHANPU R	REGULAR	150	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1549	DEWAS WML, WITHIN 1 KM OF DISTRICT & SESSION COURT ON AB ROAD, DEWAS	DEWAS	REGULAR	150	Open PH	CC	20	20	400	25	10	BIDDING	30	5
1550	NH-59, VILLAGE HAZRATPUR	DHAR	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1551	RAJGARH WITHIN TOWN LIMITS NOT ON SH	DHAR	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1552	SH-31, VILLAGE NAMLI, ON RIGHT HAND SIDE TOWARDS NEEMUCH	RATLAM	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1553	DHAR WML, NOT ON SH	DHAR	REGULAR	150	Open	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1554	NH-59, VILLAGE SEJWANI	DHAR	REGULAR	150	OBC	CC	35	35	1225	25	10	BIDDING	30	4
1555	SH-22, FROM VILLAGE PIPLYA NANKAR TO VILLAGE DEEPGAON ON SANDALPUR-NASRULLAHGANJ SH-22, LHS TOWARDS NASRULLAHGANJ	DEWAS	REGULAR	150	Open	CC	35	45	1575	25	10	BIDDING	30	5
1556	SH22, BORDHA ON SANDALPUR-NASRULLAHGANJ STATE HIGHWAY	DEWAS	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1557	SH-27, VILLAGE MANIHAR	KHARGONE	REGULAR	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1558	SH-26, WITHIN 3KM FROM RAJPUR POLICE CHOWKI ON JULWANIA-RAJPUR ROAD TOWARDS JULWANIA	BARWANI	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1559	DEWAS WML, MENDKI ROAD, DEWAS	DEWAS	REGULAR	120	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1560	SH-31, VILLAGE MANANKHEDA	RATLAM	REGULAR	150	Open CC 1	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1561	SH-31A, MANPUR- LEBAD HIGHWAY, VILLAGE KODIYA	INDORE	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1562	SH-36, FROM NEWALI TOWARDS PANSEMAL ON NEWALI PANSEMAL ROAD UPTO 3 KM	BARWANI	REGULAR	150	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1563	WITHIN 1KM OF SHOPPER'S STOP MALL ON OLD AB ROAD	INDORE	REGULAR	200	Open	СС	20	20	400	25	10	BIDDING	30	5
1564	KABIT KHEDI, WITHIN INDORE MUNICIPAL LIMITS	INDORE	REGULAR	120	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1565	SH-39, WITHIN 3KM FROM IOC OUTLET (SIDDHI VINAYAK PETROLEUM, RAJPUR) ON BARWANI-RAJPUR ROAD (SH- 39)	BARWANI	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1566	SH-26, VILLAGE BANIHAR ON KHAGONE-JULWANIA ROAD	KHARGONE	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1567	SH-27, BETWEEN KM STONE 20 & 22, ON INDORE-UJJAIN ROAD, LHS TOWARDS INDORE	INDORE	REGULAR	120	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1568	SH-31, BETWEEN KILOMETRE STONE NUMBER 216 TO 223, RHS WHILE MOVING FROM MANDSAUR TO NEEMUCH	NEEMUCH	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1569	SH-31, VILLAGE BAGA KHEDA	RATLAM	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1570	SH-14, MANDSAUR POST OFFICE WITHIN 6KM	MANDSAU R	REGULAR	100	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3

1571	SH-15, VILLAGE DAGADKHEDI	KHANDWA	REGULAR	150	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1572	SH-31 BETWEEN KM STONE NAYAGAON 16 KM TO NAYAGAON 13 KM	MANDSAU R	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
1573	SH-31, VILLAGE PADLIYA UMATH	RATLAM	REGULAR	150	OBC	DC	35	45	1575	25	60	DRAW OF LOTS	15	4
1574	SH-31, VILLAGE MEWASA	RATLAM	REGULAR	150	ST	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1575	UPTO 2 KM ON REWA GURH BYPASS, FROM INTERSECTION OF GURH ROAD AND REWA GURH BYPASS, ON REWA SIDE(LEFT HAND SIDE) ON NH 39 (OLD NH 75)	REWA	REGULAR	150	OBC	СС	45	45	2025	25	10	BIDDING	30	4
1576	PADRIGANJ ON NAINPUR- LAMTA ROAD (SH-11)	MANDLA	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1577	NAGOD SINGHPUR CHOWK TOWARDS JASO WITHIN NAGOD MUNICIPAL LIMITS ON SH 52	SATNA	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
1578	NAGOD SINGHPUR CHOWK TOWARDS SINGHPUR ON RIGHT SIDE WITHIN NAGOD MUNICIPAL LIMIT ON SH 56	SATNA	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
1579	UPTO 2 KM FROM SATNA AGRASEN CHOWK TOWARDS MAIHAR ON EITHER SIDE	SATNA	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1580	UPTO 1 KM EITHER SIDE FROM OLD BUS STAND ON ANY MAIN ROAD	REWA	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1581	BETWEEN 2 KM TO 4 KM FROM NAGOD SINGHPUR CHOWK TOWARDS SATNA ON LEFT HAND SIDE , ON NH 39 (OLD NH 75)	SATNA	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1582	UPTO 5 KM , FROM REWA BYPASS TOLL PLAZA AT CHORHATA, TOWARDS BELA TIRAHA LEFT SIDE ON OLD NH 7	REWA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1583	BETWEEN 1 KM TO 3 KM FROM BARGAWAN RAILWAY CROSSING TOWARDS WAIDHAN ON LEFT SIDE(NOT ON NH)	SINGRAULI	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
1584	VILLAGE KATRA TEHSIL TEONTHAR ON MANGAWAN CHAKGHAT ROAD (OLD NH 27)	REWA	REGULAR	150	OBC CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1585	UPTO 2 KM EITHER SIDE FROM BUS STAND ON SATNA MAIN ROAD	SATNA	REGULAR	100	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1586	JAMAI WITHIN MUNICIPAL LIMIT, ON ANY MAJOR ROAD	CHHINDWA RA	REGULAR	100	OPEN PH	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1587	BETWEEN 5 TO 10 KM FROM BAHRI TIRAHA TOWARDS DEOSAR ON NH 39(OLD NH -75)	SIDHI	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1588	UPTO 3 KM FROM PARSONA CHOWK TOWARDS BARGAWAN ON ANY MAJOR ROAD	SINGRAULI	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
1589	VILLAGE KATIYA KALAN TEHSIL MAIHAR ON OLD NH-7 REWA MAIHAR ROAD	SATNA	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1590	FROM NIPANIYA CHOWK REWA TOWN TOWARDS NIPANIYA TAMARA TIRAHA ON MAIN ROAD VIA GOVERMENT AURVEDA COLLEGE HOSPITAL	REWA	REGULAR	100	OPEN	CC	20	20	400	25	10	BIDDING	30	5
1591	VILLAGE GARH TEHSIL MANGAWAN ON MANGAWAN CHAKGHAT ROAD (NH 27)	REWA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1592	UPTO 15 KM FROM SIDHI TARUN DWAR(REWA SIDE) TOWARDS REWA ON NH39 (OLD NH 75)	SIDHI	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5

1593	FROM MUKHTAYARGANJ OVERBRIDGE TOWARDS MUKHTAYARGANJ CHOWK ON STATION ROAD TEHSIL RAGHURAJ NAGAR BLOCK SOHAWAL IN SATNA WML	SATNA	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1594	UPTO 1 KM EITHER SIDE FROM OLD BUS STAND ON ANY MAIN ROAD	SIDHI	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1595	VILLAGE DEVTALAB TEHSIL MAUGANJ ON REWA HANUMANA ROAD (OLD NH 7)	REWA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1596	FROM SAMRAT PRITHVI RAJ SINGH CHOWK TOWARDS JOGIPUR ON RHS WITHIN SIDHI MUNICIPAL LIMIT	SIDHI	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1597	VILLAGE BACHRA TEHSIL AMARPATAN DIST SATNA ON OLD NH 7	SATNA	REGULAR	150	OPEN CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1598	FROM INTERSECTION OF BARGAWAN PARSONA ROAD & JAYANT SINGRAULI ROAD TOWARDS DEOSAR ON NH 39 (OLD NH 75) UPTO 5 KM	SINGRAULI	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1599	LEAVING 1 KM FROM ICHOUL TOLL PLAZA TO UNCHEHRA RAILWAY CROSSING ON SH-11	SATNA	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1600	FROM KHADDA TOLL PLAZA 4KM TO 6 KM LHS SIDE TOWARDS GURH ON REWA GURH SIDHI ROAD ON NH 39(OLD NH 75)	REWA	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1601	VILLAGE MAUHARI KATRA TEHSIL AMARPATAN ON OLD NH 7 REWA TO AMARPATAN ROAD DIST SATNA	SATNA	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1602	FROM MAIHAR POLICE STATION TO 1 KM BEFORE ICHOUL TOLL PLAZA ON SH-11	SATNA	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1603	UPTO 2 KM FROM MAJAN MOR TOWARDS JAYANT ON MAIN ROAD	SIDHI	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1604	BETWEEN 4 KM TO 6KM ON LEFT SIDE FROM SATNA CHITRAKOOT TIRAHA ON SH 11 , TOWARDS CHITRAKOOT	SATNA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1605	BETWEEN 10 KM TO 12 KM ON RIGHT SIDE FROM JOGIPUR TIRAHA TOWARDS BAHRI TIRAHA TEHSIL BAHRI NH 39(OLD NH 75)	SIDHI	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1606	MAIHAR WML ON REWA KATNI MAIN ROAD	SATNA	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1607	UPTO 2 KM FROM LANDMARK HOTEL TOWARDS SIRMOUR CHOWK RIGHT HAND SIDE ON MAIN ROAD	REWA	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1608	UPTO 2KM FROM INTERSECTION OF OLD NH-7 & OLD NH- 75 TOWARDS SATNA ON OLD NH-75 LEFT SIDE .	SATNA	REGULAR	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
1609	FROM KILOMETER STONE NO 5 UPTO 2 KM TOWARDS ALLAHABAD ON RATHERA BYPASS ROAD	REWA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1610	UPTO 5 KM FROM PRISM MOR TOWARDS REWA ON NH 39(OLD NH 75)	SATNA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1611	VILLAGE JHUKEHI, TEHSIL MAIHAR ON KATNI REWA BYPASS (OLD NH 7)	SATNA	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1612	UPTO 2KM ON RIGHT SIDE FROM BAHRI TIRAHA TOWARDS HANUMANA ON SH-52	SIDHI	REGULAR	100	OPEN	СС	35	35	1225	25	10	BIDDING	30	5
1613	FROM SEMARIYA CHOWK TO BIRLA HOSPITAL, SATNA CITY	SATNA	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4

								1			1	1		· · · · · · · · · · · · · · · · · · ·
1614	UPTO 3 KM ON LEFT SIDE FROM THE INTERSECTION OF OLD NH-7 & NH-39(OLD NH 75) AT BELA TOWARDS AMARPATAN	SATNA	REGULAR	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
1615	UPTO 2 KM FROM JUNCTION OF SIDHI BYPASS AND SIDHI ROAD AT JAMODI TOWARDS CHURHAT ON NH 39(OLD NH 75)	SIDHI	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1616	UPTO 5 KM FROM BAHRI TIRAHA TOWARDS DEOSAR RIGHT HAND SIDE ON NH 39(OLD NH 75)	SIDHI	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1617	FROM RAJIV CHOWK WAIDHAN UP TO 5 KM TOWARDS NIGAHI	SINGRAULI	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1618	UPTO 2 KM ON EITHER SIDE FROM MILE STONE NO 259 ON REWA GURH ROAD NH 39 (OLD NH 75)	REWA	REGULAR	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
1619	VILLAGE GADERIYA ON RATHERA SILPARA BYPASS	REWA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1620	BETWEEN 1KM TO 5 KM, FROM INTERSECTION OF NH27 & KYOTI KALWARI ROAD TOWARDS MANGAWAN ON NH 27	REWA	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1621	VILLAGE AMIRATI TEHSIL MAJHGAWAN ON NH -7 FROM REWA TO MANGAWAN ,RHS	REWA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1622	VILLAGE BADHOURA ON NH 39 (OLD NH 75)	SIDHI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1623	VILLAGE SAGRA ON REWA -SIRMOUR ROAD (NH 135 B)	REWA	REGULAR	150	OPEN CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1624	VILLAGE SAJJANPUR TEHSIL RAMPUR BAGHELAN ON NH 39	SATNA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1625	VILLAGE GUGDI TEHSIL MAIHAR ON OLD NH 7 ON KATNI REWA ROAD	SATNA	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1626	REWA TO SIRMOUR UNIVERSITY ROAD , WITHIN REWA MUNICIPAL LIMIT	REWA	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1627	BETWEEN 1 KM TO 6 KM FROM SH-9 & SH-49 JUNCTION TOWARDS DEVLOND ON SH-9	SIDHI	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
1628	VILLAGE SURSA KHURD, TEHSIL RAIPUR KARCHULIYAN ON REWA MANGAWAN OLD NH -7	REWA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1629	UPTO 5 KM FROM SHARADA COLLEGE , SARLANAGAR(MAIHAR) ON EITHER SIDE SH11	SATNA	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1630	BETWEEN MILE STONE NO 50 TO 52 ON LEFT SIDE TOWARDS BEOHARI, ON SH 55	SIDHI	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1631	VILLAGE KHATKHARI ON REWA HANUMANA ROAD OLD NH-7	REWA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1632	AMARPATAN WITHIN MUNICIPAL LIMIT ,ON ANY MAIN ROAD	SATNA	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1633	BETWEEN 1KM TO 3 KM RIGHT SIDE FROM INTERSECTION OF GURH ROAD AND REWA GURH BYPASS ON REWA SIDE, ON NH 39 REWA GURH BYPASS	REWA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1634	VILLAGE GANGEO TEHSIL MANGAWAN ON NH 27	REWA	REGULAR	150	ST CC 1	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1635	VILLAGE UCHEHARA TEHSIL NOWRAZABAD ON UMARIA - SHAHDOL NATIONAL HIGHWAY	UMARIA	REGULAR	150	OPEN CC 2	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1636	UPTO 2 KM FROM GOEL CARGO PVT LTD TOWARDS REWA , LHS ,ON OLD NH 7	REWA	REGULAR	150	OBC CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1637	BETWEEN 1KM TO 3 KM FROM CROSSOVER OF REWA SIRMOUR ROAD AND REWA BYPASS ROAD TOWARDS SIRMOUR ON REWA SIRMOUR ROAD ON NH	REWA	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5

1638	VILLAGE GHUNWARA TEHSIL MAIHAR ON NH 7 ON KATNI REWA ROAD	SATNA	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1639	VILLAGE BAHUTI TEHSIL NAIGARHI ON REWA HANUMANA ROAD (OLD NH -7)	REWA	REGULAR	150	OBC	СС	45	45	2025	25	10	BIDDING	30	4
1640	VILLAGE KHERA RAJDIHA, TEHSIL BAHRI ON NH 39(OLD NH 75)	SIDHI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1641	FROM AMBEDKAR CHOWK ON BIJAPUR ROAD TOWARDS BIJAPUR,WITHIN SINGRAULI MUNICIPAL LIMITS	SINGRAULI	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1642	UPTO 2 KM FROM MAIHAR RAILWAY OVER BRIDGE TOWARDS REWA ON MAIN ROAD	SATNA	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1643	UPTO 10 KM FROM INTERSECTION OF OLD NH-7 AND NH- 27 IN MANGAWA, REWA, ON OLD NH-7 TOWARDS HANUMANA RIGHT HAND SIDE	REWA	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1644	FROM INTERSECTION OF SIDHI TIKRI ROAD & SIDHI BYPASS TOWARDS CHURHAT UPTO 2 KM LHS ON NH 39	SIDHI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1645	VILLAGE BARI TEHSIL AMARPATAN ON REWA MAIHAR ROAD, ON OLD NH-7	SATNA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1646	UPTO 5 KM , FROM POST OFFICE DEOSAR TOWARDS SIDHI ON NH 39 (OLD NH 75)	SINGRAULI	REGULAR	150	OBC	CC	45	45	2025	25	10	BIDDING	30	4
1647	BETWEEN 4 TO 6 KM , FROM INTERSECTION OF OLD NH7 & NH 27 TOWARDS BELA ON OLD NH7 LHS	REWA	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1648	VILLAGE KHUTAHA ON AMARPATAN- BELA ROAD ON OLD NH 7, TEHSIL AMARPATAN	SATNA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1649	UPTO 1KM TO 3 KM FROM CROSSOVER OF REWA SIRMOUR ROAD AND REWA BYPASS TOWARDS BELA ON REWA BYPASS ON NH	REWA	REGULAR	150	OPEN CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1650	BETWEEN 1 TO 3 KM FROM CROSSOVER OF REWA SIRMOUR ROAD AND REWA BYPASS TOWARDS RAMNAI ON REWA BYPASS ON NH	REWA	REGULAR	150	OBC	CC	45	45	2025	25	10	BIDDING	30	4
1651	VILLAGE AKAURI TEHSIL DEOSAR ON NH 39 SIDHI SINGRAULI ROAD	SINGRAULI	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1652	ON NH 39 (OLD NH 75) BY PASS, VILLAGE SAGONI BLOCK RAMPUR BAGHELON ,TEHSIL RAMPUR RAGHELON	SATNA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1653	BETWEEN 4KM TO 7 KM FROM DEOSAR POLICE STATION TOWARDS BARGWAN ON NH 39(OLD NH 75)	SINGRAULI	REGULAR	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
1654	UPTO 5 KM FROM PRISM MOD TOWARDS SATNA CITY ON NH 39(OLD NH 75)	SATNA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1655	VILLAGE BELVAPAIKAN FROM REWA TOWARDS MANGAWAN ON OLD NH7 (RIGHT HAND SIDE)	REWA	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1656	VILLAGE TIKURA RAGHUNATHGANJ TEHSIL MANGAWAN ON OLD NH -7 MANGAWAN HANUMANA ROAD	REWA	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1657	UPTO 2 KM FROM INTERSECTION OF GOPAL DAS ROAD & SIDHI DISTRICT ROAD TOWARDS REWA ,ON SIDHI DISTRICT ROAD ON LHS, WITHIN SIDHI MUNICIPAL LIMIT	SIDHI	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5

1658	UPTO 5 KM FROM UP MP BORDER AT CHAKGHAT	REWA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1050	TOWARDS SUHAGI ON NH 27		RECOLAR	130	ODC	DC	45	43	2023	23	75	DIAW OF LOTS	15	4
1659	UPTO 4 KM FROM INTERSECTION OF REWA DISTRICT ROAD & OLD NH -7 AT CHORHATA TOWARDS SATNA ON OLD NH-7 .	REWA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1660	UPTO 4 KM FROM INTERSECTION OF MAIHAR-SATNA ROAD & MAIHAR REWA ROAD , TOWARDS KATNI ON OLD NH -7 (NOT ON BYPASS)	SATNA	REGULAR	150	SC PH	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1661	VILLAGE KHAJURI ON TÉHSIL GOPADBANAS SIDHI SINGRAULI ROAD NH 39 (OLD NH 75)	SIDHI	REGULAR	150	OBC PH	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1662	UPTO 4 KM FROM BAHRI TIRAHA ON LHS TOWARDS SINGRAULI ON NH 39 (OLD NH 75)	SIDHI	REGULAR	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
1663	VILLAGE KANHWARA TEHSIL MAIHAR ON MAIHAR KATNI ROAD OLD NH 7	SATNA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1664	UPTO 3 KM FROM UP MP BORDER AT HANUMANA TOWARDS DEOTLAB ON OLD NH 7	REWA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1665	UPTO 5 KM FROM MAJAN MOR TOWARDS COLLECTORATE OFFICE SINGRAULI, ON MAIN ROAD	SINGRAULI	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1666	VILLAGE BHAROLI ON MAIHAR KATNI OLD NH 7 ,BLOCK MAIHAR ,TEHSIL MAIHAR	SATNA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1667	VILLAGE BHURI ON SH 52 FROM HANUMANA TO BAHRI TIRAHA	REWA	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
1668	VILLAGE NAYAGAON TEHSIL MAIHAR ON KATNI REWA ROAD (OLD NH 7)	SATNA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1669	UPTO 2 KM FROM JUNCTION OF SIDHI BYPASS & SIDHI CITY ROAD AT JAMODI TOWARDS SIDHI CITY ROAD ON LEFT SIDE	SIDHI	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1670	UPTO 8 KMS FROM THE JUNCTION OF SATNA REWA ROAD AND SATNA MAIHAR BYPASS ON SH-11 TOWARDS MAIHAR	SATNA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1671	WITHIN RADIUS OF 2 KMS FROM NETAJI STATUE SQUARE LANJI, ON ANY MAIN ROAD	BALAGHAT	REGULAR	100	OPEN	CC	20	20	400	25	10	BIDDING	30	5
1672	ON ANY MAIN ROAD PURWA , JABALPUR	JABALPUR	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1673	VILLAGE RAIGAWAN TEHSIL MAIHAR ON KATNI REWA ROAD (OLD NH -7)	SATNA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1674	WITHIN SATNA MUNICIPAL LIMIT, ON SH11	SATNA	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1675	UPTO 10 KM FROM SBI MAIN BRANCH,CHHINDWARA TOWARDS KHAJRI ROAD	CHHINDWA RA	REGULAR	100	OPEN CC 1	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1676	VILLAGE KANCHANPUR TEHSIL MAIHAR ON MAIHAR REWA ROAD (OLD NH7)	SATNA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1677	UPTO 2 KM FROM JUNCTION OF SATNA AMARPATAN ROAD & NH39 (OLD NH 75) TOWARDS SATNA CITY ON RIGHT SIDE	SATNA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1678	UPTO 2 KM FROM JUNCTION OF SIDHI BYPASS & SIDHI CITY ROAD AT JAMODI TOWARDS SIDHI CITY ROAD ON RIGHT SIDE	SIDHI	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1679	VILLAGE BIRSINGHPUR TEHSIL AMARPATAN ON REWA- AMARPATAN ROAD(OLD NH-7) ,TOWARDS AMARPATAN ON RIGHT HAND SIDE	SATNA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1680	FROM JOGINHI TOLL PLAZA TOWARDS HANUMANA BETWEEN 1 TO 3 KM RHS ON OLD NH 7	REWA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4

1681	SIHORA WITHIN NAGAR PALIKA LIMIT	JABALPUR	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1682	UPTO 2 KM FROM JUCTION OF REWA BYPASS OLD NH 7 & REWA CITY ROAD AT CHORHATA TOWARDS REWA CITY ON LEFT SIDE, WITHIN REWA MUNICIPAL LIMIT	REWA	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1683	VILLAGE RAMPUR ON NH 39 (OLD NH 75)TEHSIL RAMPUR BAGHELON	SATNA	REGULAR	150	ST CC 1	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1684	VILLAGE KOTHAR ON NH 39 (OLD NH 75)ON REWA SATNA ROAD	SATNA	REGULAR	150	OBC CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1685	UPTO 2 KM FROM JUCTION OF REWA BYPASS OLD NH 7 & REWA CITY ROAD AT CHORHATA TOWARDS REWA CITY ON RIGHT SIDE,WITHIN REWA MUNICIPAL LIMIT	REWA	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1686	RAHATGARH WITHIN MUNICIPAL LIMIT ,ON ANY MAIN ROAD	SAGAR	REGULAR	100	OPEN PH	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1687	UPTO 2 KM FROM JUNCTION OF SIDHI BYPASS & SIDHI CITY ROAD AT JOGIPUR TOWARDS SIDHI CITY ROAD ON RIGHT SIDE	SIDHI	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1688	FROM JOGINHI TOLL PLAZA TOWARDS REWA BETWEEN 1 TO 4 KM LHS ON OLD NH 7	REWA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1689	UPTO 3 KM FROM HOTEL SHAMBHAVI TOWARDS UTTAR PRADESH ON NH 39 (OLD NH 75) ON LEFT SIDE	SINGRAULI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1690	VILLAGE KOHARAKHOH TEHSIL DEOSAR ON NH 39 DEOSAR TO SINGRAUI	SINGRAULI	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1691	UPTO 2 KM FROM MAJAN MOR TOWARDS PARSONA CHOWK ON MAIN ROAD	SINGRAULI	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1692	UPTO 3 KM FROM HOTEL SHAMBHAVI TOWARDS UTTAR PRADESH ON NH 39 (OLD NH 75) ON RIGHT SIDE	SINGRAULI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1693	UPTO 2 KM FROM SHUKLA MOR TOWARDS GORBI ON NH 39 (OLD NH 75) ON LEFT SIDE	SINGRAULI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1694	UPTO 2 KM FROM SHUKLA MOR TOWARDS GORBI ON NH 39 (OLD NH 75) ON RIGHT SIDE	SINGRAULI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1695	UPTO 2 KM FROM NEW BUS STAND ON MAIN ROAD ,EITHER SIDE, WITHIN REWA CITY	REWA	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1696	UPTO 5KM FROM RTO OFFICE SEONI, ON EITHER SIDE ON ANY MAIN ROAD	SEONI	REGULAR	100	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1697	FROM INTERSECTION OF BARGAWAN PARSONA ROAD & GORBI MORWA ROAD TOWARDS MORWA ON NH 39 (OLD NH 75) UPTO 3 KM	SINGRAULI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1698	UPTO 5 KM FROM BANJARI MATA TEMPLE TEHSIL LAKHNADON ON NH 26, ON EITHER SIDE	NARSINGH PUR	REGULAR	150	OPEN CC 1	CC	45	45	2025	25	10	BIDDING	30	5
1699	GRAM PANCHAYAT SURLA KHAPA ON NH 547	CHHINDWA RA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1700	VILLAGE DANGHIDHANA ON NH 26	NARSINGH PUR	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1701	BETWEEN 2KM TO 7KM,FROM REWA CHORHATA BYPASS TOLL PLAZA TOWARDS MANGAWAN ON RIGHT SIDE ON NH	REWA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5

-		г – т			1		1				1			,
1702	UPTO 10 KM FROM RAILWAY CROSSING ON CHHINDWARA NARSINGHPUR ROAD TOWARDS	CHHINDWA	REGULAR	150	OBC	СС	45	45	2025	25	10	BIDDING	30	4
1702	NARSINGHPUR ON NH-547,CHHINDWARA	RA	KLOULAK	150	ODC	CC	45	40	2025	25	10	BIDDING	30	4
1703	UPTO 5 KM EITHER SIDE FROM RANI KOTHI LAWN	CHHINDWA	REGULAR	100	OPEN	DC	25	30	750)E	46	DRAW OF LOTS	15	5
1703	,CHHINDWARA	RA	REGULAR	100	OPEN	DC	25	30	750	25	45	DRAW OF LOTS	15	Э
1704	CHHINDWARA WITHIN MUNICIPAL LIMIT ON ANY MAJOR		REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
	ROAD GADARWADA WITHIN MUNICIPAL LIMIT, ON ANY MAIN	RA NARSINGH												
1705	ROAD	PUR	REGULAR	100	SC	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
170/	UPTO 4 KM FROM KILOMETER STONE NO 55 ,TOWARDS	NARSINGH		100	0.00	5.0	05	05	(0.5	05	(0		45	
1706	JABALPUR ON OLD SH-22	PUR	REGULAR	100	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1707	BETWEEN 1KM TO 10 KM ON EITHER SIDE FROM JAITPUR		REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
-	TOLL PLAZA ON NH 547	RA									-		-	-
1708	UPTO 3 KM FROM THE INTERSECTION OF OLD SH-11A	SEONI	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
	AND OLD SH-26, TOWARDS MANDLA SIDE ON OLD SH-11A	02011			0. 2.1	20	00			20				Ū
1709	IN VILLAGE DAMUA , ON ANY MAIN ROAD	CHHINDWA	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1709		RA	KLOULAK	100	51	015	55	33	1225	0	0	DIAW OF LOTS	0	5
1710	UPTO 6 KM FROM MILESTONE NO 56 ON SH22 TOWARDS NARSINGHPUR	NARSINGH PUR	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
		NARSINGH												
1711	GRAM PANCHAYAT PANARI ON SH-22	PUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
	UPTO 6 KM FROM AMGAON CHHOTA TIGADDA	NARSINGH												
1712	TOWARDS PIPARIYA ON SH-22, WITHIN GADARWARA	PUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1713	UPTO 10 KM FROM RAYMONDS FACTORY MAIN GATE , ON EITHER SIDE , TEHSIL SAUNSAR ON NH -547	CHHINDWA RA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1714	GRAM BAMHODI ON SH 26	SEONI	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	UPTO 3 KM FROM MAHAVIR VYAYAMSHALA (KEVTI									-	-		-	-
1715	WARD CHOWK)TOWARDS BALAGHAT, WITHIN SEONI	SEONI	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
	MUNICIPAL LIMIT													
1716	UPTO 10 KM ON EITHER SIDE FROM HOTEL SHAHNAI IN	NARSINGH PUR	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
	GADARWADA , ON SH 22 UTPO 10 KM FROM BADCHICHOLI ROAD TOWARDS	CHHINDWA												
1717	BHOPAL, EITHER SIDE ON NH 47	RA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1718	UPTO 5 KM EITHER SIDE OF ROAD FROM BANJARI MATA	SEONI	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1710	TEMPLE TEHSIL LAKHNADON ON NH 7	JEON	REGOLAR	150	50	015	40	40	2023	0	0	DIAW OF LOTS	0	5
1719	SEONI WITHIN MUNICIPAL LIMIT, ON ANY MAIN ROAD	SEONI	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
	UPTO 10 KM ON EITHER OF THREE ROAD FROM	CHHINDWA												
1720	CHHINDWARA CHOWK IN CHHINDWARA	RA	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1721	UPTO 8 KM FROM MILESTONE NO 355 ON OLD NH 26 ,ON		REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1/21	EITHER SIDE	PUR	REGULAK	150	UDU	DC	40	40	2025	20	75	DRAW OF LUIS	10	4
1722	KARELI WITHIN MUNICIPAL LIMIT, ON ANY MAIN ROAD	NARSINGH	REGULAR	100	OPEN	DC	25	30	750	25	45	DRAW OF LOTS	15	5
1723	ON SEONI RING ROAD	PUR SEONI	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1723	VILLAGE KAHANI ON SH40	SEONI	REGULAR	100	OBC	CC	35	35	1225	25	10	BIDDING	30	4
	VILLAGE PALOHA ON NH 26	NARSINGH												
1725	VILLAGE PALOHA UN NH 20	PUR	REGULAR	150	OPEN CC 1	CC	45	45	2025	25	10	BIDDING	30	5
1726	VILLAGE RAMAKONA, ON NH-547	CHHINDWA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
_		RA				-			-		-			

1727	VILLAGE DUDWARA ON NH 26	NARSINGH PUR	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1728	UPTO 8 KM TOWARDS PARASIA FROM AMBEDKAR STATUE ON CHHINDWARA - PARASIA ROAD (SH 19)	CHHINDWA RA	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1729	CHHINDWARA RING ROAD ON NH 347	CHHINDWA RA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1730	CHHINDWARA RING ROAD ON NH 547	CHHINDWA RA	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1731	VILLAGE KURAI ON NH 7	SEONI	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1732	VILLAGE PINDAKAPAR ON NH 7	SEONI	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1733	UPTO 10 KM EITHER SIDE FROM POWER GRID MAIN GATE -SEONI	SEONI	REGULAR	100	OPEN	DC	25	35	875	25	45	DRAW OF LOTS	15	5
1734	BICHHUA MUNICIPAL LIMIT, ON ANY MAJOR ROAD	CHHINDWA RA	REGULAR	100	OPEN CC 2	DC	25	30	750	25	45	DRAW OF LOTS	15	5
1735	BARGHAT WITHIN MUNICIPAL LIMIT ,ON ANY MAJOR ROAD	SEONI	REGULAR	100	OBC CC 1	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
1736	UPTO 2 KM FROM MADHAVGARH FORT TOWARDS REWA ON NH 39 (OLD NH 75)	SATNA	REGULAR	150	SC CC 1	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1737	VILLAGE KHURSIPAR, TEHSIL LAKHNADON ON SH 40	SEONI	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1738	VILLAGE PURGAWA (ON SH-22)	NARSINGH PUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1739	BETWEEN 1 KM TO 10 KM FROM ALLONIA TOLL PLAZA TOWARDS NAGPUR ON OLD NH -7	SEONI	REGULAR	150	OBC	CC	45	45	2025	25	10	BIDDING	30	4
1740	BETWEEN 1 KM TO 5 KM FROM RAJMARG CHOURAHA (NEAR SUATALA, INTERSECTION OF NH 26 AND NH 12) TOWARDS SAGAR ON NH 26	NARSINGH PUR	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1741	UPTO 5 KM ON EITHER SIDE FROM ANNUPURNA RICE MILL SEONI ON NH-7	SEONI	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1742	UPTO 5 KM EITHER SIDE OF ROAD FROM BANJARI MATA TEMPLE TEHSIL LAKHNADON ON NH 26	SEONI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1743	VILLAGE GOPALGANJ ON OLD NH 7	SEONI	REGULAR	150	OBC	CC	45	45	2025	25	10	BIDDING	30	4
1744	UPTO 6 KM TOWARDS CHHINDWARA FROM CHHINDWARA CHOWK ON NH 347 (GANESH MANDIR, SEONI)	SEONI	REGULAR	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
1745	VILLGAE SUKHTARA ON NH 7	CHHINDWA RA	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1746	FROM ST ALOYSIUS COLLEGE TO INTERSECTION OF JABALPUR MANDLA ROAD AND NEW BYPASS ,ON JABALPUR MANDLA ROAD	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1747	VILLAGE BANGAON ON NH 547	CHHINDWA RA	REGULAR	150	OBC	CC	45	45	2025	25	10	BIDDING	30	4
1748	DAMOH NEW BYPASS ON SH 14	DAMOH	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1749	DONGAR PARASIA	CHHINDWA RA	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1750	WITHIN MUNICIPAL LIMIT OF MOHGAON, TEHSIL- CHHINDWARA , ON ANY MAIN ROAD	CHHINDWA RA	REGULAR	100	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
1751	BETWEEN 1KM TO 15 KM FROM CIRCLE(ON CHHINDWARA TO NAGPUR ROAD) TOWARDS UMRANALA ON NH 347	CHHINDWA RA	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5

1752	VILLAGE SUKHTARA ON OLD NH 7 TOWARDS NAGPUR	SEONI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1753	UPTO 5 KM ON EITHER SIDE OF MILESTONE NO 88 ON SH 44	NARSINGH PUR	REGULAR	100	OBC	CC	35	35	1225	25	10	BIDDING	30	4
1754	UPTO 4 KM ON EITHER SIDE OF KILOMETRE STONE NO 20 ON SH 14	SAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1755	BILHARI, ON ANY MAJOR ROAD	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1756	VILLAGE KASAI ON NH 26	SEONI	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1757	UPTO 10 KM ON EITHER SIDE OF CENTRAL BANK OF INDIA VILLAGE BALKHEDA ON OLD NH 12	NARSINGH	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1758	UPTO 10 KM FROM INTERSECTION OF OLD NH 7 WITH SH- 40 TOWARDS JABALPUR SIDE ON OLD NH 7 (LAKHNADAUN)	SEONI	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1759	DAMUA WITHIN MUNICIPAL LIMIT ,ON ANY MAJOR ROAD	CHHINDWA RA	REGULAR	100	OPEN	СС	30	30	900	25	10	BIDDING	30	5
1760	CHAURAI WITHIN MUNICIPAL LIMIT ,ON ANY MAJOR ROAD	CHHINDWA RA	REGULAR	100	OPEN	DC	25	30	750	25	45	DRAW OF LOTS	15	5
1761	UPTO 1 KM FROM GHANTAGHAR, ON JABALPUR ROAD , DAMOH	DAMOH	REGULAR	100	OBC PH	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1762	VILLAGE CHITUAHA TEHSIL NOWRAZABAD ON UMARIA - SHAHDOL NATIONAL HIGHWAY	UMARIA	REGULAR	150	ST PH	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1763	NEWTON CHIKLI WITHIN MUNICIPAL LIMIT, ON ANY MAJOR ROAD	CHHINDWA RA	REGULAR	100	OPEN	CC	30	30	900	25	10	BIDDING	30	5
1764	GRAM PANCHAYAT SURLAKHAPA ON NH 547	CHHINDWA RA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1765	VILLAGE JHILMILI ON NH 547	CHHINDWA RA	REGULAR	150	OBC	СС	45	45	2025	25	10	BIDDING	30	4
1766	PIPLANRAYANWAR,WITHIN MUNICIPAL LIMIT ,ON ANY MAJOR ROAD	CHHINDWA RA	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1767	BETWEEN 1 KM TO 4 KM ON SH 42 FROM INTERSECTION OF SH 42 WITH SAGAR BINA ROAD ,NEAR GURUKAL CHOURAHA IN KHURAI,TOWARDS KHIMLASA	SAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1768	WITHIN 10 KM FROM CHHATATRPUR BUS STAND TOWARDS MAHOBA ON NATIONAL HIGHWAY	CHHATARP UR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1769	UPTO 5 KM FROM DULHA DEV MANDIR ON OLD NH7 TOWARDS JABALPUR	CHHINDWA RA	REGULAR	150	OBC	CC	45	45	2025	25	10	BIDDING	30	4
1770	BETWEEN 1 KM TO 5 KM EITHER SIDES FROM NARMADA RIVER BRIDGE(SATDHARA RIVER BRIDGE) TOWARDS JHANSI ON NH-26	NARSINGH PUR	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1771	UPTO 2 KM FROM CIVIL LINE CHOURAHA, TOWARDS BUS STATION , SAGAR TOWN	SAGAR	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1772	VILLAGE KUNDAL ON NH 547	CHHINDWA RA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1773	UPTO 10 KM EITHER SIDE FROM SHUBHAM DHABA, VILLGAE SAMASWADA ON NH 347	CHHINDWA RA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1774	UPTO 2 KM FROM KILOMETRE STONE NO 43 ON SH 37,ON EITHER SIDE	DAMOH	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1775	HARRAI , WITHIN MUNICIPAL LIMIT ,ON ANY MAIN ROAD	CHHINDWA RA	REGULAR	100	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4

1776	UPTO 2 KM FROM SIMARIYA CHOWK SATNA TOWARDS KRISHNA NAGAR MARKET LEFT HAND SIDE	SATNA	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1777	VILLAGE IMLIKHEDA ON NH 347	CHHINDWA RA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1778	UPTO 10KM ON EITHER SIDE OF SAMARPAN JAIN TIRTH, JHILMILLI ON NH 347	CHHINDWA RA	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1779	UPTO 6 KM ON NH-547 FROM BAJAJ JOD(IN SAWLI) TOWARDS NAGPUR	CHHINDWA RA	REGULAR	150	OBC	CC	45	45	2025	25	10	BIDDING	30	4
1780	GARHAKOTA, WITHIN MUNICIPAL LIMIT (ON ANY MAIN ROAD)	SAGAR	REGULAR	100	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1781	FROM RAMPUR MASHAL CHOWK(GRENADE CHOWK) TO SOUTH AVENUE MALL,JABALPUR CITY	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1782	RANIPUR, ON ANY MAJOR ROAD WITHIN JABALPUR CITY	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1783	WITHIN 2 KM FROM DAMOH NAKA SQUARE ON ANY MAIN ROAD, JABALPUR CITY	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1784	WITHIN 4 KM FROM NOHTA POLICE STATION, EITHER SIDE ON SH-37	DAMOH	REGULAR	100	OBC CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1785	UPTO 5 KM FROM HANUMAN TEMPLE , EITHER SIDE ON NH 26	SEONI	REGULAR	150	SC CC 1	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1786	BIJAWAR WITHIN MUNICIPAL LIMIT ON ANY MAIN ROAD	CHHATARP UR	REGULAR	100	OPEN PH	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1787	UPTO 10 KM FROM RAILWAY CROSSING ON GOTEGAON - CHARGAWAN MAIN ROAD	NARSINGH PUR	REGULAR	100	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
1788	WITHIN 2 KM RADIUS ON ANY MAIN ROAD FROM GHANTAGHAR, JABALPUR CITY	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1789	UPTO 2 KM TOWARDS MAKRONIA SIDE FROM CIVIL LINE CHOURAHA, SAGAR TOWN	SAGAR	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1790	UPTO 1 KM FROM NIWAS BUS STAND TO MANDLA ROAD ,RIGHT HAND SIDE,TEHSIL NIWAS	MANDLA	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1791	UPTO 6 KM FROM RUCHI SOYA FACTORY ON GADARWADA-SAINKHEDA MAIN ROAD	NARSINGH PUR	REGULAR	100	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
1792	FROM RANIPUR TO SHAKTI BHAWAN,ON ANY MAIN ROAD WITHIN JABALPUR	JABALPUR	REGULAR	100	OPEN	DC	18	20	360	25	45	DRAW OF LOTS	15	5
1793	ON UKHRI ROAD, FROM SMALL WONDER SCHOOL TO MR- 4 JUNCTION, JABALPUR CITY	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1794	UPTO 2 KM ON EITHER SIDE OF KILOMETRE STONE NO 52 NEAR SEMRA ON NH 934	SAGAR	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1795	VILLAGE BARBATI , TEHSIL LAKHNADON ON OLD NH 7	SEONI	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1796	UPTO 4 KM FROM KALLE SHAH KI AMRAI QABRISTAN TOWARDS SEONI	SEONI	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1797	UPTO 2 KM FROM GHANTAGHAR, DAMOH, ON SAGAR ROAD	DAMOH	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1798	UPTO 5 KM FROM KILOMETRE STONE NO 192 ON OLD NH 26 (NEW NH 44) TOWARDS SAGAR SIDE	SAGAR	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1799	UPTO 5 KM FROM UTSAV RESORT ON NH 347 , ON EITHER SIDE	CHHINDWA RA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1800	UPTO 5 KM FROM SEONI CHURCH TOWARDS JABALPUR, ON JABALPUR ROAD	SEONI	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5

								1						
1801	UPTO 2 KM FROM UTSAV BHAWAN ON CHAWADI MAIN ROAD , WITHIN GADARWADA MUNICIPAL LIMIT	NARSINGH PUR	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1802	UPTO 5 KM FROM KILOMETER STONE NO 64 ON SH-26 TOWARDS SEONI ,TEHSIL BARGHAT	SEONI	REGULAR	100	OBC	DC	25	25	625	25	60	DRAW OF LOTS	15	4
1803	UPTO 5 KM FROM MALTHON POLICE STATION, ON OLD NH 26 (NEW NH 44) TOWARDS SAGAR SIDE	SAGAR	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1804	UPTO 2 KM FROM HOTEL SURBHI PALACE ON STATION ROAD ,GADARWADA	NARSINGH PUR	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1805	UPTO 3 KM ON EITHER SIDE OF KILOMETRE STONE NO 105, NEAR CHHIRARI ON SH 15 (JABALPUR REHLI ROAD)	SAGAR	REGULAR	100	OPEN	СС	35	35	1225	25	10	BIDDING	30	5
1806	VILLAGE SANODHA ON SH 14	SAGAR	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1807	BANDA WITHIN MUNICIPAL LIMIT (ON ANY MAIN ROAD)	SAGAR	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1808	UPTO 3 KM ON EITHER SIDE OF KILOMETRE STONE NO 36 ,NEAR CHANAUA, ON SH 14	SAGAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1809	ON LHS ON BELBAGH ROAD, WHILE GOING FROM GHAMAPUR SQURE TO BELBAGH THANA, JABALPUR CITY	JABALPUR	REGULAR	150	OPEN	DC	18	20	360	25	60	DRAW OF LOTS	15	5
1810	UPTO 3 KM ON EITHER SIDE OF HINOTI YATRI PRATIKSHALAYA ON SH 15 (JABALPUR REHLI ROAD)	SAGAR	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1811	UPTO 2 KM ON EITHER SIDE FROM AMBEDKAR CHOWK ON SAGAR BINA ROAD , KHURAI	SAGAR	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1812	WITHIN 2 KM FROM POST OFFICE GOHALPUR, ON ANY MAJOR ROAD	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1813	REHLI NEW BYPASS ON SH 15	SAGAR	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1814	BETWEEN 1 KM TO 6 KM TOWARDS TIKAMGARH ON SH 37 FROM INTERSECTION OF SH 37 AND NH 934 (SHAHGARH)	SAGAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1815	GARHA, ON ANY MAIN ROAD	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1816	BANDAKPUR ON SH-14	DAMOH	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1817	FROM MAKRONIA CHOURAHA IN MAKRONIA ,TOWARDS JHANSI SIDE (WITHIN MUNICIPAL LIMIT)	SAGAR	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1818	UPTO 2 KM TOWARDS TILI SIDE FROM CIVIL LINE CHOURAHA, SAGAR TOWN	SAGAR	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1819	FROM MAKRONIA CHOURAHA TOWARDS BAHERIYA TIGADDA (WITHIN MUNICIPAL LIMIT)	SAGAR	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1820	BETWEEN 1 KM TO 6 KM FROM THE INTERSECTION OF KHURAI NEW BYPASS WITH NH 934 (SAGAR SIDE) TOWARDS SAGAR	SAGAR	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1821	FROM MAKRONIA CHOURAHA IN MAKRONIA TOWARDS NARSINGHPUR SIDE ON SIRONJA ROAD (WITHIN MUNICIPAL LIMIT)	SAGAR	REGULAR	100	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
1822	WITHIN RADIUS OF 2 KM FROM DEENDAYAL SQUARE JABALPUR ON ANY MAJOR ROAD	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1823	REHLI WITHIN MUNICIPAL LIMIT (ON ANY MAIN ROAD)	SAGAR	REGULAR	100	OPEN CC 1	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1824	WITHIN 10 KM OF DAMOH COLLECTORATE ON SH-37, TOWARDS JABALPUR	DAMOH	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1825	JABERA NEW BYPASS SH 37	DAMOH	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

											-	1		
1826	UPTO 5 KM TOWARDS NARSINGHPUR SIDE FROM KILOMETRE STONE NO 220 ON OLD NH 26 (NEW NH 44)	SAGAR	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1827	UPTO 5 KM ON EITHER SIDE FROM KILOMETRE STONE NO 240 ON OLD NH 26 (NEW NH 44)	SAGAR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1828	UPTO 1 KM ON EITHER SIDE OF BHAGYODAY TIRTH CHARITABLE TRUST, SAGAR (ON SAGAR KHURAI ROAD)	SAGAR	REGULAR	100	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
1829	UPTO 2 KM TOWARDS HATTA SIDE FROM GAISABAD POLICE STATION ON SH 47	DAMOH	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1830	UPTO 5 KM ON EITHER SIDE FROM KILOMETRE STONE NO 275 ON OLD NH 26 (NEW NH 44)	SAGAR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1831	UP TO 8 KM TOWARDS SAGAR SIDE FROM KILOMETRE STONE NO 177 ON NH 146 (ON SAGAR BHOPAL ROAD)	SAGAR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1832	UPTO 5 KM TOWARDS JHANSI SIDE FROM KILOMETRE STONE NO 192 ON OLD NH 26 (NEW NH 44)	SAGAR	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
	BETWEEN 1 KM TO 10 KM TOWARDS JHANSI SIDE FROM BAMHORI TIGADDA CHOURAHA ON OLD NH 26 (NEW NH 44)	SAGAR	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1834	DARGUA ON OLD SH 10 (NEW NH)	TIKAMGAR H	REGULAR	150	ST CC 1	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1835	UMRIA ON STATE HIGHWAY OLD SH22	JABALPUR	REGULAR	100	OPEN CC 2	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1836	PRITHVIPUR WITHIN MUNICIPAL LIMIT (ON ANY MAIN ROAD)	NIWARI	REGULAR	100	OBC CC 1	DC	25	25	625	25	45	DRAW OF LOTS	15	4
1837	KHURAI NEW BYPASS ON NH 934	SAGAR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1838	WITHIN 6 KM FROM HOSPITAL CHOWK IN TIKAMGARH ON EITHER SAGAR ROAD OR MAURANIPUR ROAD	TIKAMGAR H	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1839	UPTO 5 KM ON EITHER SIDE FROM KILOMETRE STONE NO 255 ON OLD NH 26 (NEW NH 44)	SAGAR	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1840	UPTO 5 KM TOWARDS CHHATARPUR SIDE FROM KILOMETRE STONE 12 ON NH 934	SAGAR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1841	UPTO 3 KM ON SANJAY DRIVE ROAD FROM CHAITANYA HOSPITAL, SAGAR	SAGAR	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1842	FROM VIVEKANAND CHOURAHA TO PURANI NAGARPALIKA CHOURAHA, WITHIN DEORI MUNICIPAL LIMIT .	SAGAR	REGULAR	100	OBC	СС	25	25	625	25	10	BIDDING	30	4
1843	UPTO 3 KM TOWARDS MEDICAL COLLEGE FROM CHAITANYA HOSPITAL, SAGAR	SAGAR	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1844	UPTO 6 KM ON EITHER SIDE OF HPCL DEPOT, NARYAWALI ON NH 934	SAGAR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1845	UPTO 7 KM TOWARDS VIDISHA SIDE FROM VIDISHA TIGADDA , RAHATGARH ON NH 146	SAGAR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1846	UPTO 8 KM TOWARDS BHOPAL SIDE FROM KILOMETRE STONE NO 177 ON NH 146 (ON SAGAR BHOPAL ROAD)	SAGAR	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1847	JATARA WITHIN MUNICIPAL LIMIT (ON ANY MAIN ROAD)	TIKAMGAR H	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1848	UPTO 8 KM TOWARDS SAGAR SIDE FROM VIDISHA TIGADDA , RAHATGARH ON NH 146	SAGAR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5

1849	VILLAGE DWARA TEHSIL MURWARA ON KATNI-JABALPUR NATIONAL HIGHWAY(OLD NH-7)	KATNI	REGULAR	150	OPEN CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1850	JARUAKHEDA ON NH 934	SAGAR	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1851	PALERA WITHIN MUNICIPAL LIMIT (ON ANY MAIN ROAD)	TIKAMGAR H	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1852	VILLAGE AIRON MIRJAPUR ON NH 146	SAGAR	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1853	UPTO 5 KM FROM KILOMETRE STONE NO 61 (NEAR SHAHGARH)ON NH 934 TOWARDS SAGAR SIDE	SAGAR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1854	UPTO 5 KM TOWARDS KHURAI ON NH 934 FROM NEW GALLA MANDI,SAGAR	SAGAR	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1855	HIRAPUR ON NATIONAL HIGHWAY	SAGAR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1856	UPTO 1 KM FROM SHASHKIYA UCHCHATAR MADHYAMIK VIDYALAYA, BIJAWAR ON EITHER SIDE,ON ANY MAIN ROAD	CHHATARP UR	REGULAR	100	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1857	UPTO 3 KM ON EITHER SIDE OF MAIN GATE OF TEHSIL BUILDING BUXWAHA ON SH 37	CHHATARP UR	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1858	UPTO 4 KM ON EITHER SIDE OF BASARI MAIN GATE ON NH 75 (NEW NH 39)	CHHATARP UR	REGULAR	150	OBC	CC	45	45	2025	25	10	BIDDING	30	4
1859	WITHIN 2 KM OF POSTOFFICE CHOWK, BIJAWAR, ON GULGANJ ROAD TOWARDS GULGANJ ON SH-10	CHHATARP UR	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1860	NOWGAON ON CHHATARPUR JHANSI ROAD WITHIN MUNICIPAL LIMIT	CHHATARP UR	REGULAR	100	SC PH	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1861	VILLAGE DEOGAWAN TEHSIL SOHAGPUR ON UMARI- SHAHDOL NATIONAL HIGHWAY	SHAHDOL	REGULAR	150	OBC PH	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1862	CHHATARPUR WITHIN MUNICIPAL LIMIT (ON ANY MAIN ROAD)	CHHATARP UR	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1863	UPTO 5 KM TOWARDS CHHATARPUR SIDE FROM BAMITHA TIGADDA ON OLD NH 75 (NEW NH 39)	CHHATARP UR	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1864	VILLAGE RAMGADI ON NH 347	CHHINDWA RA	REGULAR	150	OBC	CC	45	45	2025	25	10	BIDDING	30	4
1865	UPTO 2 KM FROM CHAITANYA HOSPITAL TOWARDS PARKOTA SIDE , SAGAR	SAGAR	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1866	WITHIN 10 KM FROM CHHATARPUR MAIN BUS STAND TOWARDS NOWGAON ON OLD NH 75 (NEW NH 39)	CHHATARP UR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1867	UPTO 5 KM ON EITHER SIDE FROM KILOMETRE STONE NO 124, NEAR GULGANJ, ON NH 34	CHHATARP UR	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1868	MAHARAJPUR (ON CHHATARPUR LUVKSHNAGAR ROAD WITHIN MUNICIPAL LIMIT)	CHHATARP UR	REGULAR	100	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
1869	UPTO 5 KM ON EITHER SIDE OF KILOMETRE STONE NO 43 NEAR DALPATPUR ON NH 934	SAGAR	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1870	UPTO 7 KM ON EITHER SIDE FROM MAIN GATE OF SHASHKIYA UCHCHATAR MADHYAMIK VIDYALAYA, ANGOR ON NH-34	CHHATARP UR	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1871	FROM 3 KM TO 10 KM FROM CHAUBE TIGADDA IN CHHATARPUR TOWARDS SAGAR ON NH 34	CHHATARP UR	REGULAR	150	OPEN	CC	80	80	6400	25	10	BIDDING	30	5
1872	WITHIN 12 KM FROM CHAUBE TIGADDA IN CHHATARPUR TOWARDS PANNA ON OLD NH 75 (NEW NH 39)	CHHATARP UR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1873	WITHIN 5 KM ON EITHER SIDE OF KILOMETRE STONE NO 107 NEAR IMLAI ON SH 37	DAMOH	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4

1874	SHAHGARH WITHIN MUNICIPAL LIMIT ,ON ANY MAIN ROAD	SAGAR	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1875	WITHIN 1KM FROM DISTRICT HOSPITAL,PANNA WITHIN PANNA MUNICIPAL LIMIT ON ANY MAIN ROAD	PANNA	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1876	UPTO 5 KM TOWARDS JABALPUR SIDE FROM KILOMETRE STONE NO 54 NEAR TENDUKHEDA ON SH 15	DAMOH	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1877	UPTO 6 KM ON EITHER SIDE OF MATGUA POLICE STATION ON NH-34 (ON CHHATARPUR SAGAR ROAD)	CHHATARP UR	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1878	TEWRI BYPASS ON KATNI JABALPUR NATIONAL HIGHWAY	KATNI	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1879	UPTO 6 KM ON EITHER SIDE OF POLICE STATION BADA MALEHRA ON NH 34 (ON CHHATARPUR SAGAR ROAD)	CHHATARP UR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1880	FROM KILOMETRE STONE 56 TO 59 ON SH 37	DAMOH	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1881	UPTO 5 KM ON NH 34 ON EITHER SIDE OF ITS INTERSECTION WITH MAHARAJPUR ROAD, GADIMALEHRA	CHHATARP UR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1882	UPTO 3 KM FROM KILOMETRE STONE NO 68 TOWARDS JABALPUR SIDE ON SH-14	DAMOH	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
1883	VILLAGE GOHANDRA TEHSIL KOTMA ON NH 43	ANUPPUR	REGULAR	150	ST CC 1	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1884	VILLAGE AMOCH TEHSIL BAHORIBAND ON KATNI- JABALPUR NATIONAL HIGHWAY(OLD NH-7)	KATNI	REGULAR	150	OBC CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1885	UPTO 3 KM ON EITHER SIDE OF KILOMETRE STONE NO 121,NEAR KUMHARI, ON SH 14	DAMOH	REGULAR	100	OPEN	СС	35	35	1225	25	10	BIDDING	30	5
1886	VILLAGE SEMARKHAPA, ON MANDLA BYPASS(NH 30)	JABALPUR	REGULAR	150	OPEN PH	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1887	HARPALPUR WITHIN MUNICIPAL LIMIT (ON ANY MAIN ROAD)	CHHATARP UR	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1888	UPTO 4 KM ON EITHER SIDE OF KILOMETRE STONE NO 36 HATTA ON SH 47	DAMOH	REGULAR	100	OBC	CC	35	35	1225	25	10	BIDDING	30	4
1889	UPTO 5 KM FROM KILOMETRE STONE NO 5, NEAR LAXMAN KUTI ON SH 47 ,TOWARDS HATTA SIDE	DAMOH	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1890	UPTO 3 KM ON EITHER SIDE OF KILOMETER STONE NO 63 NEAR BANSA ON SH-14	DAMOH	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1891	UPTO 1 KM FROM GHANTAGHAR TOWARDS HATTA SIDE , DAMOH	DAMOH	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1892	UPTO 3 KM ON EITHER SIDE FROM KILOMETRE STONE NO 136,NEAR BATIYAGARH , ON SH 37	DAMOH	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1893	KHURAI WITHIN MUNICIPAL LIMIT (ON ANY MAIN ROAD)	SAGAR	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1894	HATTA WITHIN MUNICIPAL LIMIT (ON ANY MAIN ROAD)	DAMOH	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1895	UPTO 3 KM ON EITHER SIDE OF KILOMETRE STONE NO 14 NEAR FATEHPUR, ON SH 48	DAMOH	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1896	UPTO 10 KM FROM AMANGANJ REST HOUSE TOWARDS KATNI ON NEW KATNI-AMANGANJ NATIONAL HIGHWAY (OLD SH 10)	PANNA	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1897	WITHIN 3 KM ON EITHER SIDE OF KILOMETRE STONE NO 5 NEAR PAPORA ON SH 37	TIKAMGAR H	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5

1898	VILLAGE PHULWARI TEHSIL DEVENDRANAGAR ON PANNA- SATNA NATIONAL HIGHWAY (OLD NH-75)	PANNA	REGULAR	150	OPEN CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1899	DAMOH WITHIN MUNICIPAL LIMIT (ON ANY MAIN ROAD)	DAMOH	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1900	UPTO 5 KM ON EITHER SIDE FROM SHASHKIYA UCHHATAR MADHYAMIK VIDYALAYA, GANJ ON OLD NH 75 (NEW NH 39)	CHHATARP UR	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1901	UPTO 3 KM ON EITHER SIDE OF KILOMETRE STONE NO 35 ON SH 37 (TIKAMGARH PRITHVIPUR ROAD)	TIKAMGAR H	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
1902	UPTO 3 KM ON EITHER SIDE OF KILOMETRE STONE NO 29 NEAR BARAGAON ON SH 37 (TIKAMGARH-SHAHGARH ROAD)	TIKAMGAR H	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1903	BIHARIPURA ON SH 37 (TIKAMGARH PRITHVIPUR ROAD) WITHIN BIHARIPURA GRAM PANCHAYAT	TIKAMGAR H	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1904	NAGAR PARISHAD LIDHORA (ON JHANSI JATARA ROAD)	TIKAMGAR H	REGULAR	100	OPEN	CC	25	25	625	25	10	BIDDING	30	5
1905	WITHIN AJAYGARH MUNICIPAL LIMIT ON ANY MAIN ROAD	PANNA	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1906	BALDEVGARH WITHIN MUNICIPAL LIMIT (ON TIKAMGARH- DARGUA ROAD)	TIKAMGAR H	REGULAR	100	OBC	DC	25	25	625	25	45	DRAW OF LOTS	15	4
1907	TIKAMGARH WITHIN MUNICIPAL LIMIT (ON ANY MAIN ROAD)	TIKAMGAR H	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1908	ORCHHA WITHIN MUNICIPAL LIMIT (ON ANY MAIN ROAD)	NIWARI	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1909	UPTO 1 KM ON EITHER SIDE FROM NEERAJ TALKIES WITHIN KATNI MUNICIPAL LIMIT	KATNI	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
1910	UPTO 1 KM IN ANY DIRECTION FROM TIKAMGARH JAIL ON ANY MAIN ROAD	TIKAMGAR H	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1911	KHARGAPUR WITHIN MUNICIPAL LIMIT (ON ANY MAIN ROAD)	TIKAMGAR H	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1912	NIWARI WITHIN MUNICIPAL LIMIT (ON ANY MAIN ROAD)	NIWARI	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1913	UPTO 2 KM ON EITHER SIDE FROM MASURHAI TIGADDA ON NH 146	SAGAR	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1914	VILLAGE BUJBHUJA TEHSIL BARHI ON SH-10	KATNI	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1915	UPTO 5 KILOMETRE ON EITHER SIDE OF KILOMETRE STONE NO 168 ,NEAR SIHORA ON NH 146	SAGAR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1916	MADDEWARA ON NH 934	CHHATARP UR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1917	WITHIN 3 KM FROM CHAUBE TIGADDA IN CHHATARPUR TOWARDS SAGAR (WITHIN MUNICIPAL LIMIT)	CHHATARP UR	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1918	WITHIN DEVENDRANAGAR MUNICIPAL LIMIT ON ANY MAIN ROAD	PANNA	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1919	UPTO 3 KM TOWARDS SAGAR SIDE FROM JATAUA TIGADDA ON SH 37	TIKAMGAR H	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1920	DILAKHEDI ON NH 934	SAGAR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1921	FROM KILOMETER STONE NO 6 TO KILOMETER STONE NO 9 ON NH 43	KATNI	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4

1922	BETWEEN 1 KM TO 5 KM FROM CHITORA TOLL PLAZA ON OLD NH 26 (NEW NH 44),TOWARDS NARSINGHPUR SIDE	SAGAR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1923	VILLAGE PIPARIYA KALAN TEHSIL BARHI ON SH 10	KATNI	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1924	VILLAGE NAIGAWAN TEHSIL BAHORIBAND ON KATNI- JABALPUR NATIONAL HIGHWAY(OLD NH-7)	KATNI	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1925	VILLAGE ITWAN TILHA TEHSIL DEVENDRANAGAR ON PANNA-SATNA NATIONAL HIGHWAY (OLD NH-75)	PANNA	REGULAR	150	OPEN CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1926	NOWGAON NEW BYPASS ON NH	CHHATARP UR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1927	WITHIN PANNA MUNICPAL LIMIT ON ANY MAIN ROAD	PANNA	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1928	VILLAGE TIKWARWAR TEHSIL MURWARA ON KATNI - MAIHAR NATIONAL HIGHWAY (OLD NH-7)	KATNI	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1929	SAGAR WITHIN MUNICIPAL LIMIT (ON ANY MAIN ROAD)	SAGAR	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1930	UPTO 1 KM FROM PRADHANMANTRI KAUSHAL KENDRA TOWARDS NIWAR ,ON CAMP-TAKHLA ROAD WITHIN KATNI MUNICIPAL LIMIT	KATNI	REGULAR	100	OPEN	CC	20	20	400	25	10	BIDDING	30	5
1931	KATNI BYPASS ON KATNI JABALPUR NATIONAL HIGHWAY	KATNI	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1932	VILLAGE SAPTAIYA TEHSIL AMANGANJ ON NEW KATNI- AMANGANJ NATIONAL HIGHWAY(OLD SH-10)	PANNA	REGULAR	150	OBC	CC	45	45	2025	25	10	BIDDING	30	4
1933	FROM MADHAVNAGAR GATE TO SYNDICATE BANK- MADHAVNAGAR BRANCH ON MADHAVNAGAR-CAMP MAIN ROAD WITHIN KATNI MUNICIPAL LIMIT	KATNI	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1934	WITHIN MUNICIPAL LIMIT GOTEGAON,ON ANY MAJOR ROAD	NARSINGH PUR	REGULAR	100	OPEN CC 2	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1935	VILLAGE KARKATI TEHSIL PALI ON UMARIA -SHAHDOL NATIONAL HIGHWAY	UMARIA	REGULAR	150	OBC CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1936	VILLAGE JAMUNIHA TEHSIL ANUPPUR ON NH 43	ANUPPUR	REGULAR	150	SC CC 1	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1937	UPTO 1 KM ON EITHER SIDE FROM SBI INDUSTRIAL ESTATE LAMTARA BRANCH,KATNI WITHIN KATNI MUNICIPAL LIMIT	KATNI	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1938	UPTO 1 KM ON EITHER SIDE FROM INDIAN COFFEE HOUSE, KATNI BRANCH ON JABALPUR ROAD	KATNI	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1939	VILLAGE GITHAURI TEHSIL PALI ,ON UMARIA -SHAHDOL NATIONAL HIGHWAY	UMARIA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1940	VILLAGE PIPRAUNDH TEHSIL MURWARA ON KATNI- JABALPUR NATIONAL HIGHWAY(OLD NH-7)	KATNI	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1941	UPTO 2 KM ON EITHER SIDE FROM HOTEL ARINDUM ,KATNI ON JABALPUR ROAD	KATNI	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1942	FROM D.V BAZAR TOWARDS SHAHDOL ON SHAHDOL ROAD WITHIN KATNI MUNICIPAL LIMIT	KATNI	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1943	VILLAGE SAKARA ABAL TEHSIL JAITPUR ON NH 43	SHAHDOL	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1944	VILLAGE CHANEHATI TEHSIL KATNI ON NEW KATNI- AMANGANJ NATIONAL HIGHWAY(OLD SH-10)	KATNI	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1945	GRAM PANCHAYAR MANPUR, TEHSIL MANPUR ON SH 10	UMARIA	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1946	VILLAGE PATHERA TEHSIL MURWARA ON SH-14	KATNI	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
1947	VILLAGE DHANAURA TEHSIL JAITPUR ON NH 43	SHAHDOL	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4

1948	UPTO 1 KM ON EITHER SIDE FROM SATNA JAIL MOR ON SATNA MAIN ROAD	SATNA	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1949	VILLAGE KHAMARIYA TEHSIL MURWARA ON KATNI- JABALPUR NATIONAL HIGHWAY(OLD NH-7)	KATNI	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1950	VILLAGE MUDDHOBA TEHSIL ANUPPUR ON NH 43	ANUPPUR	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1951	BETWEEN KILOMETER STONE NO 20 AND KILOMETER STONE NO 28 ,ON NH 43	KATNI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1952	BETWEEN KILOMETER STONE NO 4 AND KILOMETER STONE NO 6 ,ON NH 43	KATNI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1953	WITHIN KOTMA MUNICIPAL LIMIT, ON ANY MAIN ROAD	ANUPPUR	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1954	UPTO 3 KM FROM CENTRAL BANK OF INDIA AMANGANJ BRANCH TOWARDS PANNA ON SH-49	PANNA	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1955	BETWEEN KILOMETER STONE NO 57 AND KILOMETER STONE NO 61 ,ON SH-48	KATNI	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1956	VILLAGE KHITOLI , TEHSIL BARHI , ON SH-11	KATNI	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1957	WITHIN BIJURI MUNICIPAL LIMIT, ON ANY MAIN ROAD	ANUPPUR	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1958	WITHIN VILLAGE SHAHNAGAR ON NEW KATNI- AMANGANJ NATIONAL HIGHWAY (OLD SH-10)	PANNA	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1959	VILLAGE MAJHGAWA, TEHSIL BADWARA, ON NH -43	KATNI	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1960	VILLAGE LAKHAPATERI, TEHSIL MURWARA ON KATNI JABALPUR NATIONAL HIGHWAY (OLD NH-7)	KATNI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1961	SHAKTI BHAWAN TO DASHMESH DWAR VIA MEDICAL COLLEGE JABALPUR ,ON ANY MAIN ROAD , JABALPUR CITY	JABALPUR	REGULAR	150	OBC PH	DC	20	20	400	25	60	DRAW OF LOTS	15	4
1962	WITHIN 1 KM FROM DINDORI DISTRICT HOSPITAL ON EITHER SIDE (ON BOTH SIDES OF THE ROAD)	DINDORI	REGULAR	100	ST PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1963	VILLAGE GHATKHIRWA , TEHSIL KATNI ON NH 43	KATNI	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1964	SLEEMANABAD BYPASS ON KATNI JABALPUR NATIONAL HIGHWAY	KATNI	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1965	WITHIN ANUPPUR MUNICIPAL LIMIT, ON ANY MAIN ROAD	ANUPPUR	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1966	WITHIN KATNI MUNICIPAL LIMITS ON ANY MAIN ROAD	KATNI	REGULAR	100	OPEN	DC	25	25	625	25	45	DRAW OF LOTS	15	5
1967	VILLAGE MADLA TEHSIL PANNA ON PANNA-CHHATARPUR NATIONAL HIGHWAY	PANNA	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1968	FROM GANDHI CHOWK TO SAI MANDIR GHAROLLA WITHIN SHAHDOL MUNICIPAL LIMIT	SHAHDOL	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1969	UPTO 1 KM ON EITHER SIDE OF RAJENDRAGRAM THANA ON SH-8	ANUPPUR	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1970	UPTO 2 KM ON EITHER SIDE FROM KILOMETER STONE NO 66 ON SH-9	SHAHDOL	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1971	VILLAGE BURHAR ON NH-43	SHAHDOL	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1972	WITHIN VILLAGE KHARMORA TEHSIL PAWAI ON NEW KATNI-AMANGANJ NATIONAL HIGHWAY (OLD SH-10)	PANNA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1973	FROM K SQUARE MALL TOWARDS BURHAR ON MODEL ROAD ,WITHIN SHAHDOL MUNICIPAL LIMIT	SHAHDOL	REGULAR	100	OPEN	CC	25	25	625	25	10	BIDDING	30	5

1974	UPTO 2 KM FROM JUNCTION OF SATNA AMARPATAN ROAD & NH39 (OLD NH 75) TOWARDS SATNA CITY ON LEFT SIDE	SATNA	REGULAR	150	OPEN CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1975	WITHIN VILLAGE CHAUPRA TEHSIL SHAHNAGAR ON NEW KATNI-AMANGANJ NATIONAL HIGHWAY (OLD SH-10)	PANNA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1976	UPTO 2 KM FROM SIMARIYA CHOWK SATNA TOWARDS KRISHNA NAGAR MARKET RIGHT HAND SIDE	SATNA	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1977	UPTO 1 KM FROM BANGANGA TIRAHA TOWARDS VIRAT MANDIR WITHIN SHAHDOL MUNICIPAL LIMIT	SHAHDOL	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1978	BETWEEN KILOMETER STONE NO 142 AND KILOMETER STONE NO 144 ON NH 43	SHAHDOL	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1979	WITHIN VILLAGE TIDUNI TEHSIL SHAHNAGAR ON NEW KATNI-AMANGANJ NATIONAL HIGHWAY(OLD SH-10)	PANNA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1980	WITHIN 5 KM FROM CHIRAIDONGRI RAILWAY STATION TOWARDS MANDLA ON SH-11	MANDLA	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1981	VILLAGE KANCHANPUR TEHSIL SOHAGPUR ON NH 43	SHAHDOL	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
1982	FROM FCI GODOWN TO PONDA NALA ON SINGHPUR ROAD WITHIN SHAHDOL MUNICIPAL LIMIT	SHAHDOL	REGULAR	100	OPEN	СС	20	20	400	25	10	BIDDING	30	5
1983	BETWEEN KILOMETER STONE NO 40 AND KILOMETER STONE NO 42 ON SH-9 SHAHDOL- PANDARIA HIGHWAY	SHAHDOL	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1984	WITHIN 1 KM RADIUS FROM RANI LAXMI BAI CHOWK, ON ANY MAIN ROAD NEAR MGM HOSPITAL ,KATNI CITY	KATNI	REGULAR	100	OBC CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1985	VILLAGE BARHA TOLA TEHSIL KOTMA ON NH43	ANUPPUR	REGULAR	150	SC CC 1	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1986	UPTO 2 KM FROM SAMAN TIRAHA TOWARDS POLICE LINE ON LEFT HAND	REWA	REGULAR	100	OPEN PH	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1987	WITHIN VILLAGE MURACHH TEHSIL PAWAI ON NEW KATNI-AMANGANJ NATIONAL HIGHWAY (OLD SH-10)	PANNA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1988	ON ANY MAIN ROAD WITHIN DHANPURI MUNICIPAL LIMITS	SHAHDOL	REGULAR	100	OPEN	CC	20	20	400	25	10	BIDDING	30	5
1989	VILLAGE BELIYA CHHOT TEHSIL KOTMA ON NH 43	ANUPPUR	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1990	ON ANY MAIN ROAD WITHIN BEOHARI MUNICIPAL LIMIT	SHAHDOL	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1991	WITHIN VILLAGE HINOUTA DUBEY TEHSIL AMANGANJ ON NEW KATNI-AMANGANJ NATIONAL HIGHWAY(OLD SH-10)	PANNA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1992	ON ANY MAIN ROAD WITHIN KHAND MUNICIPAL LIMIT	SHAHDOL	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1993	WARASEONI WITHIN NAGAR PANCHAYAT LIMIT	BALAGHAT	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1994	DINDORI OML(UPTO 5 KMS TOWARDS JABALPUR ON OLD SH 22 OUTSIDE MUNCIPAL LIMIT)	DINDORI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1995	WITHIN VILLAGE SANOURA TEHSIL AMANGANJ ON NEW AMANGANJ-GULGANJ NATIONAL HIGHWAY(OLD SH-10)	PANNA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
1996	GRAM PANCHAYAT TIKARIYA AND ON NEW KATNI- AMANGANJ NATIONAL HIGHWAY (OLD SH-10)	PANNA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5

1997	WITHIN MUNICIPAL LIMIT SHAHDOL, ON ANY MAIN ROAD	SHAHDOL	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1998	VILLAGE DOLA ON NH 43	ANUPPUR	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
1999	WITHIN VILLAGE JIJGAON TEHSIL AMANGANJ ON NEW AMANGANJ-GULGANJ NATIONAL HIGHWAY(OLD SH-10)	PANNA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
2000	UPTO 2 KM FROM KILOMETER STONE NO 65 EITHER TOWARDS KALINJAR OR UCHERA ON SH-56	PANNA	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
2001	AJAYGARH BYPASS, ON SH 49	PANNA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
2002	VILLAGE LORHA TEHSIL CHANDIA ON NH 43	UMARIA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
2003	UPTO 1 KM ON EITHER SIDE FROM KILOMETER STONE NO 38 ON SH 8	ANUPPUR	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
2004	ON ANY MAIN ROAD WITHIN AMANGANJ MUNICIPAL LIMIT	PANNA	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2005	FROM AJAYGARH THANA TOWARDS BARIYARPUR DAM WITHIN AJAYGARH MUNICIPAL LIMIT	PANNA	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2006	VILLAGE PARNA TEHSIL BADWARA ON KATNI-UMARIA NATIONAL HIGHWAY	KATNI	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
2007	VILLAGE BHOKADONGRI TO NARMADA RIVER BRIDGE ON SH 9(ON SHAHDOL RAIPUR ROAD)	DINDORI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
2008	BETWEEN KILOMETER STONE NO 226 AND KILOMETER STONE NO 228 ON NH-43	ANUPPUR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2009	VILLAGE GHUNGHUTI, TEHSIL PALI ON UMARIA TO SHAHDOL NATIONAL HIGHWAY	UMARIA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2010	GRAM PANCHAYAT JYOLA ON KATNI-UMARIA NATIONAL HIGHWAY (NH 43)	KATNI	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
2011	UPTO 1 KM FROM HOTEL BANDHAVGARH PALACE ON UMARIA ROAD ON EITHER SIDE WITHIN UMARIA MUNICIPAL LIMIT	UMARIA	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
2012	VILLAGE PALI , TEHSIL PALI ON NEW BYPASS ON UMARIA- SHAHDOL NATIONAL HIGHWAY	UMARIA	REGULAR	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
2013	UPTO 4 KM TOWARDS JANAKPUR FROM JAISINGHNAGAR BUS STAND ON SH-10	SHAHDOL	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
2014	BETWEEN KILOMETER STONE NO 59 AND KILOMETER STONE NO 61 ON NH -43	UMARIA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2015	BETWEEN KILOMETER STONE NO 49 AND KILOMETER STONE NO 51 ON NH 43	UMARIA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2016	SALETEKRI TO RAGHOLI, ON NEW STATE HIGHWAY 21	BALAGHAT	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
2017	DWARI, TEHSIL AMANGANJ, ON STATE HIGHWAY-49	PANNA	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
2018	WITHIN MUNICIPAL LIMIT UMARIA , ON ANY MAIN ROAD	UMARIA	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2019	BETWEEN KILOMETER STONE NO 158 AND KILOMETER STONE NO 162 ON NH-43	SHAHDOL	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
2020	WITHIN 1 KM OF HOMEGUARD OFFICE, PANNA WITHIN PANNA MUNICIPAL LIMIT	PANNA	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
2021	TULARAM CHOWK TO JAYANTI COMPLEX ROAD ,ON LEFT HAND SIDE TOWARDS JAYANTI COMPLEX , JABALPUR CITY	JABALPUR	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
2022	WITHIN PASAN MUNICIPAL LIMIT, ON ANY MAIN ROAD	ANUPPUR	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5

2023	WITHIN MUNICIPAL LIMIT KATANGI ON ANY MAIN ROAD	BALAGHAT	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2024	WITHIN 5 KM FROM SAI MANDIR BAKODA-MANPUR, TEHSIL LALBARRA, TOWARDS BALAGHAT, ON SH 26	BALAGHAT	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
2025	BAIHAR WITHIN TOWN LIMIT	BALAGHAT	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
2026	WITHIN VILLAGE PAGRA ,TEHSIL AMANGANJ ON PANNA- SIMARIYA STATE HIGHWAY	PANNA	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
2027	BETWEEN KILOMETER STONE NO 189 AND KILOMETER STONE NO 192 ON NH 43	ANUPPUR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2028	SHAHPURA WITHIN MUNICIPAL LIMIT ON ANY MAIN ROAD	DINDORI	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
2029	VILLAGE RAIPURAMAL TO DHAURAI RYT, ON SH 40	DINDORI	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
2030	ON LHS WHILE GOING FROM RAJEGAON TIRAHA TO NAVEGAON ON SH 11	BALAGHAT	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
2031	BETWEEN KILOMETER STONE 38 & KILOMETER STONE 36, ON SH 26	BALAGHAT	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
2032	VILLAGE NANDANI ON JABALPUR BYPASS (OLD NH7)	JABALPUR	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
2033	UPTO 5KMS FROM SHAHPURA BUS STAND ,ON SHAHPURA-DINDORI ROAD	DINDORI	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
2034	CHITRAKOOT WITHIN MUNICIPAL LIMIT ON ANY MAIN ROAD	SATNA	REGULAR	100	ST CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
2035	UPTO 2 KM FROM JUNCTION OF SATNA AMARPATAN ROAD & NH39 (OLD NH 75) TOWARDS REWA ON LEFT SIDE	SATNA	REGULAR	150	OPEN CC 2	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2036	WITHIN 1 KM EITHER SIDE FROM KRISHI UPAJ MANDI, MANDLA	MANDLA	REGULAR	100	OBC CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	4
2037	VILLAGE BHILODA ON JABALPUR DAMOH ROAD ON STATE HIGHWAY	JABALPUR	REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
2038	WITHIN 3 KM FROM LALBARRA POLICE STATION, EITHER SIDE ON SH-26	BALAGHAT	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
2039	BALAGHAT OML(UPTO 4KMS OUTSIDE MUNICIPAL LIMIT ON LAMTA ROAD)ON SH 11	BALAGHAT	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
2040	FROM PATAN TO SHAHPURA, ON PATAN TO SHAHPURA STATE HIGHWAY	JABALPUR	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
2041	VILLAGE BINAIKI ON JABALPUR-PATAN ROAD STATE HIGHWAY	JABALPUR	REGULAR	100	OPEN	СС	35	35	1225	25	10	BIDDING	30	5
2042	AMAKHOH ON SH 22	JABALPUR	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
2043	GANDHIGRAM, ON NEW NH BYPASS, ON RHS TOWARDS KATNI	JABALPUR	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
2044	VILLAGE KARMETA, ON JABALPUR PATAN ROAD	JABALPUR	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2045	VILLAGE NANDIYA TEHSIL MANDLA ON SH40	MANDLA	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
	NUNSAR ON JABALPUR PATAN ROAD	JABALPUR	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
2047	GADASARAI, EITHER SIDE ON STATE HIGHWAY	DINDORI	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
2048	VILLAGE PONDY ON STATE HIGHWAY, TEHSIL PARASWADA		REGULAR	100	OPEN	CC	35	35	1225	25	10	BIDDING	30	5
2049	GORAKHPUR, JABALPUR CITY, ON ANY MAIN ROAD	JABALPUR	REGULAR	150	OPEN CC 1	DC	20	20	400	25	60	DRAW OF LOTS	15	5
2050	KHIRIYA KALAN, ON JABALPUR NAGPUR NATIONAL HIGHWAY (OLD NH -7)	JABALPUR	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
2051	MOHGAON, ON SH 21	BALAGHAT	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

	BETWEEN NARMADA BRIDGE TILWARA TO NARAYANPUR							1						
2052	ON JABALPUR NAGPUR HIGHWAY(OLD NH7) ON LHS TOWARDS NAGPUR	JABALPUR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2053	PANAGAR, WITHIN MUNICIPAL LIMIT ON ANY MAIN ROAD	JABALPUR	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2054	WITHIN 5 KM FROM BARGI POLICE STATION , TEHSIL JABALPUR, ON JABALPUR NAGPUR NATIONAL HIGHWAY(OLD NH 7)	JABALPUR	REGULAR	150	OBC	СС	45	45	2025	25	10	BIDDING	30	4
2055	ON SIHORA NEW BYPASS ON NH	JABALPUR	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
2056	KALPI TO NARAYANGANJ ON JABALPUR MANDLA NATIONAL HIGHWAY	MANDLA	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
2057	UPTO 6 KMS FROM MAVAI ROAD TIRAHA TOWARDS RAIPUR ON NATIONAL HIGHWAY	BALAGHAT	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2058	WITHIN 2 KM FROM MADANMAHAL RAILWAY STATION UNDER PASS ON ANY MAIN ROAD	JABALPUR	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
2059	BIJAURA TO MATIYAKUI, ON JABALPUR NAGPUR NATIONAL HIGHWAY	JABALPUR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2060	VILLAGE DUNGARIA ON NH 347	SEONI	REGULAR	150	SC PH	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
2061	ON DHANWANTARI NAGAR CHOWK TO GULAUA CHOWK ROAD,JABALPUR CITY	JABALPUR	REGULAR	150	OBC PH	DC	20	20	400	25	60	DRAW OF LOTS	15	4
2062	VILL BARGI, TEHSIL MAJHOLI, ON LHS WHILE GOING TO KATNI FROM JABALPUR ON KATNI NAGPUR NATIONAL HIGHWAY	JABALPUR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2063	JABALPUR WITHIN MUNICIPAL LIMIT ,ON ANY MAIN ROAD	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
2064	AT ANY MAJOR ROAD IN RANJHI, JABALPUR CITY	JABALPUR	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
2065	CHAURAI KALAN TO SUPAWARA ON SH22, TEHSIL KUNDAM	JABALPUR	REGULAR	100	ST	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
2066	MANDLA WITHIN MUNICIPAL LIMIT ,ON ANY MAIN ROAD	MANDLA	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2067	BALAGHATWITHIN MUNICIPAL LIMIT ,ON ANY MAIN ROAD	BALAGHAT	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2068	KISROD, ON JABALPUR BHOPAL HIGHWAY	JABALPUR	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
2069	VILLAGE JAARGA ON MANDLA GHANSORE ROAD SH 40	MANDLA	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
2070	DINDORI WITHIN MUNICIPAL LIMIT ,ON ANY MAIN ROAD	DINDORI	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2071	PHOOLSAGAR ON MANDLA JABALPUR NATIONAL HIGHWAY	MANDLA	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
2072	BETWEEN MANGELI TO BARELA ON LHS, ON JABALPUR MANDLA NATIONAL HIGHWAY,TOWARDS MANDLA	JABALPUR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2073	VILLAGE KANJAI, TEHSIL LALBARRA ON SH 26	BALAGHAT	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
2074	FROM RANI AWANTIBAI CHOWK UPTO 3KMS ON LAMTA ROAD OR BAIHER ROAD WITHIN MUNICIPAL LIMIT BALAGHAT	BALAGHAT	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
2075	UPTO 2KMS FROM RANI AWANTIBAI CHOWK , EITHER ON LAMTA ROAD OR BAIHER ROAD	BALAGHAT	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2076	DOBHI TO BIJADANDI, ON JABALPUR MANDLA NATIONAL HIGHWAY	MANDLA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4

2077	TEWAR TO SAHAJPUR ON JABALPUR BHOPAL HIGHWAY	JABALPUR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2078	GAYKHURI, BALAGHAT CITY	BALAGHAT	REGULAR	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
2079	MANDLA BYPASS ON NH -30	MANDLA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2080	KHAJRI BYPASS ROAD, TEHSIL PANAGAR, OLD NH7	JABALPUR	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
2081	UPTO 10 KM FROM RELIANCE PUMP SIHORA, TOWARDS KATNI ON OLD NH7	JABALPUR	REGULAR	150	OPEN	CC	45	45	2025	25	10	BIDDING	30	5
2082	VILLAGE GAJIPUR ON MANDLA JABALPUR NATIONAL HIGHWAY, TEHSIL MANDLA DIST MANDLA	MANDLA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2083	BETWEEN 1 KM TO 4 KM FROM THE FULARA TOLL PLAZA TOWARDS CHHINDWARA ON NH 347	SEONI	REGULAR	150	ST CC 1	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
2084	WITHIN MUNICIPAL LIMIT KATANGI , ON SH 54	BALAGHAT	REGULAR	100	OBC CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	4
2085	VILLAGE SALIWADA, ON NAGPUR MANDLA NATIONAL HIGHWAY, ON RHS WHILE GOING TOWARDS MANDLA	JABALPUR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2086	UPTO 2 KM FROM SAMAN TIRAHA TOWARDS POLICE LINE ON RIGHT HAND	REWA	REGULAR	100	OPEN PH	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2087	ON ANY MAJOR ROAD WARD NO 4 IN BALAGHAT CITY	BALAGHAT	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
2088	GOSALPUR ON OLD NH7	JABALPUR	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
2089	WITHIN 2 KM FROM JABALPUR-MANDLA ROAD-NIWAS ROAD TIRAHA, EITHER SIDE ON OLD NH 12 A	MANDLA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2090	MOTINALA TO CHARTOLA , ON NH 30	MANDLA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
2091	BUDHI, BALAGHAT CITY	BALAGHAT	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
2092	SHAHPURA BYPASS , WARD NO 5, ON NATIONAL HIGHWAY	JABALPUR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2093	WITH IN SHAHPURA NAGAR PANCHAYAT LIMIT	JABALPUR	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2094	TINSI, ON JABALPUR NAGPUR NATIONAL HIGHWAY (OLD NH 7)	JABALPUR	REGULAR	150	OPEN	СС	45	45	2025	25	10	BIDDING	30	5
2095	HATTA TO KHIRSADI ON NH 30	MANDLA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
2096	ON ANY MAIN ROAD, KHERMAI WARD, BHANTALAIYA, JABALPUR CITY	JABALPUR	REGULAR	150	SC	CFS	18	20	360	0	0	DRAW OF LOTS	0	3
2097	BINJHIYA, ON JABALPUR MANDLA NATIONAL HIGHWAY, TEHSIL MANDLA	MANDLA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2098	UPTO 2 KM FROM SHAHEED AMIT THENGE DWAR, EITHER SIDE ON MAIN ROAD WITHIN CHHINDWARA MUNICIPAL LIMIT	CHHINDWA RA	REGULAR	100	OPEN CC 1	DC	25	25	625	25	45	DRAW OF LOTS	15	5
2099	VILLAGE KUMHA, ON JABALPUR MANDLA NATIONAL HIGHWAY	MANDLA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
2100	MALAJKHAND, WITHIN NAGAR PALIKA LIMIT	BALAGHAT	REGULAR	100	ST	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
2101	VILLAGE SAKRI, TEHSIL MANDLA ON JABALPUR MANDLA NATIONAL HIGHWAY	MANDLA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2102	FROM ADHARTAL TIRAHA TO NEW SHOBHAPUR COLONY , JABALPUR CITY	JABALPUR	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
2103	JUJHARI, TEHSIL SIHORA ON OLD NH 7	JABALPUR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2104	WRIGHT TOWN, JABALPUR CITY	JABALPUR	REGULAR	150	OPEN	DC	18	20	360	25	60	DRAW OF LOTS	15	5
2105	UPTO 3 KM TOWARDS KHIMLASA ON STATE HIGHWAY FROM AMBEDKAR TIRAHA, BINA	SAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
2106	SAGDA TO TILWARA GHAT, JABALPUR CITY	JABALPUR	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
2107	MAJHOLI, WITHIN NAGAR PANACHAYAT LIMIT	JABALPUR	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2108	NAINPUR, WITHIN NAGAR PALIKA LIMIT	MANDLA	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5

	UPTO 5 KM EITHER SIDE OF RAI BAKERY ,KHAJRI ROAD	CHHINDWA												
2109	CHHINDWARA	RA	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
2110	RAIPURA ON OLD NH 7	JABALPUR	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
2111	HULKI TO KALA DEHI ON OLD NH 7	JABALPUR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2112	KARMETA, ON JABALPUR KATANGI ROAD	JABALPUR	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2113	DHAMDHA ON OLD NH 7	JABALPUR	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
2114	UPTO 2 KM FROM MAIN GATE OF SAF CHHINDWARA, EITHER SIDE ON VIP ROAD	CHHINDWA RA	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
2115	VILLAGE KUSHNER, TEHSIL PANAGAR, ON OLD NH7	JABALPUR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2116	WITHIN 2 KM RADIUS FROM JABALPUR CITY MUKHYA DAKGHAR(GPO), ON ANY MAIN ROAD	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
2117	WITHIN MUNICIPAL LIMIT KATANGI , ON ANY MAIN ROAD	JABALPUR	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
2118	BETWEEN 1 KM TO 4 KM TOWARDS RAHATGARH ON STATE HIGHWAY FROM ITS INTERSECTION WITH SAGAR BINA ROAD NEAR AMBEDKAR TIRAHA, KHURAI	SAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
2119	VILLAGE UMARWADA, TEHSIL BHUA BICHHIYA, FROM ANJANIYA TO BICHHIYA ,ON NH30 LEFT HAND SIDE	MANDLA	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2120	WITHIN 1 KM FROM ST. ALOYSIUS SR SEC SCHOOL, RIMJHA ON LHS TOWARDS ISBT JABALPUR, ON ANY MAIN ROAD	JABALPUR	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2121	AMANALA ON JABALPUR-MANDLA NATIONAL HIGHWAY	MANDLA	REGULAR	150	OBC	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
2122	FROM RAJEGAON TIRAHA TO NAVEGAON ON SH 11 ON RIGHT HAND SIDE	BALAGHAT	REGULAR	100	OPEN	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
2123	UPTO 4 KM FROM GOVT PG COLLEGE CHHINDWARA, ON PG COLLEGE ROAD	CHHINDWA RA	REGULAR	100	ST	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
2124	AMJHAR ON OLD SH 22	JABALPUR	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
2125	VILLAGE JHANDA ON CHHINDWARA OUTER RING ROAD	CHHINDWA RA	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
2126	LALIPUR, MANDLA CITY ON ANY MAIN ROAD	MANDLA	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2127	BINA, WITHIN MUNICIPAL LIMIT (ON ANY MAIN ROAD)	SAGAR	REGULAR	100	SC	CFS	25	25	625	0	0	DRAW OF LOTS	0	3
2128	KEHARPUR TO KHURSIPAR, ON SH-40 MANDLA GHANSORE ROAD	MANDLA	REGULAR	100	OBC	CC	35	35	1225	25	10	BIDDING	30	4
2129	WITHIN 1 KM RADIUS FROM WARASEONI POLICE STATION, ON ANY MAJOR ROAD	BALAGHAT	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2130	ADHARTAL ON ANY MAIN ROAD , JABALPUR CITY	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
2131	AKBAR WARD, BARAPATTHAR, SEONI	SEONI	REGULAR	100	ST	CFS	30	30	900	0	0	DRAW OF LOTS	0	3
2132	WITHIN 1 KM RADIUS ON ANY MAJOR ROAD FROM CHILMAN CHOWK MANDLA	MANDLA	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
2133	DEVRI KALAN, ON JABALPUR NAGPUR NATIONAL HIGHWAY	JABALPUR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2134	UPTO 1 KM IN ANY DIRECTION FROM CENTRAL JAIL,SAGAR	SAGAR	REGULAR	100	OPEN CC 2	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2135	KHAIRI, ON MANDLA BYPASS ON NH	MANDLA	REGULAR	150	OBC CC 1	DC	45	45	2025	25	75	DRAW OF LOTS	15	4
2136	FROM PANNA MOD TOWARDS RITHI WITHIN KATNI MUNICIPAL LIMIT	KATNI	REGULAR	100	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3

2137	WITHIN 2 KM RADIUS FROM CIVIL LINES POLICE STATION JABALPUR CITY, ON ANY MAIN ROAD	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
2138	WITHIN 2 KM RADIUS FROM THANA KOTWALI, JABALPUR CITY,ON ANY MAJOR ROAD	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
2139	PADARIYA ON SH 22	JABALPUR	REGULAR	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
2140	GRAM PANCHAYAT RAMAKONA, ON NH-547	CHHINDWA RA	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
2141	FROM MM INTERNATIONAL SCHOOL TO NARMADA RIVER BRIDGE AT TILWARA, ON OLD NH7, TOWARDS NAGPUR	JABALPUR	REGULAR	150	OPEN	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
2142	UCO BANK BRANCH GWARIGHAT TO GOVERNMENT AYURVEDI COLLEGE JABALPUR ON NARMADA GWARIGHAT ROAD , JABALPUR CITY	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
2143	WITHIN 2 KM RADIUS FROM HANUMAN CHOWK, ON ANY MAJOR ROAD , WITHIN BALAGHAT CITY	BALAGHAT	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
2144	SAREKHA ON ANY MAIN ROAD , BALAGHAT CITY	BALAGHAT	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2145	UPTO 3 KM ON EITHER SIDE FROM KILOMETRE STONE NO 178 ON OLD NH 26 (NEW NH 44)	SAGAR	REGULAR	150	SC	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
2146	FROM GHAMAPUR CHOWK TO ALLAHABAD BANK LAALMATI BRANCH OFFICE, JABALPUR CITY,ON GHAMAPUR ROAD	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
2147	WITHIN 2 KM RADIUS FROM MP TOURISM MAIN OFFICE,ON ANY MAIN ROAD JABALPUR CITY	JABALPUR	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
2148	UPTO 2 KM ON KATANGI ROAD TOWARDS KATANGI FROM SHUKRAVARI CHOWK (SEONI)	SEONI	REGULAR	100	OPEN CC 1	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
2149	BETWEEN 1KM TO 4 KM FROM FULARA TOLL PLAZA TOWARDS SEONI ON NH 347	SEONI	REGULAR	150	ST	CFS	45	45	2025	0	0	DRAW OF LOTS	0	3
2150	BHEDAGHAT, WITHIN NAGAR PANCHAYAT LIMIT	JABALPUR	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
2151	MADHOTAL ON ANY MAIN ROAD , JABALPUR CITY	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
2152	MADHATAL, ON ANY MAIN ROAD, JABALPUR CITY	JABALPUR	REGULAR	150	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5